
�

�������	
 ��� �

��� �

� � �������	
��� ������

�

�

�

�

�

�

�

�

���

�

�

�

�

�

�

����������	
�������	
�	
�����������	�������	

���	
����
��
������	��
�������
������������������ �
���������� !"#���

�
$%�����&'���''��(���%�����&'������

�
)
*���+��
��
,,,����+�+��

,,,�-�	
.��/�	�0��1!��+��



�

�

�
2��3����4�������������

� �

�
�
�������
�
�

1����!����)5�3��� ��������������������������������������������������� ��������������������������������������������������� ��������
�
����
2��3����)
����6�)�)
� ��������������������������������������������������� �����������������������������������������������
���� �
��������
�
� ���
���!��
�	������������������� ��������������������������������������������������� ����������

�����������	���
����
��������
�����������������
������� ���������������������������������������"�
���������������������������� ��������������������������������������������������� �������������������������

����#���
������$�
����%�
��	�
��

�&���
�
��������� ��������������������������������������������������� ��������'�
�����$
��()
����*�	$	������������������������������ ��������������������������������������������������� �������������������+�
��,�&
���	�������
$���	��
�
����������������������� ��������������������������������������������������� ��������������������
��'�������
��-���

�������������������������������� ��������������������������������������������������� ��������������������
����!	���()
�&���	�

	����������������������������� ��������������������������������������������������� ��������������������,�
��+�&�	
�	.�	���	��
�����
�����/������������������� ��������������������������������������������������� �����������������+�
��0�!	���()
��

��	1��	$����#	��������������������� ��������������������������������������������������� ����������������+�
��"�#���
������$�
����%�
��	�
���.���
�����
��
�&�� �
�
����������������������������������������������0 �
���2�&���.��	$������$
��()
�����
�	���������������� ��������������������������������������������������� ����������0�
�����&�
.
�������*.�	��()
������������
������������ ��������������������������������������������������� ���������0�
�
���7
0�������8
�������	
���� ��������������������������������������������������� �������������������������������������"�
����3���
(
���������������������������������������� ��������������������������������������������������� ��������������������������"�
�������

����()
������������
���������������������� ��������������������������������������������������� �������������2�
�������

����()
����4���
�������	������������������ ��������������������������������������������������� ��������������
��,�*
��
������������������������������������������ ��������������������������������������������������� �����������������������������
�
�����
9�� ��������������������������������������������������� ��������������������������������������������������� ������������������0�
����*.���	�()
�5�
1����
����������
���������������� ��������������������������������������������������� �������������0�
����*
6�	����
��

����
����������*��&����	
�������� ��������������������������������������������������� ����,��
�����
4
���()
������7�����
1���
�&��

�������85	�
� ��������������������������������������������������� ��,"�
��,��
4
���()
������7�����
1����������������6������ ��	
���$�
()
�����������������������������'��

� �



�

�

�
2��3����4�������������

� �

�

�

�%9*���9�%�:9;��*�

%�.����
��� �
2��3����4������������ ���.
���<

��
�.������
������	$	������
�������*��&= ����

��
��
� �
�� 
� ���	
���
� ��� �2���� :������;�	�� ���<����� � �� �$	��
�	��
� 

� &��

� *
���� ���

*�	$	��������������������������
�������
�������1
�� ()
��
�&��

�������85	�
��2�+<�2�"=���*��&�

�
��
���������

�	
�	������
�����
1>��	$
�.�	�
��	� ��������� �
	���
	�)��	�0��50����;���=�����

2>)
�����	�������)
�6�2������!��
�6
�������
	�	
��� �!�-?�	�� ����������
�	�
=�4
	�����4	�
���.����

��*��&=�
�����.���
�
�����2�+<�2�"=�4�/���������
6� 	���������	$����
�
�����

���
��

����
������=�



���
)
�������	��	�
�������$	�)
��
����
��
������
 
.���()
���	���
������
�
?���
������	�
(���

��� ��
�.�
7���
�
� ���� ��1	�
� ��.

�
�	����
��� 
���� ��?��	�
�� �

��� *������� ���=� �
�� ��

&
����	�� 
@� �22A�22+=� ��� +� ��� ��	
=� 
� .�
����
� ��� � ���1��()
� 
�� ��$	�)
� ��� ��
��
�� ���

�

.���()
�4	�
����	���
�.���
��������	5B
�	�����5�	 ���B���

�	�	

��
���*��&�
�����.�
����
�



�������
����
����������C�������	�����	������
���� 	4��	
���������7����D���	������
4E
�	�����

*��&=�.����
��
�����
���
��
�-
�.	��������:
	$���	� 6�	
�����
	�1��=��&�������	�
��F�*��&�����$8��

��� &�
�
�
�
� ��� ��.�
��()
� ������ �����1�
� ��� �22"�� 9
�
� ����� �

����	/��� ��� ���.
���� F��

��	�
(��� �� 4����	��� ��� ���� �	�
� .
���$��� 5��(��� F� � 

.���()
� ��	���
��� �
�� 
�� �	4���
����

	
���$�
	�
���=�F�.���	�7�������.��	B
�	�����F��	�� ��	
�()
�����
�����.�6�	����	4���
�	��
�������



���	�����
���$�
()
�&���
���
���
4E
�	��.��
����� �	��	
��������
����

�� 
����� $����
��=� ��� ?0.���� )
� -��0���� =� �

����6�
�� ���=� �
� �

5
� �
� �

� ��� �2�"=�

�.��6
0���50��2�;
����)�0��5���������>6
2�)��+����	 �+�����;
��2�����@5
��
��
-
�
�����A0
���

)
� -��0��)��� 
9�
����� @5
� -�
@5
�����0� ��� ��8
�� )
� -��0���� � �� ���18�� 

� 
?���
� ���

.���	�	.�
���� 
��� ��	$	������ 4
����	$��A	
4
����	$� �=� ���� 
)
� ��� �
�������� 

� �
��
	
� ���

4
���()
�����	4	������*
�
�$�������.�6�	�������
��
 ����������
���$�
()
�&���
���
���
4E
�	�=���

*��&�����$	
�
��������
�	�	�����.����.����������$	( 
�����4
���()
=����

�����������
�.���=�����8�

	
���
��	

����
��=�
�������������/�

����

7��	��
 �
������

�.��������	�����.����������.��
�

	�.���
�����������������

��	�<�<�	����������

��.� 
��������
�������.��
=�
��

�����2�"�4
	�

.���	������ �
�� 
� ����
$
�$	��
�
� ��� 4
���()
� 
�� :�� E
	�� �� 
�� !8�$	�� �� �
�� 
� 	
��	
� �
�

����
$
�$	��
�
��
�.��

���������
����4���
���F�&�� <5�����()
� ���
���������
�����������������



�

�

�
2��3����4�������������

, �

������������  ��
�
�� ��� ��
!�
�� � ����
$
�$	��� .���� ���
��� !�.��	
�� ��� �����()
� ��� � 
	�1����

9��18�=�

��

�����2�"=�4
	����	
��
�
�  ����
��������������������������
����� ��
����%������
��

&�	���
5
��&
���5������ �
��$	���� �� .�
�
$��� ���� ��	 
�� ���	����()
� �� �

.���()
� 

� ���� ���

��4�����
�.�.����
��&�	���
5
��
���
���$�
()
�&���
 ����

�
��

�����.��(
=���*��&������

�	
�	�����F��
�5
�	 �(C����
��
��-:�=�������	����()
��
��


��
��	���
����!�5���
(��!
�	��=��
��
���
��
��	��� 	�������!�5���
(��!
�	�������
	�1������
����

�E����� �
	�	.�������
	�1��=��������()
�F��	���()
� �
����
1�	5�()
����
���
����
�&�
�
�
�
�

��� ��.�
��()
� ����1���
� �� �2� ��� �����1�
� ��� �22"=� � 
���� �� *��&� �� 
� ��
��
� -
�.	������ ��

:
	$���	�6�	
� ��� �
	�1��=� �&��  �	�� ���� $�/=� ����� �	 ���()
� �������� ��� ��� 	
$���	��
�
�

�����
��	
6�	
���
�
���
�$�������
�5
�	�(C������
�� �
�����
�
��
�
�$����
�	�.���
�4	
�
��	�
�
���

�

���� ��� *��&� 

�������
��� �
�� �� 
1��
()
� ��� ��	�� )
� ���� 

���� ��� ��8�	�
� ���� ���)
�

�������
�����4���	����

����������
��
1�	�
���:��5� �
�����4
�(
�

���
�	�
����
)
����.������
�

���	��1�	
���	���
�����.
����������*��&�������1	�	� �����������
�����	���.�����
�
�������.�6�	�����

�����	��)
G��

��������	�
����� �
����������	���� ��	��
�������
� �

�
��

�����
6�	��=���*��&������

�	
�	������
� ����
 $
�$	��
�
���� �1
���5��� ��������� �	

��� 	
������ 
��*��&��
���
�
� ��1	()
� ��� ���� ����$
�F�	�. 
��E
�	�� �
�� �

����
�� 
�����	�� 

�

����
$
�$	��
�
���1��<�����������	�
(��.����
������ ��.����
�������
��
���.���������	��
��()
�

�������.���5
5	���	4���
�	��
��=�$
������.����
���� ��	
�=�.�
�
$�
�
�
��

���
��
����
�����/��

�� 4
����� 

� 1�	
����� 9��� �
�
� ��

������ ��� �2�0=� �� *��&� ���� �

�	
�	����=� ��� �2�"=� F�

�

����	/�()
�������.�
>��
��
��������
���4	
�
�	�� �
�
�.��.�	
=�
� ���B
���CD
�
�E�F����
��)�0�

��!!!G��������
��

����	$
��2�+A�2�0����������.�
>��
�$�	
� ����

$��$	����
���.�(
��
�D���	�����

!���	�=�>6���	�	/��
�.����*��&���.�
�
�
���
� ������ �5
��
���� �2�'� �
�� �� �E����� �
	�	.��� ���

�
	�1��� �� �� �
	�1��� ��� 9��
�	()
� �� ���� �
�
� 
1>��	$ 
� �4	����� H�� ��	��� ���/��� .���I� 
�

����
$
�$	��
�
�����1
���5��� ��������� 
�&����
�����
$
�$	��
�
����������18���

��	1�	����

�.�
$�()
� ��� ��
�	������� �
� &�
5����� ��� ��.��	��()
 � .���� 
� �
$���	��
�
� !
�	��=� �
�� ��

�
	�	��	$������

$�()
�������
$
�$	��
�
�!
�	��=�J� ���
1�	
�
�
�D���	�K�������.���	�	�=�����2�0�

������2�"=�����
$
�$������.�
>��
�����$	�
�����7
�� ��������	�����������.��	B
�	���

������	
��

������	�
(����������7����D���	������
4E
�	�����*��& =�.���	�	
�
<�7�����������������
$
�$����<���

��� 4
���� .��
�� �� �
�� ��� ���	�
� ��� $	��� ����6$��� ��� �	�1	
��� �
�� �� 
�����/��� ����� .�
>��
�



�

�

�
2��3����4�������������

' �

���18��$��
�	/
�� ��	�
� ��� �����C��� ��� �
��
	��()
=� ����� 	
���
��� ����� �����
��� �
� .��.�	
�

.�
>��
� �=��

�����
����
��� ���*��&�� ������ ��
�	�
= �
� �

� ��� �2�"�8���.��� 
����� ��.��
� ���

�
��
	��()
������
��

�������
���.��
�H��I��
(���
� 
��
�

$
��	������*��&�H LLL��
	.�.� I���

�
�
�>6�4
	��	�
��
���	
���
��=�������������	
�8�
� ��.��7
�����
�������	$	���������
$
�$	���

�
� �

5
� �
� �

� ��� �2�"� �� ����� 
� �
��	���=� .
���6� � �5�����
��=� $��	4	���� �
�
� 
� ��4
�(
�

�

����	/��
�

���
�	�
���������.������
������4	
�� ������5���)
����	�	1����=��
���	5
�=��
��B
�	�=�

���
�.��B
�	�=��
�
�
������������
������
�.�
�	��
� ��

M����4���
� ���.

��1	�	����� �� ��$��� ��� *��&���	��� � �	
�� ��� �����
��1	�	����� .���� ���� 
)
�

��.�
���������	$���
����
����
��
��.�
�
�
���
���
� �
������
����8��
�������7
�	/

���������

*��&�����$	
�
� �� 

������ �� ���� �()
� �� ���� ��� ��	�
� ���� �

��	1���
��� ����	����� �8�
	��� �� 
�

��.�
7
�����
�
��
��������
��1
���
����������
����� 	����A.��
��.�()
�����$��1���.����
���

����
�
�������1
��()
��
�&��

�������85	�
��2�+<�2� "=���
�
���������	
������
�
����5���)
���

����
��
	��()
�4�
����
����.�����
�����
�5�
	/�()
� �*�.��
	4	��()
�������85	�����$��.
��1����

���� �����	��� ���	����()
� �
���� �
�
�� 
�� 	
���$�
	�
 ���=� 	
���

�� �� �����

�=� �

����	/���� ���


1>��	$
�� 
.����	

�	�� ��� ��
��
� �
�� ��� ��5�	
���� . �	
�	������ ��4	
	���=� �� ��������G� 
� ��	���


�5�
	/��	

��=���	

$�()
=��������
��1	�	��������� �1
���.�6�	�����*��$��	�()
��4��������
�&��

�

������85	�
� .���� ��� �(C��� ����
$
�$	���� �
� �

5
� �� ���� .���
�
� �
�

����<��<6� 

�� �
��
�� �
�

.����
����
����
�
��&
��?��	�
=�������������	
��.�� ��
��<����
�
��������J4��7��K�����	��
=�

�

���������4�����
�.��
����
�
�������85	�
����	
���
� ���
�1���
(
��������	�.C��4�/����
�����
�

���������6�����	/��
��
��

5
��
�.����
����������	
 ���

*	
�������
���
��

�����2�"=���*��&��
��(
�������	
 ����
�.���	�
������	8
	
��2�2<�2����=�

.�������=�
�	
$���	��
�
�����	/��
�.�����������4	
	 ()
����

����	/�()
����18�����)
��$	��
����

�

.����
��� �������	
�� ������E�1	�
=�4
	� �4������� ���� ��$	�)
�F� �	��)
=�$	�)
� ��$��
���� ��� *��&�


�
����������
�
�
�.�.��� ��������
$
�$��

��	�<�<�	 ���
���4�
����
����.�	�
�.����4����	������

�

�	����()
� .��
�� ����� .��.�	
�� $��
���=� 
�	5�
�� � � ����	(C��� ��.���4	����� *� *��&� $��
�	/�� ���

��.��	4	�	��������������4����	��
��	
���$�
()
����� ����
$
�$����.����
�������=�.
��	��
=���������

	
���$�
(C��� 	
�	$	����	/����=� �
�� ���.
�����J4�	�� ��F� ���	��K� ��� ����� 	
�	$���
=� .�
����
�
�



$����
��(C��������.
������	4���
�	����=������
��
 ��
�������4����	���

�

�



�

�

�
2��3����4�������������

� �

�����N*9;��%����*9�O��*��!�

���  :�@5�)��0
����"�	���
�D
�����2�

*� �1!� �8� ���� !�����5����� �����	52��� )
�D�2�)���
)�)
�D�	��2 �H�&!!I=� �
1� ��4
����>����	��� ���

���
�	�()
� ���� 4	
�� ������	$
�=� ��� ����()
� 	�	�	��� �� �� E�1	�
� 
��	

��=� ���� ��� ��5�� .�����

�	�.
�	(C�����5�	���.�	�6$�	���*�*��&������
�
�
1>� �	$
�����
$
�$��=�	�.����
�������	����	
���

.�6�	�������
��
����������
���$�
()
�&���
���
���
4 E
�	��.�������.

����F��
�����	����������

4����	��=�.�
4	��	

�	�����5�
��������
��
	����=��� �4
����	
�	$	����	/����������	4	����=��
��$	����

��.�
�
$���
�����
$
�$	��
�
������	�
(���
��2��
��� ��

���

�����	�+��������
D1!�!%�

���0.���
�
�6
���

��!�7H �

��
	�
 
�


��)�0�
!�-?�	��

�2������5�2�)
�
���0����

I��6��"����

I��6�������� H#&��I

I��6���6
���

!D��� HN	�1
�I

�"J� HN	�1
�I

I��6��K6���

I��6�����0.��

�+����L��0+2
0
�������
)��!�����>6
2���	����2

�+������	���������-�0>2����
�
��	��	���
0�!� ���0���� !�6
���;����

�

#	5����<�*��,�P���������
���$�
()
����*��&�

*�*��&�����.�	$	��5	��
�
��.
	
�F�	�.����
��()
���� �
���$�
()
�&���
�����
�$���
��	

�����


����� ��
�	�
=���8����������� +����	�+�����)��
��� ���D1!�! � ����)��������)
����0.�� =���*��&����6�

���18�� �	������
��� �
$
�$	��� ��� ��� 	��	
2���� )�� )�������� )
� �6
��� =� ���$	
�
� ��� ��.
����

�8�
	�
� �� >����	�
=� 4
�
���
�
� .�
4	��	

�	�� �� �.
	 
� ���	
	�����	$
� 
�����6�	
�� �
�

����
$
�$	��
�
��
�����.��	$
��.��

������()
���

�����������������������������������������������������������

� �!	���������	

�������
���$�
()
�&���
���
���
4E
�	 �=���5�����
���
�.��
��N��0�A2"��



�

�

�
2��3����4�������������

+�

�
� �.
	
� �� ��	�
(��=�4����	��� �� �8�
	�
�� ����&=�.�� ����8���
��.
	
�.������
� �	������
��� �
�

!��&��

���	���	�
������
	�1��������*$�	�
=���*��&� ����.
��
1>��	$
����

��	��	()
��������

>�
�
�

��� 
?���
����.��	��	/��
������.
	
�����	�
(��=�4��� �	������8�
	�
���*������
��=��
�

���<������

4�
�	

���
�
�
� �
�����)
��+����L�!��
�6
�������
	�	
����7
-�	�M�	� ��H��5�2�E��!�7HF � ���	��
�

����22��������	
��
�����	�
(����
����4	�	B
�	��O	�� ��=����
�	����
��
)
���
��������4	�	B
�	��=����

	������ .���
���� H2� �
�� �� �

�I� �� ���.��	$��� 4����	� �� �� .�
4	��	

�	�=� ��
�
� �
�
� 6���� ���

�1��
5B
�	��
����	�� �	���	�
����� ��5	)
���
��
�H�
	 �1��=�*$�	�
=�N�	�	�=�O	���=�Q��������������
�

3��
�
I� �

*
��

5
��
����1��7
�����	/��
�.����*��&=�
��6����� ���
���$�
()
�&���
��=������	�
��4�����
�

��� ��$�
����
�
� ��� 
�����	������ ���� 4����	��� 
� ���� 

�� .���	�	�� �

������� �� �	4	�������� ���

	
��5��()
� ���� ��	�
(��� 

�� ���	.���
�
�� ������	$
� �� *��	�=� 	
�
� �
� �
�

��
� ���4	�
�
4	�� ���

*��&�������
���$�
()
�&���
������5����=�	
	�	6�
�=� ��������1�
�����22"=����	
��	/�()
��������

��
	�
� �� ��� �� � 
��)�0�)
� !�-?�	�� =� ����1����	��
�
� ���� .����
��� ���� ��� �
�
�� �� .���� �
�
�=�

	
����	$
=� �� ���� ��
�7�� ��	�
(��� 	
��.�
��
����
��� ���� ����� �

�	(C��� 4��	���=� 	
��������	�=�

�
�	�	�=� ��
�	

�	�=� �	
5����	���� 
�� 
������ � N	��
�	���� �
�� *��
�	/�()
� &�
$	���	�� ���

#�
�	

���
�
�������������*��&������	��������5���)
 =��������������������7��
1��$������2�'�

*�
��
�����

.���()
��
����!�5���
(��!
�	���.�����+ ����
�����=�����2�"=����	

������$	�)
��
�

��4��	�
���
��
�����

.���()
�.����
�
����1��
5���� ����	�
(�����

*� *��&=� ����$8�� ��� ���� ����7�� �� �
� ���� D���	�� ��� �
 4E
�	�=� �	4���
�	�<��� .���� ����	�����

.���5�5	��� ���� .�
.
��	

�� ����$8�� ��� $��
�	/�()
� � 
� 1�	
���� �� ��� ���8�	��=� ��� �

����
� ���

	
���	
������������	
�=�.�	$	��5	�
�
�
�����
$
�$	� �
�
���
����.�	�
�.��
���	��	�
�=�
�����	��������

	
���������������	�
(����*���>���������1
���5���#�
 �������5�
7��R���/��R�
�������()
����	
4E
�	��

���&
���5��=��

��	��	
�
<����
�
�����
.()
�.���5�5 	���$��
�	/����.������
�	�����������������

������1
���5���������	$��4
�����

�1�	
����

����.� (
�������	
���=�����

����
��
����������/�=�

���� .
�� 1���� 
�� .�	
�	.�	�� �
����
�
�� 
�	�
���
���� ��� �����()
� ��� �
4E
�	�� ��� &
���5����

&�
����<��=� ���	�=� ���� 
�� ��.�(
�� �����	
���� ��>��� 
� .���
� .��4���
�	��� ��� .�
����
�� ���

�.��
�	/�5��� �� ����
$
�$	��
�
� �	5
	4	���	$
�� .���� ��� ��	�
(��=� .
��
�	�
�
<��� ���	�� ��

���	�	()
� ��� �
�.��B
�	��� 4�
����
��	�� .���� ���� �	� ���
	�� ��	$�� �� ���.

�6$���� %� .�
>��
�

�����������������������������������������������������������

� ��
���	�
�
�������������*#*&�S���
��
����*.
	
�#��	 �	�����*�

���7���
�
�&���
���=���5�����
�����.���� &
����	��

�@���"A�2������������1�	��H�5��������$	�)
I��



�

�

�
2��3����4�������������

0�

!���	H�I� 

�D���	�� �
������<��� 
�� �1
���5���#�
���� ���� �
	�	��
� 

� �

� ���	$
� ��� �2�+A�2�0=�

.����
���.�
.
��	

���
.
���
	����������.��
�	/�5�� �������
$
�$	��
�
��������	�����.�������

��	�
(����������7�����
�D���	������
4E
�	��H�D�I�*� �&=�.��������.��
�1�	
�����	$�����.��
��

����
�

�
�� �� ������/��� ������ ��
�	�
=� ����� .�
>��
� �

�
�� �
�� �� .���	�	.�()
� ���0� ��	�
(��=� 

� �

�

���	$
� �2�+A�2�0=� 
�	�
���� �
�� $6�	
�� 5��.
�� �
�D�� �	�� ��� �
4E
�	��� �
� �

� ��� �2�0A�2�"=� ��

��5�
�����	()
��
�.�
>��
��

�
���
����.���	�	.�()
 ���������	�
(�����

��

����	$
���5�	
��=��

�

����2�"A�2�2=��
����.���	�	.�()
�����,���	�
(������ ������
	��?��	�
���

�����	$
�=�������5��.
��

4
���� 4
����
�� ��� 4
���� ����

���� *�� ��	�
(��� ���� 	 
��5���� 
� .�
>��
=� �B�� 	������

�
�.���
�	�����
����
����B����
����	���

�=����4��� ���
�&���������!�
������/�S�D���	���
�!���	��

<��
	�1��=������
��	���.
������
�=�������.
�	
��5�� �=���
�.�
7�����.
�������.�
4	��	

�	�����

�����()
�������5��.
������	�
(���J���	��
���K=���
� .�
7�����.
�������.�
4	��	

�	����������()
=�

����1��=��	��	���
��=����5��.
��������7��
�����>��� 	�����	
4E
�	�����*��&=��1��
5�
�
����	��


��
	$���
������	�
(�������4�����
���� �� ����7����
� D���	������
4E
�	�����*��&�������.�
.
����

.����
�������7
���������.��	B
�	������1�	
�����
��� ��	$�����4
	���$
�����

	�
�	/�()
��

���
���

.���� :
	$���	����� ��� *$�	�
� �=� .

������
��=� ��$
� � �� 	
$���	5�()
� �	�
��4	��� .
�� .����� ���

	
$���	5��
�����
��	
��������
��������8�	���

�
�E�1	�
��
� �
�����)
����0���� =���*��&�8������
�	�����4
����
��=� �	�
)���)��+
2��7N:�$ �

H�	��()
� Q����� �
� ��.��5
� �� ���� ����(C��� �
� 9��1��7 
I� ������ �2��=� ��
�
� 
1�	�
� �� ����

����	4	��()
�����1�	������2��=���� @5�����O�
���)
�-��0���� ��!)
�����G� �
�6����)
��+������	��������


� B�6
�� T����.�2��� ��	��2� 
� ���
������ T�-��0����� )
� 
)5	�)��
�� )
� !�-?�	�� T��
��+��� 
�

�
�.�2������ ���

��������
�	�
�������

4
��	������
��
������	�	�
��� ���Q��9=���*��&�����
$
�$��	5�����
��=�

��� +2����)
�-��0�������5�2 =��������� .
��1����
� ����.��

�������85	�
� ���	
��� $�
()
=�������

�	��)
� �� $	�)
=� 1��� �
�
� 
� �������	
� ��� �	�5
���	�
 � ��� 
�����	������ 4
����	$��� ����	/��
�

�
�����
���� ����� ���5������$8������
6�	������� 
���� �	������4
����	$��A��5���C������4
���()
�

	��
�	4	������ 

� ��$�
����
�
� ��� 
�����	������ ����	 /��
� ����
�
� �� 4����B
�	�� 
��� �(C��� ���

4
���()
� ����
��� 
� �

� ���
���
=� ��� ��������()
� ��� �	/���� �
�� �
��1
���
���� ��� *��&� �� ���

�.�	��()
������������	

6�	
���
�$���
��	

����

*�8��������	$	������4
����	$��=���*��&=�����
$
�$�� ��
� �

5
�����2�"�
��������	$	���������

���	/�4
����	$
A	
4
����	$
=����	5
�����
���U
�V�7
 .�A!���C���9��6�	�������	��
������

$����=�



�

�

�
2��3����4�������������

" �

����	
��
����.�	���A
��4��	�	����������	�
(����
��
 �����	������
������	��
��
�	��=���.�
4	��	

�	��

���	
���$�
()
�
���
4E
�	����
���
��.�
4	��	

�	��	 
��������
��
������6�	�����1
��������

����� �

=� ��� .���	�����=� 
� ��
��
� ��� #
���()
� *��&� .
��� $��� �� ���� 	
���$�
()
� ����5����

����$8�� �
� ����
$
�$	��
�
� ��� 4
���()
� �� 
�$��� 	
�� �
��	

��=� ��	�� �

�������
��=� ���W	�$�

H:��E
	�I������3��5���
�H!8�$	�I��������.���������
 
7�������F�*��&�������	1	�	���������	�
�����

�)
����

�����.6�	�������
��
���������	
���$�
()
�. ���
���
��	
4E
�	��.�
����
�
=�������4
���=�

J1�1��K��
�
�
������
��

��.���������
$
�$	�
����&
 ���5����

�

�
�
�	��
�����	��
�
������	�������	�����
���	�	���� ����		

�����	$���
��� �
� �

����
� ��� ���� ��� 	
����� �� *��&=� �� ��	
�	�� �
�� .�����.
��
�� �
�� �

��

�
���	
������
�B�<�������������()
��

*�*��&�����$	
�
����

��	1�	��.����������4	
	()
��� �

�����
�	�
���
��������.���	�������
�

!��&�� ��
7�� ��� �
��������
�
� �

��.����� �
	4
���=� � �� �
���� ��� �N��� ��� 
���1�
� ��� �2�,� ��

���(
� ��� �2��� ����$�� ��� 4�
�	

���
�
� 
� ���B
��� J!0 � � P� !��
�6��� 0����� ���
�6��� 0
2��� K=�

4	
�
�	��
� .���� #�
��()
� ���
����� Q��1�
V	�
� H.�
>� �
� J��.�����
K� ���� ��
�	�������� �
�

&�
5����� �	����
	�� *�	$�I�� %� !0 � � ��$�� �
�
� .�	
�	.��� 
1>��	$
� �� ��	�()
=� �	$��5�()
 � ��

�	����	
�()
������� �
�������&�6�	�������
��
������ ����&��9
���������	$	������������.�
>��
=�

��>���
�	�����.�
�
�
���4
	���*��&=�4
��������	/��� �����.�����	���
������
	$���	�����=�&�	�����

�������!��&���

%��

�����2���4
	�4�
����
����.�������	$��5�()
���� ��� "��5�2 �H��������	������
�����	��	

�
�����
���	 �������	 
�	 �
��
����	 ��	  ���	 !���	 !���� ����
��� I=� ���� 4
	� .�1�	���
� 

� 	
��	
� ���

>�
�	�
�����2����*�����	/�()
�������.�
>��
���$��1� ���
���	�.���
�

�.�.���������*��&��������

�
�
�$�������	����	
�()
����1
���.�6�	��������&=�1� ���
�
�
��7
�
5�
�	/�()
����.�6�	�����
�


�$��� ���� �N������4���
=��
�� �� 	�.����
��()
� ������ .�
>��
� �

��5�	�<��� ���4	����� 
� .�.��� ���

*��&��
�
��
�	����������4��B
�	���
�
�$������.�
�
( )
����	����	
�()
����.�6�	�����������	�����

����
���$�
()
�&���
��� 
�� �
4E
�	�=��
$
�$��������
 
7�������	�� ���:
	$���	������.
���5������



� .�.��� ��� ��.��$	�)
� ���� .�6�	���� .�
4	��	

�	�� � � ��4
�(��� �� 	�.
��E
�	�� �
� ����"������ � ��

.���	�	.�()
� ���� 4����	��� H��.����
������ .���� �� *�� 
�	�()
� &��I� 

� .�
����
� ��� �
���$�
()
�

&���
��� 
�� �
4E
�	�� �� 
�� ��	$	
�	��()
� �
�� ����� �	� �	�
���&���� ��8�� �	��
=� 4
���� �$	��
���� 
��

5�
7
�� �	���
�� .���� 
� !��&�=� �
�� �� ��.��	��()
� �
�� .�
4	��	

�	�� 

��$6�	
�� 
�$�	�� �
� �	�����=�



�

�

�
2��3����4�������������

�2 �

��4���	
�
<��� 	
�	������
��� ��� 5�
7
�� .���� ��� 4���� 	��� �� ��	�
(��� �1��
5	���� .��
� !��&��� ���

��
��
� �
�� �� 
.	
	)
� ��� ��5�
�� ��1�
�	��6�	
�� �
� !� �&�� X�� ���"���	 ��# � ���#� ��� ���
�� ���

������������ ��
�
�������
!�
������ ����$�� Y���X�������
������������������������� ��
�
�����

��
!�
���%���!����������
��&�
�����������!�
������ ��# ���������
�
������������
�������������
�����

���'(� � Y�����
�
��	������������
�
�����
�	��)
��	�
��4	��� X�����)�������������
�����������$���

����#$������������������������������������� ��
�
�������
!�
�� ���� ����$�� Y��

�
��
��
�
=���4���
��������������	
��	$	��������.�� .�	���

���
�()
��
�!��&�=����.�
.
�����

����	/�����.����*��&�.�����

�	
�	����������(C���.
 �	�	$���

�E�1	�
��
�.�
>��
=�

�������
���

���

��	��	()
�������;�5)
��

����	$
��
�!��&����
� �.��4�	(
���
�
����!�.��$	�)
=����)
�����

���.
���� ������ ��	
� ��� �2���� ����� ��5	��� ��� 
)
� ��	 ���� J��	�� .
�� �����K� �
�
� 
� ���1��7
�

����
$
�$	�
=��
��

5
� ��� �2�0=���*��&���$�� �� .
��	 1	�	����� ��� ���
���� ����� ����
�
�>�
�
� ���

$
5��� �
� �

���7
� �	���	$
� �
� �!!=� ���Z� !
4	��3
�5� ��&���	��� �� ��� ��.����
��
��� ��� !�5���
(��

!
�	���
���
�	��)
����	

����
�!��&�=����Z�*
���	�� �O	�7�
����

���
=�
��

�����2�"�
)
���
����



$
������
$
�$	��
�
��.�
$�
	�
��������
�
��
���

 ���
������	/��
����

�
$��	�$����
��=���	�.����
��()
�����&����
�$���
�� 	

���$�	��
4��
�
��	��	����
����$�
(
����

����
����.�
��
��������	����
(������

���
�()
����. 

�6$������
�.��.�	
��

����
�.
�	�	�
����

$	5
�=�������*��&���
�8��	
	�	��	$�������

�	
��()
 �����(C����
� !0 � =�
)
���	��
�
����
������


�� ����� 
1>��	$
�=�.�
�
$�
�
�

� �

� �2�+=��� �
;5�)��
)�����)��NI!� � .�������� ���.
�����F��

�	$������ �
�	�	��(C����� ��4
���()
� ���*��&�	
	�	
�� ��5���� ��
�5�
	/�()
� ��� �(C����� ���.��	$
��

�

��?�
�� .���� �

�	
���� �� �	
��	/��� �� ��	�	/�()
� � ����� ��4���
�	��� 

�E�1	�
� ���� �N���&
�� ���

���
=���*��&�	
	�	
������2�0�
� �+����L�D5.	�0������)���2
��
B��	�0�-��0�����
0�D5+ 
�6�����

�
-2
9�6�� �=� ��� �2�"=� ��	�� �

�������
��� ��� ���(
� ��� �2�"=� 
� ��
��
� ��� #
���()
� *��&�

����
$
�$��� 
� .�	��	�
� �5���� !��
���6�� 
0� !��
�6
����� ��
	�	
� ��� !�-?�	��% � ��O��	���

�
	�0
�)�)���
0�!��
�6
�������
	�	
����!�-?�	�� =��
��
�
1>��	$
������.��	����
��4
���
�
��

����

7��	��
�
��
��6��������&�6�	�������
��
������ ����
���$�
()
�&���
���
���
4E
�	��H�&�I=�

�����.�
�
$�������4���)
��
��.�
4	��	

�	���������� ����4�
(C���

�E�1	�
�����&���
1�����������

.�6�	��������
�
���5���
�	������	
���$�
()
�.���
�� ��������	��������4	��/=�>�
�
�������	�
(���H2<

�� �

�I� �� �����4����	��=� ��	�	/�
�
� 
�Q�	��J&�6�	�� �� ���
��
������ ��� �
���$�
()
�&���
��� 
��

�
4E
�	�G����5�	��.����.�
4	��	

�	�K��
�
�	
������ 
�
������.
�����

M�

�4	
�������2�"=���	���

�������
������
���1�
=� ����8�.�1�	���
�
�*O�!%��@�&%�!�<�0<

�2�"<�,�.���������
�	��������.������9%����,�<�[���	 4	��()
��
�!	���������	

�������
���$�
()
�

&���
��� 
�� �
4E
�	�� H!��&�I�� #	
����
��=� 
� ��.����
 � �� �
�
�	��
� 76� .��
� ��

�� �� �

�� .��
�



�

�

�
2��3����4�������������

�� �

.��.�	
�!��&������$������

�������=������
�
���4��	 �
�.�������Z�*
���	���O	�7�
�=�

�\�����

5����
�

���	

��� ��� �&�=� ����	/��
� .���� *��&=� ��� 
���1�
� �2 �0=� ����$�� ��4���	��� �� �.
���� 
��4
���()
�

�

��
����
�������.�
4	��	

�	������	���	��
=���*�� &�	
	�	
���

���
���
��
�������.����	�
���
�

�
�	

� !�.��	
�� 
���� .���.��	$�� ��� ��� �5��5����� ��4 
�(
�� .���� �� �

����()
� ��� 
�	�
��(C���

�
��
������$8�������
�	�����������	���������������. �	����
��.�	
��.	
������&���������

��	1����

.����
�4
������	��
�
�����.��	��()
�����&���������� ����	�
����.�
����
��

���1��
=��
�����B
�	��

������.
����.
��.���������
�	�����	
����8�	���
�&%� !��.�����������
�	������=�
�����S��
��	���
�

���	

��� .���� �� ���1	�	��()
=� �.����� ����$6�	��� ��
 ���	$��� ��� �

���
� ����4
���� ����	/����� �
�

�

5
�������.���
�
=���
�
�$	�����	���
�
�$	������4 �
	�����
�������
���������

���
���
��
�����

$��	4	�
�<��=� ��� 4
���� 	
4
����=� ���� �� *��&� ���� �� � 
)
� ��� .
��� ��
�	������ .
�� 
)
� ����

�
��������
�
� 

��1�
�4	�	6�	
�� ���
���
�� 

� �$	�
� ��� �1������� ��� ��
�	�������� �
� �
��
�
=�

����$8�������4	
	()
��������������85	���

>�
������ �.�
�
$������������	����()
��
���
����
����


��������

��?�
�������.�6�	�������
��
����������&� =�
����	4���
������5	C����
�.���=�
��

��
��

.����	�
�=� ���

7���
�
� 
� ���1��7
� ���� �� *��&� ����
 $
�$�� �� �� 	�.
��E
�	�� ���� ����� ���� 
��

�	����	
�()
� ����&�6�	���� ���
��
������ ��� �
���$�
( )
�&���
��� 
�� �
4E
�	�=� .�
�
$����� ��

����1��()
� �� ��$	�)
� ��� .�
�
�
�
�� ��� �

.���()
� �
 �� $	���� �� *��&� .
���� �.
	��� ������

��
�	�����������

��	1�	��.�������&����&
���5������ �$8���
�������1��������������.��	B
�	��
�����

6�������

%��

�����2�2�����6=��
�������/�=���	�
����	������
 $
�$	��
�
��
��������8�	������$�/�����

����	
��
�
��

�����2�"�
)
���	��	����5��
��������
 $
�$	��
�
����
�.��/
�����.����
��()
����

��
�	�������4
	�.�
��
5��
���

�
� ���� �	/����.�	�
�F���$	�)
� �
��*�
��
�� ��� �

.�� �()
�.���� �� �
���$�
()
�&���
��� ���
�� ��

.�1�	��()
� ��� &
����	�� 
@� �22A�2�+=� ��� +� ��� ��	
=� � ��� ��	
�� 
� &�
5����� ��� ����1��()
� 
��

*���5���
�
� ��� *�
��
�� ��� �

.���()
� .���� 
� ����
$
 �$	��
�
� ��� ���.
����� !
�	�	�� S�

&�%�%%&=� �� �2� ��� �5
��
� ��� �2�0=� �� *��&� �+�
�
���5� ����� 	��)�)��5����� ��� ?0.���� )��

�� �  ���+�������
6�����)����	��)���)
�	��+
������
 ��
)
-�������)����5�����+�2�;���E$��+����

$�F�+�������
@5�+���)
�!��
�6
�������
	�	
����!�-?� 	���)��)��������)
����0.���
�)��)��������)
�

�6
���� �!������.
����F����
�	����������1���	����

��

��2� 0����
����.�1�	��()
��
� �
�������

*.
	
�F�#
����	/�()
����&��	�
��������

����()
���� �
��������.����������.
�������9	.
�
5	���


)
����5�$�	��

�&�%�%%&=�����2�"=���*��&�$
������� �1���������
	�
���
�	�������=�

������
��

�
��������������
�	������������	/�����

��

�����2� 0���



�

�

�
2��3����4�������������

�� �

����5
��
�����2�"=���
������B
�	�����.�	
�	/�()
��� 	
����)
����%�(���
�
�&�
5�����.����
��

�

�������
=�
�.��	�
������$	�)
��
���
��
����.	�
�.�� �������.
�����
�	�������
���$�
()
�&���
��=�

��4���
����
� ���	.���
�
� ����S� 

���
�A�

��	��A!
 ���=�8��.�
$��
����)
��
�	�	���
�� 

$
��

���
�� H��
�	������� �.����
����� ��� �2�0I�� &����
���� 
��=� �

�	
���
�� �
�� ���B
�	�� ���

���.
���� �����	$��F� ��$	�)
� �
� ��
��
� ��� �

.���()
 � ��	��� ��4��	�
�H&�%�%%&�S� �A��A�2�0�<�

&����%��@��"02,I��.���������
�
��
����4
�(
�������� �
������
$
�$	�
�

�������
����
����

�
���5������
����
��()
�����5
��
��2�"=����
���
��� ����.�
$�()
=������ ��/��1�
�����2�"�

.
���
�	�	��()
��
���
��
��	���	�������!�5���
(��!
 �	�������
	�1�����

*
�
�$����
��

����
���5�����������������*�&�O=���� �$	�)
������5	���()
��
���*#*&]�����5	������

�2�,=� �

�	
��� �	
��� ���� �

����)
� 4
������ #
	� ���� 	/���� ���� .�
.
���� �
� �!!=� ��� �����	���

�
��1
��()
� �
�� 
� ��!!� �
	�1��=� .���� ���� 
� ��
��
� � �� �

.���()
� �
� �*�&�O� 4
����

���
�������
�
��������������
��
����������
��.����� ��
���$�
()
�&���
��=�����.��>��/
�.����
�

4�
�	

���
�
���
�(���
�
���
�������	1���
��
��*�&� O��*��
����
��()
�4
	��
���5���

��B��

���
���1�
�����2�,=���
��
�
<����������.
����
4	�	� �=�����

�4	
����
��

�����2���
���!!����

�
	�1���4�/�

$��.�
.
��������
��������
�
��
� �*�&� O�

�E�1	�
��������

$��&
����	��H
@�

�2A�2�'������������(
IG� �
�����)
���
�)�0
������	�0+����0
����
��
�.�2����� ��D�	��2�+����

�
������ 	�0� 7
-�	�M�	��� 
� !�	�+�	�)�)
 � H�**�&�I�� *� *��&� ���	�
�� �� .�
.
���� ��� ��$	�)
� ��

����
��� 
� �

� ��� �2�+� 
� �*�&�O�
�5�
	/
�� 
�� ���.��	 $
�� �
����
�
��4
���	�� .���� 	
��5���� ��



$�� &
����	�� �� ��.���$�<��� ���� �� �	���()
� 4	������ 4
������
��� �

������� 

� �

� ��� �2�+��

&�����
���
	���

�=��	
���
)
���	��	�������

����)
 ��
1��������.�
����
=�.
	���	
��������
����

�5������� .���� ��$	�)
� �
� ��
��
� �
��������� 
����� 

 $�� �	.
�
5	�=� ��1
��� ��	�� ���� $�/� 
�

.�
����
�4
������
�5�
	/��
������	/�.����*��&�����
 ���
��

�����2�"���

�
�E�1	�
����&
����	��
@��22A�2�+����+������	
=���� .�������
��$	��
�����
�	������=��.����
�����

����2�+=�.���������.
�����
�	����������7�=�����	
�� 4��	���.
���
�	$
����7�	
��F�*��&=����	��()
�

��� *��&� ���	��� ��� �2�0� �+�
�
����� ��6�� 	��)�)��5���� ��� ?0.���� )�� �� �  ��� +���� ��

�2��;�0
����)���A0
���)
�	�����������.���;
��+
2��� 	��)��)
�	��+
����������
�+�������	��2�

)
���
	�
 ����������
�	�
=�.��$B<�������.�����
���������.
	
� 4	
�
��	�
�.���������	�
(����
�	
$8��

���� ����	�� �+��M� 	5�����
��� ��� �5
��
� ��� �2�0=� .
�� ���	�)
� ��� �	��()
� ��� *��&� �� ���	�
���

.��������
�5�1	
����>����	�
=�������*��&��.����
�
� �	�.�5
�()
��
���
=���4���
���F���
�	�������


@��'�"=���1���	����
�&�%�%%&=����>�
7
��2�+=�

��� ���	/����.�	�
�F����.
�����
�	����������7���

������ ��
�	�
=� ��� �

� ��.
	�=�.���	����
��� ��� �5
�� 
� ��� �2�"=���*��&������	

�� �� ��
��
(��

>��	�	��� ��	�	��� .��
� 9�	1�
��� *��	
	�����	$
� �� #	� ���� ��� �
	�1��=� �

�
���
�
� �
�� 
�� 4���
��



�

�

�
2��3����4�������������

�� �

��.
��
��.����*��&���
1�	5�
�
�������
��!!��

�	��� ������
�	�������$6�	����*��	�=������/��1�
�

����2�"=�8����	
��������$	�)
��
���
��
�����

.���( )
�.���������.
�����
�	����������7�=�.����
�
�

���1��
5��������	�
(�����
����������	�)
=�����
�	�� ������.����
���������2�0�8�����	$������

�
�E�1	�
��
����1��7
�����
$
�$	�
�.��������7������ 
�
�����

������
�����	��������������B��

$	
�
����$	��
�	��=���
�
�.��
�
?���
������	�
(���� ���	���������.�����
�
�.����.�
������

���
���

.
��.���������
��
	����=�����1�	������2�+�8�����	/� �
����.��	�
��������5���
�
������.��	�����

.���������.
�����
�	������6����
�	

�����
���!!��
	 �1���������$	����������
�
�����0���	�
(���

.����
�
����	��������������.��	������
��������2���	 �
(����*�����7��$B������.��	�
���4��	�
����

��	
� �
� ����
� �

��9
��$	�=� �
�
� 
����� ������� ��� 	
 ���	(C��� .���� 
� �

� ���	$
� �2�+A�2�0�>6�

����$����

����	/����=�7
�$������
�.�
�	��
�.���
�� �
���!!��
	�1���.����	�.����
���������

����5���
�
� 

� �

����	$
��2�0A�2�"=��.����� ���
��� �()
��
� ��.�(
���	5	������ ���	�=�

� �

�

���	$
��2�0A�2�"=�������7��$	����������.��	�������� �
�����.�����2���	�
(��=��	$	�	���.
�������
�

������ H3��(6�	
=� !���� �� �

=� !���� �� �

�� �� !����  	� ��I�� *������
��=� �
�� ����� ����5���
�
� ���

��.��	����� �� �
�� �� �.�
$�()
� ��� ��$	�)
� �
� ��
��
� � �� �

.���()
=� �� ����7�� �	
��� ���� ��

.
��	1	�	����� ��� �
�	�	���� 

$�� ��$	�)
� ��� ��
��
� � �� �

.���()
� �
�� 
� 	
��	�
� ��� .������ ��

�1��
5��� ,0� ��	�
(��� H02^� �
� �
���� ��� ��.��	����� �� � ���.
���� �
�	��=� �

4
���� .��$	��
�

��5����
��I���

	

�
�
$	%
&�������
��	��������	

�
�
�	
��	��	()
����	�����������	$���
���F�6������� �
���$�
()
�&���
��=���*��&������
�
�

�	��)
�/�����.��������	��������4	�6�	���
�����$	(
� �.������
��F����	�
(�����4����	�����.����5���
�	��

�
��������	��	�
�T��.
	�����	�.����
��()
=��������� �()
�������
$
�$	��
�
�����&����
�$���
��	

��T�

�.
	�������.��	��()
����.�
4	��	

�	�=�	
��	��	(C�� ���4����	��T���	
��
��()
����1
���.�6�	��������$8��

��� .�
����
�� ����	4	���
�� ��� ��
�.�
7���
�
� �� 4
��� ()
� H��� .�
4	��	

�	�� �� 4����	��IT�

	
��
�	$��� �� 	
$���	5�()
� �=� �	
��� �
��1
���� �
�� �	 4���
���� �
�	�����=� .?1�	���� �� .�	$����=� 
��

��4	
	()
� ��� .
���	���� �� ���	���� 
�����6����� *
� �

 5
� �
� ���� ���.
� ��� ��	$	����=� �� *��&� ����

����
$
�$	�
���������	()
�������	����()
��
��
��
�	 

���.��	
�=��
��
��������
�8������(C���


�	�
������.������4
���()
���	
$���	5�()
��=�
����� �B
�	�����������	����()
=�����.���	�	.��
����

.�
>��
�� ��� 	
$���	5�()
� ����$	���� 
� �.��4�	(
���
� 
� ���� .�6�	���� ��� �&�=� 

��� ��� �������� 
�

���B
��� J!0 � %�!��
�6���"�����!��
�6���"
2��� K��%�����&��

����#
���()
��
�����

��	��	������.�( 
�

.����.���	�7�����.�
4�
����
�
�����3
���&�6�	������ �

7��	����	
���
��	

����
�����



�

�

�
2��3����4�������������

�, �

&
�����
�	��
���.��
����1��7
�����
$
�$	�
��
��

5
 ��
��?��	�
���2��

�=���*��&�8�.���.��	$����

�
�
� ���� �
�	����� ��� ��4��B
�	�� 

� �
��
	
� ��� �
��� $�
()
� &���
��� 
�� �
4E
�	�=� ��
�
�

�
�	�	����� .
�� 4����	��=� .�
4	��	

�	�� �� 
������ 	
� �	��	(C��� ��� �
�
� 
� .���� �� �����
5�	�
=�



�������
���.����$	�	����
��.����.�����	�����.�
>� �
���%��

�����2�"�4
	��������.�
�������
�


��������1��
�������4��	�=�����������=�������1��()
 �����

����
�����

����
�	���
�������
�	�����

���	����

�������
��:
	�
�=���%.�
�!
�	��_�#
����	
 
�=����������
�
�����
�������
1>��	$
�
����

.�
�
$����������()
�������?���.?1�	����������

���� ���	/�()
�$	�
��������	/�()
�����
	������
��

���4
���()
�����
���$�
()
�&���
���
���
4E
�	������ �����
�	�
=�4
	�����
$
�$	�
�
�����
�J����_�

�7	��7

�� �
���$�
�	

� H���IG� ���
���
���� .���	���� 4�
�� ��4����	

� �
� .���	��G� ���	
	
5� 4
��

���	
���K=�
��:��E
	��HW	�$I=�

�.���
�
��
�.���
�	 �
��
����>�
7
�����/��1�
���
�����
�J����_�

�7	��7

���
���$�
�	

�H���IG����
���
����.���	���� 4�
����4���	

��
�.���	��J=�����
$
�$	�
�
��

!8�$	��H3��5���
I=�

�.���
�
��
�.���
�	�
��
����
� ��1�
�����2�"����
���8��	

��.��$	��
�.����

>�
7
�����2�2���

*	
��� 

� �

� ��� �2�"� �� 
����� .���.��	$�� ��� .���	�7� � �� ��� �	����	
�()
� ���� .�6�	����

���
��
����������
���$�
()
�&���
���
���
4E
�	�=��� ���	
=�����1��
��
��*��&����5��.
������

.�
4	��	

�	�� .�
$	
�
�� ��� ��.?1�	��� �7���=� ��� ��:� %=� 	
��	��	()
� ���	���� ��� `�	
� �� ���� ����

�
�
�
1>��	$
�.����������$	(
������
���$�
()
�&���
 ���.����4����	����
����	�
(���
��4�	�����6�	��

���2���+��

�=������.����
������5����	.
������4	�	B 
�	��
���
4��
�����	4	����������
�
�$����
�

����
$
�$	��
�
�� ��� 
���1�
=� �� *��&� ����1�� ��� 
���
 �5��.
� ��� .�
4	��	

�	�� �� �	���
���� ���

��
��
�� ��� �
���$�
()
�&���
��� ��� ��.?1�	��� �7���=� 
��� �
���� ��� ��� .���
��=����� ���� �
�
� 
�

5��.
��
���	
���
��������	
������������

7�����
��� �1��7
�����&�������18����*��&�����$8�����


1���$�()
� �� ���	�	()
� ��� �

7��	��
�
� 

� ���� ��� �� 4���� �
� ���1��7
� ����8� ����
$
�$	�
� 

�

E�1	�
� ��� �
���$�
()
�&���
��� 
�� �
4E
�	�� ���&
���5 ��=��
�� �
4E��� 

�� .�	
��.	
�� ��� �&���� ���

	
����)
���
��4
�����
�
����N�����
�5�
	/��.������� ����.
������������.�	
��.	
���

9
���� ������ �(C��� �� .�����	��� ���

������ �������
�� � �� �.
���� ���� ��� 4�/� 
���	�
� ����

��4�
���
����
��$	�)
�����.����
���
������F�*��&G� '��	����
(�����	����	�	��)�
�*����	�+���	


�	�������	��	�����	
�	�
�����
���	�������	
�	�
��
 ��� ��

�



�

�

�
2��3����4�������������

�' �

������	�����
2
6���
�� 	����)�������
�>�)��

&���� �� *��&=� 
� �

� ��� �2�"� 4
	� ������
� .
�� 	
��
�
� ���1��7
=� ��	�
� $
����
� .���� ��

�
��
	��()
� 	
���
�� �� �����
�� �
��������� 

� ���� .�� 

� ������85	�
=� �
5�
1�
�
� �� ��	$	�����

��.���4	����������������������=�.������8���	��
=��� 	$	��������������������
���������������
���


�� ���� �	��)
� �� $	�)
�� *��	�=� ��������
�� ��5�
�� �
� � �	���
	�0
����� J
9��� K� ����$�
���� ����

	
4���
�	����������()
����*��&�����2�"G�

·  7
�
�6�26�0
����)���
�	
����
)�����)�����B
���CD
�
 �E�F����
��)�0�!!!G�P��.��)�;
0�

�2��
�	
�Q�

·  ������5�)�)
�)�����.�2������	��)��
0����'��)
��+��9 �0�����)���1!��������)����JI�� �

.������5���)
�����D��*��&�����
�	1	�	/�()
�.������
 �����	�����������.�
������F����.�
�)
�

�
� .�5���
�
� ���� ��
���� ��
������=��
�� ��	��)
� ��� 
 
��� ��� ��8�	�
� ����4
����	/�� ��

�
���()
�����4���������	�	���=�����$�/�����
�	
��4� �	��
�
��
�����5���
�
����*�
��
�

��� �

.���()
� .��
� &�%�%%&� �
�
��� �� *��&� 
���� �	��� ()
� ��� 5��$�� ������	��1�	
�

4	
�
��	�
�� #
	=� �� �

�	
��� �� ���=� ��� .�
����
� 1��� �
��� �
�.���
=� 

� �
��
�
=� 
�

	
$���	��
�
�����	/��
�����
���
��

�����2�"����1
� �.
��������.������C���.
�	�	$��=�

�

.���
�
������4��B
�	�=������
�
�.
���
���

�������
 
�.����
����������	
T�

·  ��	
�	��0
����)��
��)�0�)
�!�-?�	�� �*��&T�

·  �
6�����)���	��)��)
����+
������)����
	�
��+���)
	� ����B5)�	��2�� ��	�	���.��
�

9�	1�
���*��	
	�����	$
���#	���������
	�1��=���4��� 
���F���
�	�������
@��'�"=���1���	���

�
�&�%�%%&����>�
7
��2�+=�

���4
������
�7	�
��
��4 �
����
�
���.����
���
��.����

*��&T�

·  ��� 

$��1�
� ��� �2�"=� 
�98�
	�
�%4	�	��� ��� �

���� �. ����
��� ����	�)
� ��� �$�
(�� ����

.
���	��
����*��&T�

·  ����()
�����
	��5��.
�����.�
4	��	

�	������
���$�
 ()
�&���
���
���
4E
�	�=�.�
$	
�
��

�����.?1�	����7���=��
��
�	
��	�
�����

7���������� .�6�	�������	
���$�
()
�.���
���
��

	
4E
�	�������������
$
�$������&
���5���1����
�
��
 �
�
��
��������
�
���5�������

�	�.
�
�����&
���5���
�����6������

·  &���	�	.�()
�

��@��

5����
���������()
���
�	

��� S�3�	
��������������!���6$��a�
��

�����
(C��b�S�	
	�	��	$�����#&��:��S�����
$
�$	��
� 
����U
�V�7
.��.�6�	�
�����
�����

.
�����J �2��
�	
�%�50���.��)�;
0�
)5	���6��-�	�)�����.���	� �����
�+����
9�
���� K��



�

�

�
2��3����4�������������

�� �

Q��
���.����� �
� ���.
� ��� �
��� �� 
�5�
	/�()
�H�*�&�O =��&=���
��
� ���#
���()
���!��$	(
��

*��	
	�����	$
�I�4
	�
��.��
�

�����
$
�$	��
�
���� ���	$	������.��$	��������.��

������	$	����=�

�����

��	1������.��������
(�������.
�	()
������	�� �����	����
(��

��
��
	
�����&=���.
��
���
�

���
=��

��	1�	�=��	
�������
)
�������
�.��/
=�.��� �������	
�������
��1	�	�������$	�	1	�	�����.����

��*��&=��
���
�
�
�5�
	/�()
���.��	��	/��������&��� �

*� .�
����� ���4

���� ���4	
�
�	���
�
� .���� .�
>��
�� 

�E�1	�
� �
�&�� ��� *��&� +
�0���5� ��

-��0�2�=�����)
�6O�����	��)�)��5��� =����

����
�
�
��
$
�$	��
�
�����
���������������� ��
���

��	$	������*��&��*���4��	�G�

·  ����
$
�$	��
�
��
�.�
>��
��.�
$��
�������(
�����2� 0�F��
	�	��	$������

$�()
�

��.���
���
�	��
�!
�	��=��	.
�
5	�����
.���()
���.� �	��()
�.����
��
$���	��
�
�

!
�	������	
	�	��	$��&
���5����

$�()
�!
�	��� � ����B
���R7
�	�.���)����
��)�0S� �*��

��	$	������	
���
�����
�����
$
�$	��
�
�������.�
>� �
�����	
��������

$��1�
����

�2�"��

·  *.�
$�()
������
�	��������.����
�����F�#�
��()
���� 
�����Q��1�
V	�
�������(
����

�2�"� � �J�
��	/��K��*����	$	�������	$�����	
��	
�����1�	�� ����2�"���
�
�����������

����	
��
����

$��1�
��
�����
��

��

·  ��
�	��������
� D
2��:�	�2��D�5)O6
2"
��
 ��2�"A���.�
�
$	�
�.����%&&��

·  ��
�	��������
��@�&�8�	
��	B
�	��
�����
��=�4	
�
�	 ��
�.����#�
��()
�����	
�&	
7
���.����

�Q����� � �R7
�H�2���L����>=
�S ��

·  ��
�	��������
��@�&�8�	
��	B
�	��
�����
��=�4	
�
�	 ��
�.����#�
��()
�����	
�&	
7
���.����

�Q����� � �R��5+���+����+2������
���.��
��S ��

·  ��
�	��������
�&�%�%%&� � ���$	�)
��
��*�
��
���&��
	�1�����*$�	�
�H0���
�	�� ������

��1���	���I��

·  ��
�	��������
�&�
5������������c ���V��<�
���	�����	
�	$	�����.����4	
�����

�.��
�	/�5��� � XT��
�-�22�P�
0+�)
��0
�������	�0�����+�������6����� @5�2�-�	���� Y��

·  &�
>��
���1���	�
�.�����D���
�.�
5�����*�����	���&� ���
��

7��	��
�
����#�
��()
�

���
�����Q��1�
V	�
 �� �R!�����5��8
��!�	�>6
��S���

�



�

�

�
2��3����4�������������

�+ �

����:6�25����)�����6�)�)
�

�
� �

� ��� �2�"� .����
���<��� ���� �

�	
�	����� �
� ��� 	.����
� ��� .��

� ������85	�
=���	8
	
�

�2�+<�2�"=���
��
�
<�����	��	����
��������$	�)
���� *��&������ ������
��&�
����
������$���*�����

���������
������������������������������� ��
�
�������������
 ����� ��&�
����
�
����.

�������.���

���4
����.��
��F������	��)
�J&�������	�
(��=��
���� �4����	��=���	��
��4����
bK=���*��&���4	
	����

����������85	�����,�5��
�����	�
�=��
�.����
������� ������	

��
���
�����	G�

��  ��!"�� �N�1!U��! 1���

��  !1 H�VW �

��  DID$:1$�#!�!7�7:�

&� # �D���X$!��D�

*
���� ��� ������ ��4��	�
�� 
�� ��

���	��
�
�� ��	�� ��� �$�
���� .���� 
� .���
�
� ��� �
6�	��=�

	�.
���� ����(��� ���� 
� �

� ��� �2�"� �
������ ��� �	��
� ������85	�
�H�2�+<�2�"I�� ������4
���=�4
	�

.
���$���F�*��&=�

�������
��
��

=���4���	�����
�� 	�������������������()
��
��

5
���������	8
	
=�

��4
�(�
�
� ���	�
� ���� �)
� ��� ����� .
��
�	��	������ � � .����1�
�
� ��� ����� 
.
���
	������ ���

���7
�	��� ������ ��
�	�
=� 4
	� .
���$��� .�
������ F� �� 4	
	()
� �� ���1
��()
� ��� ��� 

$
� &��

�

������85	�
�H�2�2<�2��I���

&�������������
���	�
�=����)
���4��	�
��
����

���	 ��
�
����	������$�
�����

� �



�

�

�
2��3����4�������������

�0 �

:�9�������!"�� �N�1!U��! 1����

·  �2����)
���05��	�����!��
��� ��� �2����)
���05��	�����:9�
���� S�

��

�����2�"�

.�
�����
����������$	�)
��������.��()
��
��.��

��� ���
��
	��()
=�������
�.��

����

�
��
	��()
�	
���
�=��
��	
����)
��
��4���
�����1
� ��
��

��

�����2�0=�������
�

.��

�����
��
	��()
������
��������.�
����
�4
	���� �
$
�$	�
��
��
��.
	
��������

��.���������

����
�	�������
���*���������������
�� 

5
�����2�"=���*��&�.�	
�	/
���
�
�


�.��

�����
��
	��()
������
�=�

�������
����
��
� ��
(���
�
��
�

$
��	������

*��&�HLLL��
	.�.�I���

·  7
-�������)��
���5�5����J� S� �
�������#�
(C����.�
$��
���2,A��A�2�"��

·  N
�����)
�7
�
0+
��� G���	��
�.����
�.���	�
�&��

�������85	�
��

�

:�9�����!1 H�VW �

·  &�
>��
��	
���

���������
$
�$	��
�
G�

o #!��P�#�2���)
�!)
�����1!�� S����1
��()
��
���5�����
�
�3�*��
������4	
	()
����

4�
(C���������������
�������
�
���������

��	������ ����

·  D5.0
��)�����	��)�)��5��� �S�.�
>��
����.��<	��
�	4	���
���

·  &�
�
�
�
������1����	�
�G�

o �����	�2��)
���2�.�������!�����5	����2�	�0��� �)
0� )������	32�;���

����5;5
�
� �

o �����	�2��)
����+
������	�0���!�����5�����2���	��	� �)
�D������0�P�:�	�2��

D5+
�����)
�:)5	����� �

o �����	�2��)
����+
������	�0���:�	�2��D5+
�����)
�D� A)
�)����2���	��	��)��

����� �

o �����	�2��)
���2�.�������	�0���!�����5�����2���	��	 ��)
��
�����P�:�	�2��

D5+
�����)
�D�A)
 �

o ����52���	Y���;�

0
���,���� +
��D�	�
�Y���5)������ �EI	�?����
�D��6��F �

�

o ���0�2�=�)�����5����=�����	�0���:5�2Y��)�+�������)5 �����+�����5������)��0����

��+������)��6
�������;2
����)��N5���C��O��	����
	�0 
�)�)���
0�!��
�6
�����

��
	�	
����!�-?�	��%�50�;5���+����+��-���������G �



�

�

�
2��3����4�������������

�" �

�

:�9�����DID$:1$�#!�!7�7:�

·  !0+2
0
������� )�� "��5�2� )
� ���	
)�0
����� )
� N
����� �����	
��� G� ��	��
� .���� 
�

&���	�
�&��

�������85	�
�

·  �
	�	��	$�������
5��	�()
����������
� %�

o ��0+�����)
������;������!�D������

o ��0+�����!����

�

:�9��&��# �D���X$!��D�

�����	$���
�����������	�
�������<���.��������	����� ���
����
���������	
��*
��	�����*�	$	������

��� ����� ���������� ���� ��� �
�

����� �	�.

�$�	�� .��� � �

������ �� 

��� �

���� �� 	
4
���()
�

�����7�����������������.��	4	�	�������������������

�

� �



�

�

�
2��3����4�������������

�2 �

%�����������5�	
����	
���	/�=��������
�����
�	���	$ 
�=����	��������
�-�0>2������@5
0����1!��

)
5��
�+�������� ����)
�������.
0�	�0�����+����	�+�� �
������ �-
�����-��0���6�� ��*�8���	��
=�


��� ���.
����� 	�	
���
���� �)
� ���18�� ��4��	�
�� ��� /0Z�� �
�2�=�)�� =� 	
�	���
�� �
� ���1��7
�

����	/��
�.
�����������	.���

���

����
��
�����	�� ������	�
(�����4����	�����

����
��
=�.
���������

�����������1������
��	
4
��� ()
���	�������7��������������������

6����� ��� 	
���$�
()
� �� �
�

����<��� �	
��� �	�.

�$� 	�� 
�� �������	
�� ��� ��	$	������ ��� �2�"� ���

�������������������������
�������.��	$��	
4
���()
� ��	�������7�����

�

�

�

�

d �"' 4
���
�
� H�

I
d �, 
4����� 4
����	$��
d � 

$�� 4
���(C��

���0����

d ������	�
(�����4����	�����
�.�
7����
d ,,�2�� V�e�

��!�7H

d ""����	�
(�����4����	�����
�.�
7����
d �2'��0��V�e�

!� ���0.��

d �'����	�
(�����4����	�����
�.�
7����
d 02��"��W�e�

!���6
���

d '"���	�
(��

��
	�


d '0���	�
(��


��)�0�)
�!�-?�	��



�

�

�
2��3����4�������������

�� �

�
������	/����.�	�
�F����������� �
�����)
����0���� =������4
	�
���5�
�
��

����������*��&�

����
$
�$������&��

�*
�������#
���()
�����4	
�
�	� ��
�
������

��*.��������

��

�����2�"=�

�

�������
�������	5�	����	�	
�	()
�

�
?���
����4
 ���
�
�������

�=�
����(C������4
���()
�

����
$
�$	���=� �� ��
�
� ��� �	
7�� ��� �

��� 
� ��4��	�
� �
���	
���
��=� 
� ��
��
� ��� #
���()
�

���7
�
��
�
�$����
���������
�	��
�
����

*����������� !�����0.�� ���
�8������
�B
�	����� �50
������;��-�	���6��)
�	��������
�-�0>2����


0��	�0+����0
����� �
��

�����2�"=�4
�����.
	�������	��'����	�
(����*. �������������
�B
�	��

�������
�
��	5
	4	���	$
�

���
�.�
7���
�
�����	�
(�� ���4����	��=����&��
	�1�������	/
����

��

���+��V�]��
�������
��(C��=��
�.���
�
�������	���() 
��
��
��

�����2�0��&
���
���4	���������

�����4���
������$���������()
����5���)
����

��
�
���	� �������	$�=���
�
�
�����	1�	()
��������
��

������$	(
��
�
�
��.��.�	����
��1	�	/�()
��
������
� ���

�����	$���
���F����������� !���6
��� =�
��
?���
���.����
���
���
�����<

���������
�
����

�,���	�
(�����4����	��������
�.�
7���
�
������	$���
 ����
��

�����2�0���������
�
=�.
���
��

�4	������������ 0���M0����
�)M�	���)
��50
�����
2���6�0
��
����+��� �	�2�)� ��

�
� ���� �

���
�� F� ��	$	����� �
� ��!�7H =� 7
�$�� ��� ����
�
� 

� 
?���
� ��� ��	�
(���

��
�.�
7�����H���I=� ��
�
� ����� ��� 
?���
�4�����
��� �
 � �

5
� �
� �

� .��
�4���
� ��=� 

� ����

���
����=��������	
��	/��
��

$
�����
��H ���P��A0
����5+
��������)������)
����' �S��"I��=�.
��


���
� ���
=������� �4�����
��.�
����
�� ��� ����� �
� ���$ 	(
�H�&�P�0���� �2����@5
�
0����' �S�+I���

���
�	()
� .���� 
� �@� ��3�H �[� S�6�2��� �;5�2� ��� )�� ����)
� ���' �S���I�� �
� �
��
�
=�4���
� ��� ����

�.�
�	��()
� F�� 

$��� ��5���� �
� ��.����
� 

$
� ��
��
 � ��� �

.���()
=� 
� ��

�� 
?���
� ���

��	�
(����.
	����� 
)
��	5
	4	�����

�� ��
�.�
7���
�
 =����� �	�� ���� ����������()
��
� �.
	
�

.������
� �������
��� ��� ����� �
���	������ �	��	
���G� *��
�	 ��
�
=� *�
�.�
7���
�
� ��

���1	�	��()
�!
�	�����*��
�	��
�
���*�
�.�
7���
�
�!
� 	���.��$	�����

�

$
��
��������
�
�

�
� �**�&��� ������ �
�
=���� ������� �	���(C��=�
� ��
�.�
7 ���
�
� ����
�
�=�4���
�$	��$��� 

�

����
�
��������
��(C���4�	����.�������	.���
��

5
�� 
��

�����2�"�H��	��"�"2��V�]�I�� �	������

$�/=�

�������
� �
� �

� ��� �2�"=�
��*�&�O�
)
�$	���� ���� �	���()
����
�$	��� �
�� 
� �
��	���
� ���

!�5���
(�� !
�	��� ��1
��� ��
7�� ����
$
�$	�
� �
���� ��� � 	�	5B
�	��� �
�	�	������ .���� 98�
	��� ���

*�
�.�
7���
�
��
���!!�����
	�1������

[��
�
�F� ��
	�
 =�
�
?���
������	�
(���8�	�B
�	�
��
��
��

��
���	
�� �
�
��

����B
�	���
�

����
�
������.��	����=��.�
$��
�.��
���!!�����
	�1�� =�.�����2���	�
(�����
��

� ����2�"=���



�

�

�
2��3����4�������������

�� �

4����B
�	�� �8�	��4
	� ��� '"� ��	�
(��=� 0���
�)���
� �� �
�)M�	��� )
�+��	5��� 
2
6�)� T� .
�� 
���
�

���
=� ��2�����)
�
�+
����50
���5 �H,��P�	�0+�����6�0
��
������' �S��"I���

%�����
���������
�� +
�0�����0�����6�2�)�����+��+�����)
��50
����)
�	�+ �	�)�)
�)����
	�
�

+���� [�� 	������� =� �.����
����� �
� ��
��
� �	���	���� ��� !�5���
(�� !
�	�� � ��� �
	�1��=� ��� .�6�	���

�����������1�
�����2�0��*���������/��1�
�����2�"�$	� 
���

����	/��������$	�)
��
���
��
����

�

.���()
=�.����
�
���������1��
5��������	�
(����
� 	
$8������+���	�
(����1��
5	������8��
�)
���

%�
��)�0�)
�!�-?�	�� =�

��

�����2�"=� �+�
�
����50��A0
���)
�-�
@5M�	���)
�	��������05��� �

�
0
2����
����)������)
����' =�
����>�=�'0���	�
(���Hc����	�
(��I����.
������4��	 �����=������$�/�

��	�=�8�

���	
��������4����	���
)
�
.����.����4����B 
�	��������	�
(���

�D���	������
4E
�	�����

*��&�.��
�4���
����
)
���	��	����
��
�����

.���()
= ��	���()
����� ��������/�
����
4�������	��

��

��	���.�������4����	����

&���������
���F����	$	�����������	

������
��
��,�� 	�
��������85	�
�����*��&=�4
�������18��

����	/����� 
������ 	
	�	��	$��� ���� ��	�
� �

��	1������ .���� 
� ������
� �� �����	��
�
� ��� *��&=�



�������
��� ��8
�� )
� 7�652;����� )
� #���� ��O��	��� H
�����
��+��,������� ��� ��������


�����
�
�����
�������������
��������������������������'���� �������
�����������
��������������������

��� ������ I� �� ��8
�� )
� ��05��	����� +���� �� :9�
����� H��+��� ��� ���������*����,� �����$������

�����������
�������
������"�� I��*�*��&�.���	�	.
����	������$�/�
����	()
��
��$�
 �
� ���0.�����

#���	�� =����.�����	���
����*&&�=�����$8�����.���	�	.�()
��� ����	�
(�������4�����
����������7��

�� 
�D���	�� ��� �
4E
�	�� 
��� ��	$	������ �	
��	/����� . ����� 
������ 	
��	��	(C���� �
�
�7�1	����=� �
�

�

5
��
��

��2�"=�.���	�	.��
��
������
	C������.�
 5����()
�������
$
�$	��
�
��������$�
�
���

�

��&���2>��	��)
�!�6
���0
�����

*�5���)
����*��&��

�	
�������.�
�����
�4���
�������� 	
��.��������������	$	���������4	
�
�	����

.
�� 
�5�
	��
�� ������	��� ��1
��� �	
��� ���� �.�	��()
� . �6�	��=� �� .�1�	��()
� ��� &
����	�� 
@�

�"�A�2�����������������1�
�������5����
�&�
5�������� *.
	
���[���	4	��()
�!��&�=��

�	
����	
���

�����.�	��()
�.�6�	������5�����<�����5����������()
�� 
�
�$������.
���	������4	
�
�	���
�
�.������

�&��� !��� 	
�	��()
=� ��8� F� ����=� �� �
��	��	()
� �

�	
�� � �� ��
���� ���� .
���	��� ��� �

��
()
� ���

	
$���	��
�
� ��8� ����	4	��()
� ��� �	���()
��&
�� 
���
� � ��
=� 
� ��
��
� ��� �

.���()
� �
� �!!� .����

���.
���� �
�	��� ��� ����7��4
	���$	��
� ��� �2�"=�.��� �
�
� �� �1��
5������ ��	�
(���� ����� ������()
�

�	
�����	������5���.�������=�
����.���	���
.
���
	�� ��������
�	������=����E�1	�
�&�%�%%&=�



�

�

�
2��3����4�������������

�� �

�� *��&� .
���� �
�	�	���� ���� 

$�� ��$	�)
� ������ ��
��
 � ��� �

.���()
=� .���� ��	�� �'� ��	�
(��=�

.�
$�
	�
��� �
� ����5���
�
� ��� ��.��	����� ��� ��4��	��� ���.
����� ������ �
�
=� ��	
5	���
�� 
�

4	
�
�	���
�
� .��$	��
� ��5����
��=� .���� 
� ���
� �6�	�
� � �� 02^� �
� �
���� ��� ��.��	����� ���

���.
�����
�	�����

�

�����
	5�����J50�����

*�*��&���
�8��
����������
����.���
����	���	1���
�.�� ���$6�	���������������

��� ��
	�
�
����
��)�0�)
�!�-?�	�� ��

�	
���
�����

�����
��
��.
	
����$
��
�6�	
��.���� ��

�	
��	/�()
��������	B����.���4	�
���&����������������� ���=�

�	
��	
��
��

����	$
=�.����
���	
���

�

���� �
�� 
� �.
	
� ��� ���� ���	�	��� ��� ���$	(
��5��� 	�=� ����$8�� ��� ���	��� �

����
� ��.��5
<

�
���()
��.����.�
$�()
������
�	�����������	/����>�
 �
��
���#&��

&

������
��=�$��	4	�����<��� ��1��	��	(C��� ��� �
��1
�� �
���� ��� �	���()
� ��� ������ ���*��&�
��

����	���()
�����	��
(����������
	����������������
�= �4
�������.���5���
�	���������1��	��	(C����

��.
���� ������$��� ���� ��� ����������� ��� �&�=� �
�� ��	
�� 	
�	�B
�	�� 
�� �&� �
	�1���

�
�.����	$���
����
�����&�*$�	�
=�

������	/����.�	� 
��
�������������
��7���

�=��B��$	
�
���

�.����
���<��������$�/���	����4	�	�6�	��=�
�����	���� ������
�
?���
����.�
4	��	

�	��
�
���4
	�

����
���
� �� 
)
� ���� ��
�.�
7��
� 
� ����
�
� ��1���
�	��� ��� ��	�
(��� ��� �.
	
�� �����

�	����.E
�	��>6�����$	��$���.����
���
�.�
7���
�
�� ���+2���	�
(����

4
����.��$	��
�

���
��
�

��� �

.���()
� ����1����	�
� �
�� 
� �!!� ��� �2�2=� ��
�
� �������
��� �	
��� ��	�� ����(���� .��
�


?���
������	�
(����������
�������.
	
�H""����	�
(�� I=��	���()
�$��	4	�����
����������������&�

�
	�1��������&�*$�	�
=�.����
���
�.�
7���
�
�����,2� ��	�
(����

4
����.��$	��
�

���
��
����

�

.���()
�����1����	�
��
��
��!!�����2�2=����)
����� ���
�������.
	
��'����	�
(�����

�

�

�

�

�

�



�

�

�
2��3����4�������������

�, �

�����5�	��=��.����
���
����������
��
�����$��	�(C��� 
��������8�	�G��

�
	5������50����� ����� ���'� ���<� ���[� ����� ���&� �����

1�\�
	�2�.���)��
��
���-���2�)��
+
�>�)��

�� �<� '�� ',� '�� ''� '2� '2�

�
�-�2�
�O����

 �

������'�
�

��

�� �� �� �� �� 2� '�

�
���������,'�
�

��

&�� ,�� ,�� ,�� ,+� ,�� �0�

�
����,�����'�
�

��

�&� ��� �2� 0� +� +� +�

 �	������'�
�

��

�� 2� 2� 2� 2� 2� 2�

�������8�	��
�
��1
���
����

����[� �"=��� �+=0'� �+=��� �'="�� �,=0�� �,=�,�

N��
���
-
��
� � � � � � � � � � � � � � � �

 ��7���� � �&� ', � '� � '� � ', � ," � ,0 �

N������	�0����
	�2�.���)��
��

9
��� � �'[� ��&�'' � "�"� ++,="' � "�,� 0'2=�, � 00�� �0�=�+ � 0'�� ���="2 � 02�� 2"�=�" � +�,� '�0=+' �

 8�	��.
��
�
��1
���
��

�<���&���� �+���+=,� � �+����=2,� ���",+=0�� �'�'�0=,2� ���2��=0+� �,�,"2='0�

�

��[�D��5����������0����2�

*��	���()
�.���	�

	������*��&��

4
����1���
(
=��$	� �
�	��
��������
��
1�	�
��H.���	$
���4�
�
��

.���	�

	�	�I�����4
�����
�
�������������
��4
�����. �	���
�=�H��	$
I��

*����
����	������	������*��&���5	��
��

��

�����.��( 
���������.���()
�����0�222����
��4����

�
��

��
���	
��������	$���
����
�4�
�
������
�	
�<�� �.��	��������������.������������5�����

��������	$	������
��

����	����� ������
�.��/
�<���5	 ���������������
� 
�5��	$
����� ��.����
���

���������	��1�	
�.���	�

	��=����=��	
������	�=��	5
 	4	���	$���
�����

��4�����
���5	����
����

�2�0��O��	4	��<�����������.���()
�������������"'�22 2����
��4�����
��

����
���
��

�

�

�

�



�

�

�
2��3����4�������������

�' �

#�2������5�	����2� ����� ���'� ���<� ���[�

*�	$
��
)
��
���
��� � � � �'����2=�' � �+���,�=+0 � �"2�,"�=�, � �+2���2='" �

&���	$
��
)
��
���
��� � � � 2=22� 2=22� 2=22� ,��0"=�0 �

#�
�
��.���	�

	�	� � � � �'���,'='0 � �+��+�,=�, � �",�0,�=,' � �+��,2�=�� �

#�
�
������
�	
� ,�f���c���<� � <,�00,='+�
<�22�

,��=',�
,��'2=��� ��2�++�=�2 �

��	��������	$���
����� ����	�� � ' � ����+'0=�+ � �2��2�'=0" � �,+�"�'=�� � ��2����=�� �

��$	���4	
�
��	����
���
�� � � � 2=22� 2=22� 2=22� 2=22�

9��
����	������	�� � +�f�'� <�� � ����+'0=�+ � �2��2�'=0" � �,+�"�'=�� � ��2����=�� �

������	����������	���� <������
������	$
��

�
���
����
0� �� �� �� ��

������
�� ����	� 
�� <� �����
���� .���	$
��

�
���
����
"� �� �� �� ��

������	���������4�
�
������
�	
 � �2�f�0� <�" � 2=22� 2=22� 2=22� 2=22�

�

��� ��5�	��� �.����
���
�� ��5�
�� 	
�	���
���� ���� .���	 ���� ���	�� 
� �����.�
7
� �
� 
�$��� �
�

���	��1�	
� 4	
�
��	�
=� ���


�	��4	
�
��	��� �� �	��	� �/� ��� *��&� 

� ���
����� �
��?��	�
�� �����
�

�

���

�

���	��1�	
�4	
�
��	�
�������
<.��/
�

�����	
�	���
�=�	5�����
����

7��	�
��
�
�N	��	��/�Q� ���=���4������� 	�+�	�)�)
�)��:���)�)
�+����

+�;���)>6�)���)
�	5����+��=� ��

 ���� � ���' � ���< � ���[ �

N	��	��/�5���� � 2="+� 2='+� �=2� � �=+,�

�

�
�
� 
�	
�	���
��8�	
4��	
�� ���=� ���1!��)
�9��)
� �+�
�
�����50�� ���5�����-����	
���� )
�	5����

+��=�� -�6��O6
2 =� .
	�� 
)
� �	�.C�� ��� ��	$
��4��	���
��� �

$����$�	�� � �� ��.	����H��	$
�� ��� ��	
��

�	��	��/I����$��
����.��	
���
�$��
���
����������$	 �����������
�.��/
��[��
�
���	
��
���������
����

�	$	�)
��
����*�	$
 ��
���
�� ���&���	$
��
���
��=����7
���� �	���()
�4	
�
��	��� ��� � ���
� .��/
����


�5�
	/�()
��*��	��	��/�5�����.���	���$��	4	������� ���*��&�
)
������	�.

	1	�	�����.����.�5����
�
�



�

�

�
2��3����4�������������

�� �


�����.���	$
������	���.�
���"+^��
�����
��9��18��� ����	
�	���
��.���	�
��������.����
���

�����$
��()
�4�������2�0��

�

�

�

���	��1�	
�#	
�
��	�
�����8�	
<�

5
�.��/
�

*��	���()
�������	��1�	
�4	
�
��	�
�����8�	
<�

5
� .��/
�
�
�������
�
�
����.	��	��.����
�
����

H��.	��	��&��.�	
��c�&���	$
����N

5
�&��/
I��)
�	5 ��	��
����.��	
�����
��*�	$
�����N

5
�&��/
���

[��
�
�������	���()
�
)
�
�
���=��	5
	4	���������
� 5�
	/�()
����6�������	�	1�����4	
�
��	����
���

.
����������4	
�
�	���	
$���	��
�
������8�	
����

5
� .��/
�H��	$
�
)
��
���
��I=��
����.	��	�����

����
�.��/
�H.���	$
��
���
���I��

�
�2�" � �2�0 � �2�+ � �2�� �

���	��1�	
�4	
�
��	�
 � 2="0� 2=�� � �=2� � �=,� �

�

*�*��&��.����
������� ���5�����-����	
����)
�0�)���2��;��+��=��@5��
�
@5� 2�.��)� ��.��������
�

	
�	���
���.����
�2="0�����	
4��	
�������!	5
	4	��� 	��
=�������
�5�
	/�()
�
)
����6���4	
�
�	�����	$
��

��� �

5
� .��/
� �
�� ������
� �
�� #�
�
�� &���	�

	�	�� 
 �� �� ��$	���� ��� �

5
� .��/
� �� ���6� ��

�

��	1�	���	������
���.���������	���()
����N	��	��/� Q��������4�$
�6$����	
��������	5�	����

�

*��


�	��4	
�
��	���

������6�	
�.���	����.���	����������.����
��5���8����� �����6��)��!�����5������
�
�	���������
��

-����	��)��+���	�+������+�3+���� ��[��
�
���	�����$��
�4
�������	
�	���
����	
����.�
 1�1	�	�����

��� ���� 
�� ��	$
�� ��� *��&� �

�	5��=� ��� ���
� ��� �	��	� �()
=� �
1�	�� �� �
���	����� ����

���.

��1	�	������ ��� 	
��	��	()
�� �����	$���
��� �
� �
 
� ��� �2�0� ��5	���<��� ���18�� 
�����

	
�	���
����������.���()
��	5
	4	���	$���

 ���� � ���' � ���< � ���[ �

*��


�	��4	
�
��	�� � ��^ � ,�^ � �,^ � +�^ �

�

!
�$�1	�	�����

����� �6�	
� 	
�	��<

�� �� 	�+�	�)�)
� )�� ��;���=����� -�=
�� -�	
� �� ��)��� ��� �
� +����.�2�)�)
��

���50�)�� � H��$	���� �� ����
=� �8�	
� �� �

5
� .��/
�I�� ����� 	
�	� ��
�� �$	��
�	�� ���	�� 
� 5���� ���

	
��.�
�B
�	�����
�5�
	/�()
��������()
��
������
�� ���[��
�
���	
��
�$��
���������	$	�)
=���	
��



�

�

�
2��3����4�������������

�+ �

��	
��.�
�B
�	��4	
�
��	������
�5�
	/�()
���
����
� �

����
���5	����
������5��
�����1	��=�
�

�
1�
=�������


�	��4����F��	���()
�.���	�

	����.���� ��

��

��
���	
��
������$	��
�	������

��

����.�
�B
�	�������.	��	����7�	
��.����4	
�
�	�� �����	$	������

 ���� � ���' � ���< � ���[ �

!
�$ �1	�	���� � �='" � 2=+,� �=+,� �=,� �

�

:���$�/� ���� 
� $��
�� �
� 	
�	���
��8� ��.��	
�� �� �=�8� .
���$��� �

���	�� ���� �� *��&� ��	��� ��� ����

4	
�
��	����
�����.�
��
�������$�/������	�.C��������� ��
��.��.�	
�� ���$��
����.��	
�� �
��
�

.���	$
� �
���� �

�����
�� ����� �	���()
� ��	��� ��� �	�	�� �� 
� .
���� 
�5
�	��� ��� *��&� >�
�
� ���

4	
�
�	��
���� 
�� 4
�
����
���=� ����� �����	$���
��� F� .
��	1	�	����� ��� �

���	�� 

$
�� ��8�	�
�=�

�����
��
�5
�	�()
��
��.��/
�����.�5���
�
���4
�
��� �
����
�������	�
���

�

��<�����	�+�������	���
�!�	
��
=���

���	���)
��
;52�0
�������

%���	��
�����������()
�
����5�����
��()
�������	1�	() 
������1���	
�=�.
���)
��4�������5���)
����

*��&�
�����	��������������	
�	�������������	$	����� ��)
�4	
�
�	�����.
��
�5�
	��
��������	���

���	���-����	
�����

%��	��
�����	��	��/����6���.�
��
������������()
������ 5�����
��()
������&=����	5
�����
���

�

�������.�	���F��

�����()
����

$
���8�
	�
��
�������$� �	4	���<��=���	5	�	����4
�(
�4	
�
��	�
���	
��

���
)
���
�.�
7��
��
��
����.

��
�����1���	
����!�5 ���
(��!
�	����%���
���.��
�
)
���

��

	�.
���
�������������

����)
������
�����-:���������
�$ 
�������������1	�����=�	�)
��

��	1�	��

4
�����
���.����
�������	��1�	
�4	
�
��	�
�����
��	��	 ()
��*�.�
$���	��
�����
�8�
�	�.���
�
���

�

�����������

���������8�	�
����+��222����
����	�	 ������4�$
�����*��&=���.��5�
�
�5���
�����

�2�0�������2�"=��4��������
�
��
��	
�	���
�������5� ��)
��1
����
��

��	��
���
���	
�����

�

��'�D��5�����������.5��6��
����	�2�

�
�� ����
�� �� .���� 
�� �4�	�
�� �
� �	�.
��
� 

� ���	5
�� � �@� �
� ������
<N�	� 
�@� '�,A02=� ��� +� ���

�
$��1�
������	5
����@��
�������
<N�	�
�@�,��A"�=��� ��+����%���1�
=��������<���������*��&�
)
�

������$	��������
����
������
=��������
��������	��	�� ()
����	�.
��
�=�
�������

��	1�	(C���.����

��!�5���
(��!
�	��� �



�

�

�
2��3����4�������������

�0 �

�

������	�����
2
6���
�� 	����)����+3�����
�0��)���
� >�)��

����2�"�����8�F���	��)
��
�.����
����������	
=�
)
�
� 
�������4���
������$�
����.�����	$��5�()
��

�

������
��+
��6��)
�:6�25����)��:���)�)
�

*�*��&���.������
����
�����
�
�$��������	$	������
�� �

���
���	
���=�
)
����.��$�
�
���������

$��B
�	���>6���	���
����
����	���

$���$��B
�	����

�

��������+�����)
��+2�	�����)
��
�52��)���

�
��������	
��
���
��=���5	��
�<��������������
���� �	�
� +�����6��)
�'��[����&� ���
��.��
����=���

�	��()
����*��&=�.�
.C��F�*����1��	��Q���������5�	
 ����	���	1�	()
G�

�I�&������������
�����
�	���
�=�
�$��
����� '��[����&�:5��� ��

� �



�

�

�
2��3����4�������������

�" �

����� %�!9�*gh�!�#��*�����*!�

�����5�	��=��.����
���
��������

����(C���4	
�
��	�� ��

�E�1	�
��������#<�!�N��

����#�2�����

#�2�����
0������������
����������'� � I��)�)
�0��
�O����:5���

�I#�!��D� 1�����
��
�>�)�� �

���� � ���' �
��$ !H � �� �� ��

���6������	���
��
 � �� �� ��
*�	$
��4	�
����
5�$�	�� �� �,��"��=�� � ��'��,�=�, �
&�
.�	����������	
$���	��
�
 � �� �� ��
*�	$
��	
��
5�$�	� � �� '�2�'=+2 � ��
�
$���	��
�
��4	
�
��	�
� � �� +����=�� � +�222=�,�

�� �� �'����2=�' � �+���,�=+0 �
���6��	���
��
 � �� �� ��

��8�	� 
��������1�� � �� �,�'�2=�� � ���2,"=�' �
*�	�
����
�
����4
�
����
��� � �� �� ��
�����
���
���
���
����.?1�	�
� � �� ���2"=++� ��0""=�� �
�	4��	��
�
� � �� '��+'=+, � '�,,2=0� �
��	�������.��	�
��1�
�6�	
� � �� ����+'0=�+ � �2��2�'=0" �

�� �� �'����,=�" � ����,�'='0 �
$���2�)����$!H � �� ,2"�,",=,, � ,2,�'+�=�� �
�I17 D���$�!" 1!�!D�:���DD!H � �� �� ��
�I17 D���$�!" 1!�!D � �� �� ��

#�
�
� � �� "+�2+�=+�� "+�2+�=+��
�����$�� � �� '"��0+=0" � '"��0+=0" �
��������
�����
�	���
� � �� H�+���+=��I � "��,0�=0' �
%������$��	�(C���

��4�
�
��

.���	�

	�	��
�� ,��222=22� ,,�222=22�

�
�52��)��2>@5�)��)��+
�>�)� � �� 02����=�, � H�����2"=��I �
$���2�)����5�)��������0������ � �� �'���,'='0 � �+��+�,=�, �

�� �� �� ��
��DD!H � �� �� ��

�����6������	���
��
 � �� �� ��
#	
�
�	���
�
��
1�	�
� � �� �� ��
%��������$	������.�5�� � �� �� ��

�� �� 2=22� 2=22�
�����6��	���
� �
 � �� �� ��

#
�
����
��� � �� ��'�2=2� � �"���0=�+ �
�����
���
���
���
����.?1�	�
� � �� ���'��=�+ � �,�"'"="� �
#	
�
�	���
�
��%1�	�
� � �� �� ��
�	4��	��
�
� � �� �� ��
%���
��.���	$
���
���
��� � �� ��"�20�='� � ��0��,"=0� �

�� �� �'0��,0=0� � ����0�0=�� �
$���2�)�������6� � �� �'0��,0=0� � ����0�0=�� �
$���2�)����+���2���3+����
�)�������6� � �� ,2"�,",=,, � ,2,�'+�=�� �

�



�

�

�
2��3����4�������������

�2 �

����7
0����������)
��
�52��)���
�

7
0����������)����
�52��)���+������5�
=���)��+
�>�) ��-��)��
0�
�����������
����������'�

� � I��)�)
�0��
�O����:5���

�:17!":1$ D�:�N�D$ D� 1 $�D �
��
�>�)� � �

���� � ���' �

�� �� �� �� ��
O�
���������$	(
��.������
� � c� � �"��20+=�0 � ����,,�=", �
!�1���	
�=��
�(C�������5��
��F���.�
��()
 � c� � +'0�,',=�� � +����0+='2 �
O��	�()
�

��	
$�
�6�	
�����.�
��()
 � cA<� �� �� ��
9��1��7
��.������.��.�	���
�	���� � c� �� �� ��
����
����������� 
�	���$�
�	���������8�	����

���	��� � <� �� �� ��
#
�
��	��
�
�������$	(
�������

� � <� �� H�,0�"22=+�I� H����0+�=02I�
Q���
���
��.���
�� � <� � H"0��"2,=00I� H"�"�++,="'I �
*>������
�
����	
$�
�6�	
��H.�����A��$���C��I � <Ac� �� �� ��
��.��	�����������$	����������1���H.���� �A��$���C��I � <Ac� �� H0'0=��I� ��
&�
$	�C���H����
�
�A����(C��I � <Ac� �� �� ��
&�
$	�C�����.���4	����H����
�
�A����(C��I � <Ac� �� �� ��
%������	�.��	������H.�����A��$���C��I � cA<� �� �� ��
*���
�
�A����(C������>���
�$��
� � cA<� �� �� ��
%���
����
�	��
�
� � c� �� 0"���2="" � ����+ '=�2 �
%���
��5���
� � <� �� H'�0+,=�2I� H��"+,=,�I �

�
�52��)�����
��)
�)
+�
	���8
���;������)
�-����	�� 0
����
�
�0+����� �

]� �� �2����,="� � H�2��0�+=�+I�

Q���
�A��$���C��������.���	�()
��������
��	/�()
 � <Ac� �� H�2�0'2=�"I � H�2��00=+'I�

�
�52��)���+
��	����2�E���
��)
� ;������)
�-����	��0
����
�
�0+�����F �

]� �� 02�+�,=+, � H�����2�=,�I �

D��
������
�	��
�
���	�	������
1�	�
� � c� �� �� ��
D��
����5���
���	�	��������.
����
� � <� �� H�'�=,2I � H�=+"I�

�
�52��)�����
��)
��0+����� � ] � �� 02����=�, � H�����2"=��I �

��.
��
��
1�����
�	��
�
��
�.��� 
�
 � <Ac� �� �� ��

�
�52��)��2>@5�)��)��+
�>�)� � ] � �� 02����=�, � H�����2"=��I �

�

�

� �



�

�

�
2��3����4�������������

�� �

����7
0����������)
�-259���)
�	��9��

7
0����������)
�-259���)
�	��9��)��+
�>�)��-��)��
0 ����)
�7
=
0.���)
�
����� ,
�����	��
������	%���� 	

�I#�!��D� 1 $�D �
��
�>�)�� �

����� ���'�

#���
�������	���������	$	������
.����	

�	�� �� �� �� �� ��
����1	��
�
�������	�
��� � �� c� �� ��"�"�+=�, � ��+����=�' �

&�5���
�
����4
�
����
���� �� <� �� H�+����"=0�I � H�'"��""=��I �

&�5���
�
���
�.���
��� �� <� �� H�+��"0�='�I � H�''��'2='2I �

��	���5������.�����
.���(C���� �� cA<� �� H,+'��"0="0I � H,0+�,��='0I �

&�5���
�
A����1	��
�
��
�	�.
��
��
1���
�
��
�	��
�
�

�� <Ac� �� �� ��

%���
������1	��
�
�A.�5���
�
�� �� cA<� �� ,"��"20=�� � ,,��'��='� �

�259���)
�	��9��)������6�)�)
���+
��	�������������� �����������������������������
E�F�

�� cA<� �� �0�+2"=�, � H,,�0+�=2'I �

#���
�������	���������	$	���������	
$���	��
�
� �� �� �� �� ��
&�5���
�
�����.�	��
�����G� �� �� �� �� ��

*�	$
��4	�
����
5�$�	�� �� <� �� 2=22� 2=22�

*�	$
��	
��
5�$�	�� �� <� �� �� ��

�
$���	��
�
��4	
�
��	�
�� �� <� �� �� ��

%���
����	$
�� �� <� �� �� ��
����1	��
�
��.�
$�
	�
������G� �� �� �� �� ��

*�	$
��4	�
����
5�$�	�� �� c� �� �� ��

*�	$
��	
��
5�$�	�� �� c� �� �� ��

�
$���	��
�
��4	
�
��	�
�� �� c� �� �� ��

%���
����	$
�� �� c� �� �� ��
!�1���	
���
�	
$���	��
�
� �� c� �� �� ��

D��
������
�	��
�
���	�	������ �� c� �� �� ��

�	$	��
�
�� �� c� �� �� ��

�259���)
�	��9��)������6�)�)
��)
���6
���0
������������ ���������������
E�F�

�� cA<� �� 2=22� 2=22�

#���
�������	���������	$	���������4	
�
�	���
�
 � �� �� �� �� ��

����1	��
�
��.�
$�
	�
������G� �� �� �� �� ��

&�5���
�
�����.�	��
�����G� �� �� �� �� ��

�259���)
�	��9��)������6�)�)
 ��)
�-����	��0
������������������������
E�F�

�� �� �� 2=22� 2=22�

�� �� �� �� ��

H��������)
�	��9��
��
5��
@5�6�2
��
��������������� �������������������
E�F^E�F^E�F�

�� �� �� �0�+2"=�, � H,,�0+�=2'I �

�4�	�
������	4���
(�������E�1	
� �� cA<� �� �� ��

��	�������������	$���
����

�	
��	
��
�.���
�
� �� cA<� �� �2��2�'=0" � �,+�"�'=�� �
��	�������������	$���
����

�4	���
�.���
�
� �� cA<� �� ����+'0=�+ � �2��2�'=0" �

�



�

�

�
2��3����4�������������

�� �

��&���
9��

1������P�!)
���-�	�����)��
���)�)
�

���	5
�()
�����
�	����G�*��&�S�*��
�	�()
����	

���� ���
���$�
()
�&���
���

���� !���G�&�������&���D
�8�*
�7	���=�N
���'=��A�7=�#��()
 ��=��222<��"��
	�1���

��� �������/�������	$	����G�%��������	$	����������.
	
��
 �	���������
>���
�
 ��

��& �&65	
��
���
���
��G� ,,,����+�+� �

�

1������P��
-
�
�	��2�	����.�2>���	��)
�+�
+�������) ���)
0�������8
��-����	
�����

��� � *�� .����
���� ���

����(C���#	
�
��	���� �B�� �
�
� ��4 ���
�	��� �

��1	����	�
� 
� !	������ ���

�
����	/�()
� �

��1	����	��=���
�
� �	�
� ��
����� �� �
�� �� �

��1	����	��� �� ��� �����
�#	
�
��	�
�

.���� ����
�	�������
�!��
���)
�N�����	$
=������
��
�� 
��
�������
<N�	�
�@���<*A�2��=����"����

���(
���*$	�
�
�@�0�'"A�2�'=����!�������	��Q������
 � 	
	��8�	
� ����#	
�
(��=�����"����>��7
�S�

�
�����

��1	����	�������������
�#	
�
��	�
�.�����
�	 �������
�!��
���)
�N�����	$
�H���#<�!�NI�

�
�!����

��� � �)
� ��	��	���� 

� ���
����� �
� �������	
� �� ���� ���.� 	���� ������ ���

����(C��� 4	
�
��	����

���	���������
�������	

�	������	�.�	��������	������ 
���������
5�()
��������������	�.
�	()
�

.��$	����.��
�!��<�!�N��

��� �%�� �����
�
�� �

���
���� 
��� .����
���� ���

����(C���4	 
�
��	���� �)
=� 
�� ���� �
���	����=�

�
�.��6$�	���
��
���
��������	
��
���	
���

�

1������P�����	�+����+�2>��	���	����.�2>���	���

��� �3����������
����()
��������
��.��.���()
��������

 ����(C���4	
�
��	����

*��.�	
�	.�	��.
���	�����

��1	����	�����.�	������
�� ���1
��()
��������

����(C���4	
�
��	�����)
�

��� ���� �1�	�
� ��� ������$���� ������ .
���	����4
���� �
 
�	���
����
��� �.�	�����=����$
�	
�	��()
�

�

��6�	���

�

*�	$
��4	�
����
5�$�	�G�

%����	$
����
5�$�	���
�

����<���$��
�	/��
���
�����
� ����/	�
�������.���	�(C����������������

�$�
���	��.������.
��	�.��	���������������
�	
���	�
� J����
��

�	�����
K�������	
��
�F���������

���
�	()
�.�������#=���
������
��������	�	()
�.������ 	$
��
1�	�
���.��������������



�

�

�
2��3����4�������������

�� �

%�����
�������	�	()
�	
���	�
�.��(
�����
�.����
���	$ 
=�������.������	������
���	�.��6$�	��F�����

���	�	()
� �� 
�� �
���5
�� ��.
����
�� �
�� �� .��.���()
� �
� ��	$
� .���� ���� ��� �
�

���� 
�� ����

�

�	()
������	�	/�()
��

�

��	�
����A�:��
������
�������

����������1��G�

*����1�	���������	�
���A���
������
�������

����������1 ����)
����

7��	����	
	�	����
����
�>���
�

$��
�=���
�
���1�����
����
�����
���������
�����
�� �
��	/��
=�����/	�
�����>������
�
��.
��

	�.��	����=����
�
��.�	�6$�	���

*�� .������ ��� 	�.��	����� ��4���
���� �� ��$	���� ��� ����� 	�
�=� ���	5
�����
��� ��	�
���A���
���� ��

���

�=��)
��

��	����
�� ��
�
� ��� �

��� ��	�8�	
������$ ��	�()
��
�� �	��
�� �4��	$
����� �
1��
(�=�

	��
�	4	���
��

�4	
������������������	
��

�

��	��������	$���
���������	��G�

%���	��������	$���
���������	���	
��������	��=���.�� 	�
��1�
�6�	
�=�
���
��	
$���	��
�
���������
�

.��/
=� ��� �	��	��/� ���$���� �� ����
1���
�� 1�
�6�	
��� %�� ����
1���
�� 1�
�6�	
�=� ���
�
�

�

�������	/��
�=��)
��.����
���
��

�3���
(
=�

�.�� �	$
��
���
��=�
����1�	���J#	
�
�	���
�
��


1�	�
�K=����)
��

�	�����
��
�����1
��()
�������

 ����()
��
��4���
�������	��=��
�
���	�����

���	$���
���������	����

�

#
�
����
������
�������

������.�5��G�

*�� ��1�	���� ��� #
�
����
���� �� 
������ �

���� �� .�5��� � 

��	����� 
1�	5�(C��� ��� .�5��� .����

���	�	()
� ��� 1�
�� 
�� ���$	(
�� ��
�
� ���

7��	���� 	
 	�	����
��� �
� >���
� $��
�=� ��

��1�����
����
�����
���������
�����
�
���
�����
���
� �	/��
=���	�	/�
�
�
��8�
�
������������

>��
��4��	$���

�

#
�
->	����)���
0+�
;�)���

#8�	�����!�1���	
����#8�	��G�

�����
��
��
������5	���()
�$	5�
��=�
�����1��7��
���� �B�=��
�����
��=��	��	�
�������	���?��	�����

48�	��=�1����
�
�������B�������1���	
����48�	��=��	 ��	�
����������	�	�
�

��

��
���	
���
��
�����

.�5���
�
�� ������ ���.

��1	�	������ �)
� ��5	������� 

� .���
�
� ��� ���� �
�
�� 
�� ���1��7��
����

����	���� 
� ���.��	$
� �	��	�
=�	
��.�
��
����
��� ��� �� ��� �
� ���� .�5���
�
=���
�
� 
� ����
� ��

.�5�������$��
�
����1�	������J����
����.
�����8��	� 
�����5���
�K��



�

�

�
2��3����4�������������

�, �

!�1���	
�����.
	
���
�Q
$��

G�

 �
�����
��.��
�$��
������1	�
=��.���
����.�	��
�
� ���������	
������

�	(C�����	5	����.����

�� ���� �

����)
�� %�� 
)
� ����1
��6$�	�� �����	

��
�� �
�� *�	$
�� 9�
5�$�	�� �� �
��
5�$�	�� �)
�

	
	�	����
��� ���

7��	�
�� 

�� ��.	��	�� &��.�	
�� ��
� 
� .
����	
���
��� ���

7��	�
�� 
��

���

����()
� �
�� ��������
�� 
���� 1���� �	����6�	��� �� � ��	

��� ����
��� 
�� .���
�
��

�

��1	����	�
��
�����6�	
��.����1���
��6<�
���
�� 
� �5���
�� �����	

��
���%������1
��6$�	���)
�

�

��1	�	/��
���
�
�&���	$
�=�
���?1�	���R#	
�
�	�� �
�
��%1�	�
�R���

%����1���	
��F���.�
��()
��)
����

7��	�
���
�
���
 �	��
�
��
�����

����()
��
����������
��



� ����
� .���
�
� ��� ���� 
�� 5���
�� ���
�	��
�� �)
� 	
� 
��	�
�� �� ��5	����
�� 

� ��������
� �
�

�������	
��

�

��.��	��	/�()
����5���
������
�	��
�
�G�

%��5���
������
�	��
�
���)
���5	����
��

�.���
�
���� ��������4����=�	
��.�
��
����
����
�����

.�5���
�
� 
�� ����1	��
�
=� ��� ��
��
� �
�� 
� .�	
��.	
� � 

��1	����	�
� ��� ��.��	��	/�()
� �
��

�������	
���

*���	4���
(����
���� 
���

��
��������1	�
����.�5
���� 
�� �
����.

��
�����8�	�
����5���
���)
�

���

7��	�
���
�
���	$
��
��.���	$
�=���=��������	4 	�������
�
������

�

�8�	�
G�

%� �8�	�
� ��� *��&� 8� ������	
��
� .���� .�����()
� ��� ���$ 	(
�� 

� E�1	�
� ���� ��	$	������

����
$
�$	�����*�����	���	5
	4	���	$����)
G�

�I��
�.���	�	.�(C���������
����������$	(
�������	.��� 
�
���
�	�	�G�

<�����7��

<�D���	������
4E
�	��

1I�[�
�	/�(C����
�����
�	��
��

�I��
���	(C������4
���
�
������(C������4
���()
=��
 
5����
�=�L
�V�7
.�����	�	�������

�

1����&�P���2>��	���	����.�2>���	�����2�
���8
������ 
���0���6���	����.�2>���	���
�
�����

&�� �*�����(C���F��

������

��1	����	������������
�4	
�
� �	�
�

�)
����$��	4	���������	������������(C���F��

������
 
��1	����	������������
�4	
�
��	�
����$	5
��

.����
��.���
�
���.����
���
���



�

�

�
2��3����4�������������

�' �

&�� �*�����(C���
���&
���	�����

��1	����	����

�)
�4
	�	��
�	4	���
�

�.���
�
�4	
�
������������/� �1�
�����2�"����������������()
�F��.
���	����

�

��1	����	�����

&�� �*�����(C���
������	���	$����

��1	����	����

*� *��&� 
)
� .�
������ F� ������()
� �
�� .�
���	��
�
�� ��� ������	
�()
� ���� ���	���	$���

�

��1	����	���=�����.
���������	�.���
�

�.���
�
�
�� ���.���
�
��4����
���

&�&����
�����.���
�
���
���	
����

�)
� 4
	� 	��
�	4	���
� 

� .���
�
� 4	
�
� ��� ��� ��� ��/� �1�
� ��� �2�"� ��������� ���
� �����	$
� ��

�������	
���
���	
����.����$�������
���()
=������
�� 
��
��
��.�	
��.	
��������#�,��

�

1������P����6���-�9������;>6
���

����
���
��������	
�4	
�
������������/��1�
�����2�"� 
���
$	��
�
����5	����
�������1�	�����
�

��	$
�4	�
���
5�$���4
����
����5�	
���G�

�

� ��6����9���$��;>6
 �� �
� � � � �

����� � 7
�	����� � D�2)��
!��	��2�

�
�6�2����� � �50
���� � �2�
���8
� � $����-
�M�	����

��.��
��

D�2)������2 �

,��� � ���#���%!���%:9�*!�
�%�!9�:gh�!�

�"'�,""=+� � 2=22� 2=22� 2=22� 2=22� �"'�,""=+� �

,��� � �[:�&* ��9%�3P!��% � �,��'�=�� � 2=22� 2=22� 2=22� 2=22� �,��'�=�� �

,��, � �[:�&* ��9%����
9�*�!&%�9��

���,+'=22 � 2=22� 2=22� 2=22� 2=22� ���,+'=22 �

,��' � �[:�&* ��9%�
*� ���!9�*9�O%�

'��"+'=+� � 2=22� '��0�=�� � 2=22� ��22+=�� � ''��,"=�' �

,��+ � %:9�%!�*9�O%!�#�\%!�
9*�Q�O��!�

���'"='� � 2=22� 2=22� 2=22� 0,�=,� � ��0��=2� �

$����� � �� &&���[��[� � ���� � ���'�� �� � ���� � ��'���&' � &&��[���[[ �

�

7
+�
	���8
� � � � �
����� � 7
�	����� � D�2)��

!��	��2�
�
-���� � �
;52���=��8
� � D�2)������2 �

,��� � ���#���%!���%:9�*!��%�!9�:gh�! � '+�,",="' � ���+20=+� � 2=22� +2��2�=�+ �

,��� � �[:�&* ��9%�3P!��% � ���",+=,, � ����'=�0 � 2=22� �,�'+�=�� �

,��, � �[:�&* ��9%����9�*�!&%�9� � ,��22�=�' � ���0+='2 � 2=22� ,0��"�=+' �

,��' � �[:�&* ��9%�*� ���!9�*9�O% � ,0�2,'=2� � ���,�=�� � ��+�"="0 � ,0�"'�=�' �

,��+ � %:9�%!�*9�O%!�#�\%!�9*�Q�O��! � '��'0='� � �0+=�0� '��=2� � '����=�' �

$����� � �� �'�������� � ���'����� � ���&���& � ��<�<[���& �



�

�

�
2��3����4�������������

�� �

�

������������	�����
����	$
��4	�
����
5�$�	����5	�����
 �$��
������	�
�����,��"��=������
���

�

1����[�P���)����

%��8�	�
�8���
�����
�.��
�>���
�$��
���������	1�	()
�� ���1	���
��������1��=�������=���5���5����=�8�

������	
���� .
�� ��
��
� �
���� �� �
�	����� �� 
� �
�.���
� � 
�� 
� ���
��� �
� ��	$
� �
��
�
� ���

�

�	����()
� �� ���
�	�� ��� ���	������ ����

�
�� �
���� 	�	�� �� ��� ���
�	����� �

���	�
�� .����

�
�	������

*�����
�	����
1������.
���

�����������	�
����	���
�
� 	�.
��
���
1������$�
���=�	�.
��
���
1���

1�
�������$	(
����	�.
��
���
1���
�$��
���������
���
 ��)
��������
���
��8�	�
��

*�����
�	���������������5
�	������8�	�
����

7��	����� ���
���
�.���
�
�4
���������5�	
���G�

&�����(C���������$	(
��

�I��
�.���	�	.�(C���������
����������$	(
�������	.��� 
�
���
�	�	�G�

<�����7����D���	������
4E
�	�G� �&[�����'��:5��� �

1I�[�
�	/�(C����
�����
�	��
�G� [��&��'��:5��� �

�I��
���	(C������4
���
�
������(C������4
���()
=��
 
5����
�=�L
�V�7
.�����	�	�����G� &������<��

:5��� �

�

1����<�P�D5.�>)����)��N�6
����

*�*��&����

7�����
�����������

����(C���#	
�
��	��� �
����5�	
����!�1���	
���
�Q
$��

G�

7
�	�������5.�>)�� � 1��5�
=���

0.�2�� � 7
0����������)
��
�52��)�� �

�
���$�
()
�&���
��� <��!!=��&� �)
�����1
��6$�� � '"��2�,=02 �

*.
	
�#��	�	��� <��!!=��&� �)
�����1
��6$�� � �22�'"'=,2 �

����7�� <��!!=��&�� �)
�����1
��6$�� � �2��'�=,2 �

&�2�2� <�����
1�	
�
�
�D���	� � �)
�����1
��6$�� � ��+�0=', �

��#&� �)
�����1
��6$�� � ��,�,=�+ �

�

�

�	(C���
)
����	�4�	������
�������

�	
5B
�	����	5� �����
�!�1���	
��
�Q
$��

G�

*�� �

�	(C��� 
�����6�	��� F� ���	�4�()
� ���� �	�.
�	(C ��� �

������	�� �

���
���� �
�� ��
��
��

4	����
���
��
�Q
$��

�.�������

����)
��
����1���	 
���	���	�	
��
��

�.

�
��
���	
�����)
���

�������.�	���=�
)
���
�
�.��$	��$������������������( )
������������
���8��
�����
��
���

����
��

���.��	$
���

�



�

�

�
2��3����4�������������

�+ �

1����'�P�#
�
->	����)���
0+�
;�)���

'�� ��?���
��8�	
������.��5��
��

%� 
?���
� �8�	
� ��� ��.��5��
�� 

� �������	
� 4
	� ��� '+ � ��� �	
7�� �
�� 
� ��5	����
� 

�� �

��

�
���	
�����

'�� ��?���
�������1�
���
����5)
���	���	$
����������(C� ��
�
��	����

�)
�
�
�������������(C���

�.���
�
���������
�4	
�
� �	�
��

'�� ��
4
���(C����
1����������
���(C����
����5)
���	���	 $
��

%����5)
���	���	$
�������
��
��
��
���������
�=�
)
��� 4���������
���(C����

�

1������P� 5�����!�-��0��8
�� �

����  �.������

��
�
�!�1���	
�����
$���	��
�
 �

� 1$�D� 7:D��!V_:D�

�1 �!1`�! � H�� ��$ $��� $�a�� H�� �:D��1I�!D�7�D��:7IV_:D�:�7�D�
�" �$!U�V_:D�

D��7 � D��7 �

I$!�!U�VW �
� ��:1$!7�7:�

:�� 7:� H�� ���!b�� H�� ���!b��

!1H:D$�\� :"��::17�\� �" �$!U��
�@�*%��@�

*�%�
,�@���'�@�

*�%� ��@�*�%�
+�@��
�'2@�

*�%� �1 �1��� �1 �1�

E�F� E�F� E&F� E�F� E[F� E<F� E'F� E�F� E�&F�

���� DI#D!7! D� �� �� �� �� �� �� � �� ��

'"���
��� <���� �
	�	.������
�
	�1��� �2��� '2�222�22� �^� ��222�22�� ��222�22�� ��222�22�� ��222=22� ,��222=22� &�������� �

�� �� �� �� �� �� �� �� � �� ��

��

$ $���DI#D��
��:�J:�
��7!"�7:�
!1�c1�!�� �� ���������� �� ��������� ��������� ��������� ��������� &��������� &���� ���� �

� �� �� �� �� �� �� �� �� �� ��

&� !1H:D$!":1$ � �� �� �� �� �� �� �� �� ��

,����
��	4��	
� <���� �7��A�
D���	������
4E
�	�� �2��� ���������� �d� ���������� ���������� ���������� �������� � ,��222=22� ,��222=22�

�� �� �� �� �� �� �� �� �� �� ��

�� $ $���7 �!1H:D$!"��� �� ���������� �� ���������� ���������� ���������� ��������� &��������� &� ��������

�

�

�
	�1��=��������	
�����2�2��

�

 ������.�2������
���-�	�)�� � � � � � �  ��
+�
�
�����
��
 ;�2�

�

�

�

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii� � � iiiiiiiiiiiiii iiiiiiiiiiiiiiiiiiii�

H���#��
�
�
��
��	
7
��
����)
�&�
�6�	
I� � � � H���Z� ��	��D
�8�3����	�� ���	��I�



�

�

�
2��3����4�������������

�0 �

���*��\%!�

�����+�
	������;2�.�2�)����
�52��)���

*�*��&�$
�����
����������
��.
�	�	$
�����.����
������ �
�52��)��2>@5�)��)
�'��[����&�
5��� ��

����� $��
�� ���6� �������
��� 	
4���
�	��
� �
� 
-
���� )��� ������ )
� 	��)���� 
0���)��� +
2�� �JI� �

��52��)���
�)���)������)
����' �

�$��
������2�2,�=+,����
�� 
�)������)
����� =�

��

��
������

�2�"��=�0� ���
�� 
� ���� �
���	/�� +2�"'0=,�� ���
��� ��.�� 5�
�
� ����� 4���
=� ��� �
�52��)���

	�����5����0�+�����6���0���)
��+
�����������
5��� ��#	�������
=�
�.��
�����
��
���5
�������
����

�-:������
�����6�
����

�������*��&����
�����������$ �
7�������������
���5
�4����
��

%����
�	��
�
��4�������2�0����������� ������ ��� �'��22 2����
�� ��
�
�4	���
� ��	��� �
��$��
����


�(���
���
���9��18�����	������5	����
��4�	�
�����

��� ������8�	�
��-:���
�����

��	1�	()
����

+��222����
�=�>6���4��	���

�.

�
��
���	
���

��� ����
�� 5�
1�	�=� ��� ����	���� �
�� .�����(C��� ��� ��� $	(
�� H����7�� c� D���	�� c� ��
�	/�(C��� c�

4
���()
I�����������������������222����
��4�������2 �0��

%�� !�1���	
�� ���� �
�	������ &?1�	���� ���������� 4���� �� �2�0� ������ ��� ���+�2� ���
�� 4���
� ���

�����	/�(C�����$���������1
�.��
��
��	���
����!�5���
( ��!
�	����
�����������.������	
���$�
()
�

.���
��=��
����	���2�222����
����������7����222���� 
���

%���
����
�	��
�
������
�������������()
����2�0������ �����+�222����
���
�����������.������

�
���()
������
�����
��

�����2�0�

��

��
�������2 �222����
��������
�
��
���

��	$
�����

���������+222����
���

[��
�
�F�����.����=���5	������������	�	
�	()
�5�
1�� ����,0�222=22����
���
�����������.������

�	�	
�	()
��
��4
�
��	��
�
�������$	(
�������

��
�� 
������
���'�222����
����1�
�
���4��	�����

��)
� F� ���B
�	�� ��� 5���
�� �
�� ��
���� �-:��� ��� ��
�	� 
� �

��6�	
=� ���
�� ��� ����
�
� ����

���.������
��.���
���
��
������
���+�222����
������ ����
���
�.����	$
�=��
��
�
�(���
�
=�

��5	����<�����

���+�222����
�����5���
��5�
1�	���

�

�

�

�

�

�



�

�

�
2��3����4�������������

�" �

�

:6�25����)�����6�)�)
�
 �� �0
��� � ���� � ���' �

H�2�� � d � H�2�� � d � H�2�� � d �

�
�)�0
�����)
�
9+2�������
����<�

��[��� �
���d �

���&&�
�����' �

��
���''�

'�&��& �
��

O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �

&�����()
�������$	(
� � �"��""�=�� � �'^ � �"��20+=�0 � ��^ � ����,,�=", � ��^ �

%���
����
�	��
�
�������.�
��()
 � +�,� "2"=0� � �'^ � 0,0�2�'=�2 � �0^ � +''����=�2 � �"^ �

N������)
�
9+2�������
���'��

������ �
���d �

���[��
�&��[& �

���d �
������

����<� �
���d �

#!� � �+,�'��=�� � �'^ � �,0�"22=+� � ��^ � ����0+�=02 � �0^ �

Q���
���
��
�.���
�� � "0��"�'='" � 0�^ � "0��"2,=00 � 0'^ � "�"�++,="' � 02^ �

&������.
��	�.��	���� � 2=22� 2^ � 0'0=�� � 2^ � �� 2^ �

Q���
�������.���	�(C�������
��	/�(C�� � �2��00=�� � �^ � �2�0'2=�" � �^ � �2��00=+' � �^ �

%���
��5���
����.����� � ��,�+=2' � 2^ � ��2�+='2 � �^ � ��"++=�' � �^ �

�
�52��)��)
�
9+2������ � �[����[��� � ��d � '��[����& � <d� ����������� � ���d �

�

� �



�

�

�
2��3����4�������������

,2 �

�

�

�
�52��)���)���:���5�5����

�

*� *��&� ����
$
�$��� �� ���� ��	$	����� ����$8�� ���� �������� ��� 7�1	���	�� ��>
�� 	
�	���
���� ���

�.����
���� ��� ��5�	��G� *�	$	������ ��� E�1	�
� 5����� ��� *� �&=� #
���()
=� �
���$�
()
� &���
���

�
	�1��=��
���$�
()
�&���
���*$�	�
=��*�&�O=�����7� ���D���	������
4E
�	���

*��.����
��()
�����

�����������7�����
�D���	������
4 E
�	��8�4�	������4
������.���������	���
�
�

�� �
� ��
��
� ���#
���()
����� �
���	
���
��� 	
��5��$��� �� �

���� �
� ��
��
�*��&=���
�
� ���	��

���.�	��
�
����������
��
��()
��
��
��	���
����!�5�� �
(��!
�	�����.
���������2�'��

�

�

*� :���5�5���;
��2�)���1!� �8�������������������.
	
����
�������
�������&
�������4 ���
=�.�
�����
��

F���.���	()
��
�������5���
�����
���������
�	��
�
��. ��
�������
������
��
���������
����4�
()
�

�
�
?���
������������
��������������
��
��������
��

*��	�=��������2�0����������$��B
�	����	�
������.���� 
������������
���

� �



�

�

�
2��3����4�������������

,� �

�

�

*� :���5�5������0���� ���5	������� �
�52��)��2>@5�)���
;���6� ����0��22����
��� �	����
�	��
�
��

4�������2�0������	
������	�=�	
4��	
�����
�����	��� 
�����
�(���
�
��&����
��

��
���5�
1������

��
�	��
�
���

��	1���������4
���(C��������
�������	/� ��������$8��������
.��
�#����9������
��

��2'2� ���
�� �� ��%.�
� !
�	��_�#
�
���	

�N

�

� �
�� � ��',2����
��� �
� ���.
� �
��5���
�=����

���.������
��.���
������	$���������	
7���
��
��$��
 �������	���
���[��
�
��
��4
�
��	��
�
��

�����$	(
�������

��4	��������	����
�
�(���
���
���� ��	5
	4	���	$���
����1�	�
��
��$��	4	���
��

����2�0��

�

H�2M�	���N
��2����0�����
 ���0
��� � ���� � ���' �
H�2�� � d � H�2�� � d � H�2�� � d �

�
�)�0
�����)
�
9+2������ � �������[< � ���d � &<���<��[ � ��� d � ���<&���& � ���d �
O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �
&�����()
�������$	(
� � ,0�,2"=2, � "�^ � ,��""0=�� � "2^ � ���,�'="' � 00^ �

%���
����
�	��
�
�����
��.�
��()
�

��00,=�� � ,^ � ,�'�"=�� � �2^ � ,���"=�" � ��^ �

N������)
�
9+2������ � &'���'��' � ���d � �[������< � ���d � [��&�<��� � ���d �
#!� � "����=�0 � �"^ � �'�"+�="+ � �0^ � �,��2�=,� � �0^ �

Q���
���
��
�.���
�� � �����,="' � +'^ � ���0�+=0� � ��^ � �+����=," � '+^ �
&������.
��	�.��	���� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �

Q���
�������.���	�(C�����
��
��	/�(C���

��+,�="' � �^ � ��+'+=," � '^ � ��+,�="� � ,^ �

%���
��5���
����.����� � �,� =�2� 2^ � '0�=2' � �^ � 0�0=2,� �^ �

�
�52��)��)
�
9+2������� ���<��&� � &d� �'�[����� � ���d � ����<���[< � �&�d �

�

� �



�

�

�
2��3����4�������������

,� �

�

�

*� :���5�5���!��� !"#�� ���5	������� �
�52��)��;2�.�2�2>@5�)��+�����6��)
����&���
5��� ����7
���
�

����
���5	����
�����2�0�H.��>��/
��������0����
�I=�� ��	5
	4	���	$���
������7
���
�����
����	���
�

.���� �2�" ��&���� 
� ���7
�������.�
7
� �

��	1������ ��� ��	
���� ��� �	���� ��5	������=��� ��4��	�� ��

��5���
(���
�	������
�4��	����	�����222����
�=��
��� 
�
����=�
��5���
��4	����������	
7���
��
��

$��
������5	����
��

��

��
���	
���

�

H�2M�	���!�����0.���
 ���0
��� � ���� � ���' �
H�2�� � d � H�2�� � d � H�2�� � d �

�
�)�0
�����)
�
9+2������ � �����'&��& � ���d � �&&���<�&� � ���d � ��'������� � ���d �
O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �

&�����()
�������$	(
� � ��"�'=�' � �^ � ��'��=�' � �^ � ���,�='2 � �^ �
%���
����
�	��
�
� ����

��.�
��()
�
�20���"=�" � ""^ � �,2�"��=�2 � ""^ � ��'�0�0=,' � ""^ �

N������)
�
9+2������ � �&����'��� � ���d � ��&��<���' � ���d � �����'���� � ���d �
#!� � ���"�+=,+ � �2^ � �0��22=", � ��^ � �����+=0� � ��^ �
Q���
���
��
�.���
�� � �"0���,=�0 � 00^ � �0'��+�=�� � 0'^ � �0,���0=00 � 0�^ �
&������.
�� 	�.��	���� � 2=22� 2^ � 2=22� 2^ � �� 2^ �

Q���
�������.���	�(C�����
��
��	/�(C���

0�,�,="� � �^ � 0�'�'='0 � �^ � 0�,�,="" � �^ �

%���
��5���
����.����� � �'�=�, � 2^ � �����=+� � �^ � ��,20=�+ � �^ �

�
�52��)��)
�
9+2������� ��<������< � �'d � ���&����< � �d � ���[['��� � ��d �

� �



�

�

�
2��3����4�������������

,� �

�

�

�
��

�����2�"��� :���5�5���)��!���H:!� ��.����
�
����� �
�52��)��;2�.�2�+�����6� �
��
������
��

��[[��
5��� =�	
4��	
���
�$��	4	���
�����2�0=��������7
���
���� �
�
�(���
���
�.����
��

����

�.��(
��%����
�	��
�
��4	��������	����
�.��$	��
��
�� ���������.�������
�4��B
�	�����.��	
����

��� !�5���
(�� !
�	��� 
�� 
����� �
�� "�222� ���
��4���� � � �2�0�� [��
�
� �
��5���
��#!�� ����������

,�222����
�������.������
��.���
������18��4
������.� �	
����������222��������()
����2�0�����

��

�� �
����� 
�� 
�(���
���
��.���� �2�"������

>�5�() 
��
���� ��
�	��
�
����5���
�=���������

�����������
���	����
����	���
�������������,�222����
 ���

�

H�2M�	���!���6
����
 ���0
��� � ���� � ���' �
H�2�� � d � H�2�� � d � H�2�� � d �

�
�)�0
�����)
�
9+2������ � �[���''�[� � ���d � �<&��&���& � ���d � �[���<��[[ � ���d �
O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �

&�����()
 �������$	(
� � ��+��=,� � �^ � ��,0,=,� � �^ � ��0,�=�� � �^ �
%���
����
�	��
�
�����

��.�
��()
�
�'0�,��=�2 � ""^ � �+��0�,=�� � ""^ � ����'�"=2' � ""^ �

N������)
�
9+2������ � ������[��' � ���d � �[&�[''��& � ���d � ����['��&� � ���d �

#!� � ���+,2=�� � '^ � ����"�='� � �^ � ������=,� � '^ �
Q���
���
��
� .���
�� � ��+���'=0� � "�^ � �,����"=�2 � "�^ � ����+�0=+' � "�^ �

&������.
��	�.��	���� � 2=22� 2^ � 2=22� 2^ � �� 2^ �
Q���
�������.���	�(C�����

��
��	/�(C���
'��,"='� � �^ � ��"''=�0 � �^ � '��,"="� � �^ �

%���
��5���
����.����� � +�=2�� 2^ � ���+2="' � 2^ � ���'�=�� � �^ �

�
�52��)��)
�
9+2������� ��'����& � �d � ��[[��<� � &d� ���[''��� � �d �

�

� �



�

�

�
2��3����4�������������

,, �

�

�

%���!�7H ��.����
�
������2�"� �
�52��)����2>@5�)����
;���6�� ���.��	
�����
����5	����
������2�0�

�� �	5�	����
��� ���7
���� �
� ���� 
�� ���	���
�� 

� 
�(� ��
�
� ���� .��$	�� ��� .��>��/
� ��	
���

����	���� ����	
7���
�� 
� �

� �
���	
�� ���
�� 
�.��$	� �
���� 
�(���
�
��Q���
���
�� .���
��� 
��

������ �	
7�� �
�� ��
�	��
�
��� &
��� �

���	�<��� ���� 	�����5�� �� �
�� ���5-�	�
��
� �� �5.�>)���

����.5>)�� +
2�� !�����5��� )
� D
;5������ D�	��2�� !��� + ���� -�=
�� -�	
� L� ����2�)�)
� )��� ;������ )
�

-5�	����0
����)
����
���5�5����

�

H�2M�	�����!�7H�
 ���0
��� � ���� � ���' �
H�2�� � d � H�2�� � d � H�2�� � d �

�
�)�0
�����)
�
9+2������ � ����[����< � ���d � �����[[��' � ���d � ������&�[� � ���d �

O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �
&�����()
�������$	(
� � ,02=�, � 2^ � ,��="� � 2^ � ��2=�� � 2^ �

%���
����
�	��
�
��� ��
��.�
��()
�

�2���''=�� � �22^ � �2����,=,+ � �22^ � �2���",=," � �22^ �

N������)
�
9+2������ � �����&<�'� � ���d � ����['���' � ���d � ��[�&�'��� � ���d �
#!� � "�',�=�2 � 0^ � �2�+��=�� � "^ � �2��'�=�� � �2^ �

Q���
���
��
�.���
�� � �2,�"2'=�+ � "�^ � �22�'+0=�+ � 00^ � "'��2+=", � 0"^ �
&������.
��	�. ��	���� � 2=22� 2^ � 2=22� 2^ � �� 2^ �
Q���
�������.���	�(C�����

��
��	/�(C���
�0�=�+ � �^ � ��+�'=+0 � �^ � �0�=�+ � �^ �

%���
��5���
����.����� � ��=�� � 2^ � �2,='� � �^ � ���='� � 2^ �

�
�52��)��)
�
9+2������� ��������&� � ���d � ������'��� � ���d � �&�����<& � �&d�

�

�

�

�

�

�

�

�



�

�

�
2��3����4�������������

,' �

�

�

*��������������� ���:�J:� ���
 �
��7!"�7:�!1�c1�!� ��.����
�����

�������4
����	
�	$	����	/����

.����.
��	1	�	�������
�.���()
������������
���������� �����������$��B
�	����*�����7���.����
���

��������
�.
�	�	$
�����,���2����
����
�D���	�����,'� "�2����
���*�1
��
����
��
����5	���������	��

����	����4�������2�0��*�����7����5	��
����	���+�222� ���
�������
�	��
�
�=��
���
�
�����
�D���	��

	
�����
�
��,"��22����
���[��
�
���5���
�=��������
��5 �
1�	�=�������7������/	�� �
���5
�����

������������222����
����
�D���	��,���22����
���*�1� ����������������1�
�4	�	�����������B
�	�����

��
�����-:�����	
����
����8�	�
���������
���������	��) 
�����

���������8�	�
��
��	�.���
��	���
�



����
�	��
�
����

����������
���������7���"�,+'�� ��
�����
�D���	��,��,02����
���!�������	��
��


�� ��8�	�
�� ��� �
���()
� ���� ��
���� 
�� ��������
�� �

�	 
���� .
�	�	$
�� ���� �	5
	4	���	$���
���

��

�����*�����7��4	����
��
���������
����,�0�'����
 ����
�D���	���
��,�,������
���

�

H�2M�	�����:�J:�
 ���0
��� � ���� � ���' �

H�2�� � d � H�2�� � d � H�2�� � d �
�
�)�0
�����)
�
9+2������ � �����[���� � ���d � �&<�<���&' � ���d � �'�������� � ���d �

O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �
&�����()
�������$	(
� � �,+�'0'=2, � +�^ � �'"�0��=2" � �'^ � ��,�,,�=+' � �"^ �
%���
����
�	��
�
�����

��.�
��()
�
',�,0,=�� � �+^ � 0��",,=�" � �'^ � ''�"20=�+ � ��^ �

N������)
�
9+2������ � ��'�'�[��' � ���d � ����&&&��[ � ���d � ��'� &����< � ���d �
#!� � ',��0�=�, � ��^ � �+���2=�+ � ��^ � '���,"='' � ��^ �
Q���
���
��
�.���
�� � �'���"�="2 � +�^ � �0���'�=�" � 0'^ � �+����0="� � +'^ �
&������.
��	�.��	���� � 2=22� 2^ � 2=22� 2^ � �� 2^ �
Q���
�������.���	�(C�����

��
��	/�(C���
��+2"="� � �^ � ��0"�=0, � �^ � ��+2"="� � �^ �

%���
��5�� �
����.����� � ��0=�� � 2^ � 0+,=�� � 2^ � 0',="+ � 2^ �

�
�52��)��)
�
9+2������� �[�<�<��� � ��d � �&������� � �<d � �&'��'���� � ���d �

� � � � � � �
� �



�

�

�
2��3����4�������������

,� �

�

�

H�2M�	���
��7!"�7:�!1�c1�!��
 ���0
��� � ���� � ���' �

H�2�� � d � H�2�� � d � H�2�� � d �
�
�)�0
�����)
�
9+2������ � ������&�&< � ���d � ��'�&�<��< � ��� d � �<'�'����� � ���d �

O�
��� � 2=22� 2^ � 2=22� 2^ � 2=22� 2^ �
&�����()
�������$	(
� � �0"�+",=�' � �22^ � �0��+"'=00 � 0�^ � �+��++0="+� "+^ �
%���
����
�	��
�
�����

��.�
��()
�
+,2=�� � 2^ � ,���,�=," � �0^ � ��2��="' � �^ �

N������)
�
9+2������ � ����&�&�&[ � ���d � �'����<��� � '[d � ��'�<���[� � ��� d �
#!� � ''�""+=", � ��^ � ,2�',0=2' � ��^ � ++��00=�0� �,^ �
Q���
���
��
�.���
�� � �'���"�=�' � +�^ � ��"���2=�� � +�^ � �,"�+0�="+ � �'^ �

&������.
��	�.��	���� � 2=22� 2^ � 0'0=�� � 2^ � �� 2^ �
Q���
�������.���	�(C�����

��
��	/�(C���
�+�=�' � 2^ � "�0=0� � �^ � �+�=�+ � 2^ �

%���
��5���
����.����� � " ��=0� � 2^ � '��=22 � 2^ � ����2=�� � �^ �

�
�52��)��)
�
9+2������� ���������� � ���d � &�������[ � ��d � �&��'���<� � ���d �

�

�

%�	5����0�)���+���	����������
	�
 =��	4�
�<����� ������[�:5���� � ��
%�	5����0�)���+���	��������
��)�0�)
�!�-?�	��� ��	4�
�<������ �[���& �:5���� &

�����������������������������������������������������������

� �O��	4	��
�
<���
�.�5���
�
��4��	$
�������
���=�

� E�1	�
��
�&�
�
�
�
������.�
��()
�����1���
��
��
�� -:�=�������
����
�

��������.�
���=�
�����
��8�	
�.
����	�
(�=� ����7�=��	4��<������ �&[����:5��� ��

, �O��	4	��
�
<���
�.�5���
�
��4��	$
�������
���=�

� E�1	�
��
�&�
�
�
�
������.�
��()
�����1���
��
��
�� -:�=�������
����
�

��������.�
���=�
�����
��8�	
�.
����	�
(�=� D���	������
4E
�	�=��	4��<������ �������:5��� ��



�

�

�
2��3����4�������������

,+ �

������O2��
�)������
9���
0�@5
����1!���
����
�
�
�

�:D$ �� �P���2>��	���:	��30�	���D�	��2 ��$
	��23;�	� ���
;�2�
��0.�
���2 �

����
9���+�2>��	� � ����
9���
	��30�	� �

·  &
���	��� �
	�	.�������
	�1���S��()
��
�	���H�.
	
� ���
����
�
�����
���0��

���*.
	
�.�������
�.
����=�.������� �
���=�
.�
�

5���
�
��
�7
�6�	
�S��.
	
�6�4����	�=��.
	
�� 
��!�=�
�����.��5��
������

5������()
IT�

·  &�%��%&�S�$�	
��	4	�������
�����5���
�
������
��
�� ���
�

.���()
��
��
��
��	���
����!�5���
(��!
�	��T�

·  �
��4	�	B
�	�������
��
�����

.���()
�.��������	��� (C������
�.
	
T�

·  [����
��
��
	�6�	
�.�
.��	
���
.
���
	���������
4	
�
�	���
�
T�

·  �
�����/������

$�����5	����	$��A4�
�
��
�	������
. ��A4�
�
�
����
��)
�H$�	��
4�����
����IT�

·  �	���
�	���
�
��
���	
	��8�	
�������

��	�����
�!�� &��S�
�4������
�
��
����5)
��������	�)
���
������
�

·  #����	����
��.
��������
�.����	4���
�	��
=���	
�	�� �	���
����
��������8�	��1�	���H�.
	�����.��
��*�&�O����&�IT�

·  [����.�
�����4
���()
�
��*��&��)
�.���
������������ ��8�	����
�8�	������T�

·  %.
���
	�����������.��5
���4
���()
�.�������4����	� ������
�.
	��
�T�

·   �	��4

�������4	
�
�	���
�
�.������*��&�H.�
>��
�� 4	
�
�	��
��
�	���	

��
��.����
������	��
�
����
�5�
	/�()
����� ��
�
�����
�
�.��B
�	����8�
	���=�����	������������.
�������$	 �	1	�	����IT�

·  N	�	��()
�

������
��
����
��
������

.���()
��
�

����
9�����	��2 � ���� 
9�����	��	���
	��23;�	� �

·  P������1�
���
��4
�����	5�()
�F���?����������()
T�

·  &�����	������

���.��5
T�

·  ����4	
���������.

��1	�	������.���
��	�T�
·  ����4	
���
�
�$������$	
�B
�	���
�8��	��T�

·  �������/�������.
������������7���
������	�����
��/
 
��
��1�
�T�

·  %�Q�	��J&�6�	�������
��
����������
���$�
()
�&���
� ��
��
�
4E
�	�G����5�	��.����.�
4	��	

�	�K����6���	���	� ���	
��
�
�����
��������/�
�����	
5��5�����	���
�����
��.�
4	��	

� 	������&�T���

������	
��$	�	1	�	��������*��&������
.
���
	������ ���4
���()
�
��
�$���
��	

�����

������
5�	�
T�

·  #����	����
����	
�������
���������
�����

��5	�
�T�



�

�

�
2��3����4�������������

,0 �

·  #
�������	���������
	�1���76��	4	������������������ ���
�������
�
��������.B��	������.��	��	/����T�

·  *���
�
��	5�	�
����
����	������

·  3
�����	����()
��
������*��&�������
	$���	�����T�
·  &�����	���
��
�-&��.�������

���������1�	���$	�)
�H �*�&�OI���
��

���B
�	�������.�(
�.���������	.������N���
	�1����T�

·  %��$�
(
��������

�
5	���8��������4	
�.������*��&�. 
�����
)
�
��	������.
	
�=���������
����	����*��&���$������.5� �����
�

�$����
���	����������	
4
���()
�H���	��	
��	���	

 ��=������
$	�����I��

�

����
9���2
;�2 � ����
9����0.�
���2�;
�;�O-�	��

·  %�������
<N�	�
�@�',A�2�0���������>��7
�S������()
� �
����	$��
S����4����	�����$�������	
4
��������
1���
��������	 ��	�
����
.���	�	.�()
=�8���	����
����
�
��4����	�������
�
�� �*��&�
��4�
��T��

·  �**�&��S���
��
����*��
�	��
�
=�*�
�.�
7���
�
���
���1	�	��()
�!
�	���.����&���
����
����4	�	B
�	����
�
��.��	�����S��������5	���()
�$���4�/�������
����� ���
�
�
��	���>�����
��
��*�&�O�<�&
����	��
@��2A�2�'T�

·  ����	4	��()
�.�����Q��9<����.�	�
�
������	�	�
����� ��

�����
$	5�
���T�

·  ��5�����
��()
�Q��������&�
��()
�������
��<�$�	
��� 	5	��


$
��.�
���	��
�
�=�

$���
����
��()
���

$���.�6� 	����
1����
�
�

$
������
�����
�	��
��F������.�	��1	�	�� ����
�

·  *����
������
�.
����4���
$	6�	
��
��4��	�	����T�

·  #
�������	���������
	�1���76��	4	������������������ �����������
$	6�	�T�

·  !��$	(
��������$�	�����
�
�T�

·  &������	
�����	����	�.���
T�
·  &���	��
	
�������������

7��	�
���
�	����
��T�

·  ��.�(
��$������.�
.��	
��F�.���5
5	��

������	
���
�



�

�

�
2��3����4�������������

," �

����!�-��0�����)
��2��)����.�
����2����:������;�	��
�
�
�
�>6�4
	���4��	�
� �
���	
���
��=�
�&��

�������8 5	�
� ���	
���
� �������$	����
� ��	8
	
��2�+<�2�"���4 
	����1
���
���
�
� ��� �

��� ��� ��5�	
����
.�	
�	�����G�
���	���
�5�
	/��	

��=���	

$�()
=��� �����
��1	�	����������1
���.�6�	��������$	�����

�� 	1�	��.����
�
1>��	$
�.�	�
��	������*��&G� '��	
����
(�����	����	��)�
�*����	�+���	
�	�������	��	�� ���	
�	�
�����
���	��������	�	
+���	
����
�� ��&�����������������.�	
�	��������
�	

�����4
����
���1
���
��
1>��	$
��
.����	

�	�����������5�	����� �)
���$
�����

	�
�	/�()
��
�

H!DW %�D:���:� 1J:�!7��� " � �N�1!U�VW ��`7:��1����!�VW �7: �H�� ��1��!1$:�H:1VW ���:� �: ����1`H:��1��! 1�� �

:�9���  .B
��6���:������;�	��� :������;����  .B
��6��� +
��	������� !�)�	�)��
�� "�������=�����

���
�2

�0
�� 

�;�
��=

�	�
���

2� �������-���2�)
�������

��O��0+2
0
���)��
50��2����)
�
����
������	�
���
� �

Q��.
�������1��7
�
.�������
��
	��()
�
H�[I��

·  *�8������1�
��2�+=�
��4	
	��
��4���
��
�
��
	���	

�	��
	
���

���������

�����
5���)
��	6�	���
�
�

�
�
�

·  *�8���/��1�
��2�+=�
�	����	
�����
	�.����
����
��4���
��
�
��
	���	

�	��	
���

�
�������

�.
���
�
��
��
�
��1
���
�����
�

·  #���
�����
�
��
	��()
�	
���

��
�������

���

�
�
�
�

�
�
�
�

·  ^�����
��������
�

7��	��
�
�.
��
.������
��
�
��1
���
�����

·  ����;�)� G�����5
��
�����2�+=�	
	�	����<������
���
	C������.��.���()
�.��������4	
	()
��
��4���
��
����
��
	��()
�	
���
���

�	�����
����	��
.�	
�	�6�	
��.����
�4�
�	

���
�
��	6�	
����*��&�

)
���
�
��	�
�.
���$��=�
�����������=�.�
������F�
��4	
	()
����
���
��4���
������
��
	��()
�	
���
��
1����
�
�
��4���
������
��
	��()
������
���
�
��
��
�
=���������C�������
��
	��()
������
��
�	$�����	
��	
������� �	
��2�0=��
��
�������
7���

��	������*��&=����1��7
����������4
	��

�����
����
D��7
�����2�"��

�

·  1�������;�)� �
$��������+������+�39�0���2����:������;�	� �

� �



�

�

�
2��3����4�������������

'2 �

:�9���  .B
��6���:������;�	��� :������;����  .B
��6��� +
��	������� !�)�	�)��
�� "�������=�����
���

�2
�0

�� 
�;�

��=
�	�

���
2

�

�������-���2�)
�������

��O��0+2
0
���)��
50��2����)
�
����
������	�
���
� �

&�
�
$���
���.��	�
�
������	.����
.���	�7���
����
��
�
��1
���
�����

·  Q���
�	�=��
�����
��=���
����	/�()
���������()
�
��� �����������$ �.����
�
�
��
���
��1
���
�����

�
�
�
�
�
�

·  ��	�����.�(
�����.���	�7��
����

����
�������1��7
�
�
��������	4���
����
������������
$
�$�
�
=�
�
�����
��=�.��
���

��
�2^��
���
��1
���
�����

�

·  ^�����
��1
���
����
����.���	�	.�����
��
�()
��
�

�
�
�
�
�
�

·  ^�����
��1
���
����
����.���	�	.�����
��
��	$	������

·  ����;�)� G�.���	�	.�����

�X�	�����*��&Y=�

�5�
	/��
�.�������	.���
��*�&�O�������	/�������
�
	�1���S�!�������*��&=���^��
���
��1
���
������


�D�
�������������'�^��
���
��1
���
������

�
�������
�����.���	�	.�()
��8�	�=��
��

5
��
��
�

������2�+=��2�0����2�"=�

�X�	�����*��&Y�
.���	�	.�����'0^����1��7��
������

�D�
�������
��������^��

�

·  1�������;�)� G�
)
�4
	�.
���$���

��

�����2�"�
�
�
����������()
����.�6�	���
�������
�

��
�
�������������

������

���

�����
���
��
H.���	�	.�()
���9*!I�����������
	C��=�

��

����
�2�"=�4
������
��	/�����.������.�(
����4
���()
� �

� �



�

�

�
2��3����4�������������

'� �

:�9���  .B
��6���:������;�	��� :������;����  .B
��6��� +
��	������� !�)�	�)��
�� "�������=�����
���

�2
�0

�� 
�;�

��=
�	�

���
2�

�������-���2�)
�������
	�����5�����;��������
50��
2
6�)��
+�
�	5+�����	�0���
&�����������	���	
������������� �

����	4	����.��4	����
���.

��1	�	������
4�
�	

�	������
�
�
��.�
�
$������
���7
��
�����.�
7
��

·  *�8���	
��2�+=�.�
������
F���$	�)
��
� �
�������
#�
(C����

�

·  *�8�>�
7
��2�+=����6�
���1
���
�
�
��5�����
�
��
��	������
���5���)
����
�����.�
7
��

�
�

·  *�8��
�4	
�������2�+=�
�	$��5���
���5�����
�
�
�
��	���������Q���)
����
�����.�
7
�>�
�
����
�
�
��
���
��1
���
�����

�

·  Q���
�	�=��
�����
��=�
����.��
���

���2^��
��
�
��1
���
����
4�����
�����(C������
4
���()
����4
����
���	���	$�=�����
�
���
����
����
�������
�$�	��
��������.�
7
���

·   �
�������#�
(C���
��$	��
��

�
�

·  *.�
$�()
��
�
��5�����
�
�Q���)
�
��������.�
7
�.����
�	��()
�H��5	��
�
�
�	$	��������
�
�.��B
�	��I��
�

·  ^�����
��������
�

7��	��
�
�.
��
.������
��
�
��1
���
�����

�
�

·  ^�����
��1
���
����
����4�����
����������
�(C������4
���()
��

·  ����;�)� G��.�
$��
�.�����	��()
���2,A��A�2�"�
�

�
�

·  ���	��20
��
�����;�)�% ��
����
�
����1
���
��
#���������	/������J�����K�.�������$��	4	����������6 �
���
��
����
�.
��4
���������.
�����
�
����F�
�.�
$�()
��

$��������+������+�39�0���2����:������;�	� �
�
�

·  1�������;�)� ��������	��
�
��
�
1>��	$
��
���	
���
$��������+������+�39�0���2����:������;�	�� �

�
�
�
�

·  ����;�)� G�
?���
�����
��1
���
��������
4�����
������4
���()
�S�'�=��
�����$
�����
�
�������7
�������00��7
�����"�^��
��
�
��1
���
����4�����
�������(C������4
���()
� �

�
�������
�����.���	�	.�()
��8�	�=��
��

5
��
��
�

������2�+=��2�0����2�"=�4�����
������
4
���()
�,0����1��7��
����
�������.����
�������
�8�	�����0�^�����
��1
���
��������4�����
������
�(C������4
���()
��
��

5
����������.
��
�

�



�

�

�
2��3����4�������������

'� �

�

:�9���  .B
��6���:������;�	��� :������;����  .B
��6��� +
��	������� !�)�	�)��
�� "�������=�����

��
 !�

�6
���

��

�
-��������
	�0+��
��
�)
�
�������� ��1!���
	����2�)��)�����
5�
+�+
2�	�0��
���)�)
�
)
��
-
�M�	������
!��
�6
�������
	�	
�
���!�-?�	�������>6
2�
��	����2�

Q���
�	����
����	��������
4
���()
=�
�	$���	4	������
�����
����	/������
�(C��=������
��
�
�
�����

�����	������
	��
�	4	�������

·  Q���
�	���������()
�����
�(C���.��$	��������&��

�
*
�������#
���()
��

�
·  ����	/��=��
�����
��=�

��B���(C���4
����
�
�	���	�
�����
	�1����

�
�
·  ����	/��������

$���

�(C��=��
�����
��=����
��
��
��
�����

�����	������
	��
�	4	��������

·  �@��(C��������������<�
1���
(
��
�������
4
���()
��

�
·  �@��(C�������	/�����

4
����
��	���	�
����
�
	�1����

�
�
·  �@����

$����(C���

����	/������
�
�

·  ����;�)� G�
�.��

��
�������4
���()
�.�8$	����
����	/�()
�����"��(C������4
���()
���
�
��	�
�
����	/������,��
�

·  ����;�)� G�4
��������	/�����'��(C���4
����
��	���	�
�
����
	�1���H9
������
$��=�Q����������5��
5
�����
 

����/I��

�
·  ����;�)� G���.����
��()
��
�.��

�	
�	$	����	/��
�

���	
���$�
()
�.���
���H.		.IT�����
�	
��
�	$
����
	
���$�
()
�.���
��T ���������(
��
���
��
	��()
��
*1
���5���.�6�	���F���	4	���������
��
�
��
	��()
T��
��
	��()
���N	
5��5������
��	�
(����
��&�*T�����
�&�6�	�������
��
������
����&�=������4���)
�F�.�6�	���<�9��	
���4
�����	
��� G�
:��E
	��������
�&�6�	�������
��
����������&�=����
��4���)
�F�.�6�	���S�!8�$	�� �
�
�������
���8�	
�=��
�.���
�	�
��
����
��

����
�2�+����2�"=�4
��������	/�����,�

$����(C��=�0�
�(C���4
��������	/�����4
����
��	���	�
�����
	�1���
������8�	������(C���.��$	����=��0=�4
����
����������������

�
������5������+���������
+��0�����
�
+����	�+�����
0�
!��"����	
����
���	�	
���
�
����
��� ����O�
��
)���#������O��	���
0�
!��
�6
�������
	�	
�
���!�-?�	�� �

���1
����
��
�	����������
�
��1
�������
.�����	���
.�
.
�������

·  *�8���	
�����2�+=�
����4	
	�����

��	��	()
���
�	
E�	������3�*��

�
�
�
�
�

·  ��5�����
�
�3�*��
�

�
�
�
�
�
�

·  ���	��20
��
�����;�)�% �%��

�����2�0�4
	�����

�
�����4���)
����.��.�	���	
E�	������3�*��*�����
���

��	��	()
�4
	��

��5�	�����
����1��7
�
����
$
�$	�
�.����3�*������	�
�����
�

����
J�
�
���
�5�
	/�����3�*�.�������������.
����
���.

�����
�������
1>��	$
�K��D6�

��

�����2�"=�
4
	��

����	/����������4	
	()
�����4�
(C������3�*=�
�
�����
$
�$B
�	������
�
��
���
��1
���
�������



�

�

�
2��3����4�������������

'� �

�
�
�
�
�
�
�

·  *�.���	������2�0=�
��1������.��
���

��
�������
�	���������
�
�
�
�

�

�
�
�
�
�
�
�

·  �@������
�	��������
��1���	�����
�

�
�
�

*��& ������������	�
 ����.�
����
��
�
�
��������
�

����()
����	����
��������.����
���������3�*�
���.

�����
��
����*��&���
	�	
�<��=�����2�"=���
���1
��()
��
���5�����
�
�3�*��
������4	
	()
�
���4�
(C���������������
�������
�
��������
�

��	����� �����

�
·  ����;�)� G�#
������1���	���������5�	
����

��
�	�������=�����2�"�H�	
�
���
�	�������IG�
o ��
�	��������
�&�
5������������c�HV��<

�
���	�����	
�	$	�����.����4	
�����
�.��
�	/�5��I�<�XU����4����S���.
������
�
=�

����	
7
�.����	

$���������	4	��()
Y�

o ��
�	��������
�!��
����
���!���6$�� �
���
�2�"A���.�
�
$	�
�.����%&&T�

o ��
�	��������
��@�&�8�	
��	B
�	��
�����
��=�
4	
�
�	��
�.����#�
��()
�����	
�&	
7
���.����
�Q�����X 7
�H�2���L����>=
� YT�

o ��
�	��������
��@�&�8�	
��	B
�	��
�����
��=�
4	
�
�	��
�.����#�
��()
�����	
�&	
7
���.����
�Q�����<�X ��5+���+����+2������
���.��
�� YT�

o &�
>��
���1���	�
�.�����D���
�.�
5�����
*�����	���&����
��

7��	��
�
����#�
��()
�
���
�����Q��1�
V	�
�<�X !�����5��8
��!�	�>6
�� Y��
�

�������
���8�	
�=�

�.���
�
��
�.���
�	�
�
�
�����2�+����2�"=���*��&���1������'�
��
�	��������.
���

��
�

�
�
�
�
�
�



�

�

�
2��3����4�������������

', �

�

:�9���  .B
��6���:������;�	��� :������;����  .B
��6��� +
��	������� !�)�	�)��
�� "�������=�����

��
 D

5�
�
�

��.
�2

�)�
)
�

�50
�������
)�6
���)�)
�)�� 	��
���	
��	��
�
�����
�� �)��
�1!��)�0��5��)����
+
���)���
�����-
�M�	�����A.2�	���
�������0
����;2�.�2�
)����;���=�����

*.
�����
����
������85	�����
5���)
�4	
�
��	���
���*��&�
�

��
�E
����
��
����
���
����
�
5��	�()
����
������
����

$���
4

�������
4	
�
�	���
�
���

·  *�8��
�4	
�������2�+=�
.�
������F���$	�)
���
	�.����
��()
��
�
��
�������
.�
���	��
�
�����
5���)
�4	
�
��	����
�
�
�
�
�
�
�

·   �
�������
&�
���	��
�
��Q���)
�
#	
�
��	����
�
�
�
�

·  1�������;�)��
������$��������+������+�39�0���2����:������;�	� �

�
�

7
-�������
�
�0+2
0
�������)
�
50��+�2>��	��)
�
�
)5����)
�	5�����

��	�������
	��
��
������.
�������
.
���	����������()
�
�������
����

·  *�8��
�4	
�������2�+=�
�4��	��
���

���
��
��>�	�
��������()
��

�
�
�
�

·  N	���5����
��
�

���
����>�	�
����
����()
��

·  1�������;�)��
������������$��������+������+�39�0���2����:������;� 	� �

�

�
�
�
�
�
�
�
�



�

�

�
2��3����4�������������

'' �

�
�

:�9���  .B
��6���:������;�	��� :������;����  .B
��6��� +
��	������� !�)�	�)��
�� "�������=�����

&
� #

���
���

O
��	

���

�+���������
�
	���
	�0
����)��
�1!��	�0��
���)�)
�
)
��
-
�M�	�������#����
��O��	���)��
!��
�6
�������
	�	
�

 ��7
�	���

��
���
�
�����$	(
��
.������
��.����
*��&��
���
�
�
����������1
���
.�6�	����
��
	
���$�
()
�
.���
����

�

·  Q���
�	�=����4
����
���	������=��������()
�
������	$	������.��$	�����
���&��

�*
�������
*�	$	��������������
�����������

�

·  &

�
�����	���()
�
�����������

�

·  ����;�)� G��

����
�<��������4������
�.

�
����
�	���()
����4
��������������
)
�8�46�	����
�
����
�

���
��	�<�<�	����������������������

���
������
�
6�	�����4����<���

���������	
��*
��	����������
������������������
���������������
�

�����
�	�.

�$�	��.�����

�������

�
�
�
�



�

�

�
2��3����4�������������

'� �

��&�!�-��0�����)
��2��)����.�
�	�)��50��)���O�
���)
� ���
�6
�����
1���%�+����0������-��0��8
���	���52�������
2��3���� )
����6�)�)
�������)
�	�)��50��)���:���5�5�����
�
�

���!�����0.���
�

���������
��=�����)����+52������+���)��
0������
�

e�1A0
�������2�)
�	��������-�0>2�����+���)���
0���� ��
���+�	�)�)
�)���
�+�����!�!����0.���f�
�

������6�2 � 1A0
���)
�	��������� �
-�0>2�����+���)����

�����	�2�)�� � ��+�	�)�)
�
)���
�+�����

���[ � ��< � �+2 � ,22 �
���< � ��� � �+2 � ,22 �
���' � �&� � �+2 � ,22 �
���� � ��� � �+2 � ,22 �

�

9�
�
�.
��1������.
.���()
�.�
�
�
�����H�+2���	�
(� �I�������.��	�����������.
�����&���
	�1���H,22�
��	�
(��I=�
1���$��
�� ���� 

� �

� ��� �2�"� 
9	
)
0��� �� 	�+�	�)�)
� �50�����2�)
����� 	������� =�
��
�
��	
�������5��
�
��.
	
���'����	�
(���4�����
� �

�����2�0������"��4�����
��

�����2�+��

�
e�1A0
���)
�	���������+���)���+����)�)
�f�

�
!)�)
 � 1\��������� � 1\�"
����� � 1\�"
����� �

�
 �

����*

 � �2 � �+ � �� �

��*

 � �� � �+ � �� �
��*

� � �22 � �, � �� �
��*

� � �+� � �2 � ��� �
,�*

� � �0+ � ', � ��� �
'�*

� � �,0 � +2� �+' �
��*

� � �0� � '� � ��, �

j���*

� � , � � � � �
$���2 � ��� � ��� � [<[ �

�
%��6�	
������	�
(����
����
�������	

��

�	
������� ����	���	5
	4	���	$
��
�����
��
����
�4��	
	

���
��
���<�����.��$��B
�	���
���
�.�
7���
�
������	�
( ����
����	��������

�����	�����H���������
0�^I=������
�
�.
�������$	����	/��
�
����1������	�� ��.����
�������

�
�
�



�

�

�
2��3����4�������������

'+ �

�
�

�
��������������)
�:2
;�.�2�)�)
�
�

�
�
*���$8�����������	��������
���F���1������	����.���� 
�����.
���
���4��	������
���
�.�
7���
�
�
.���
�	
�
���8� ���
� �� ��	�
(��� �
�� �����
� ��� ����
$ 
�$	��
�
� ���� ��	
�
5	�� �

7��	���H�,^I=�
��5�	�
��
�5��.
������	�
(����
�����������
������
� �������
$
�$	��
�
����
�	��
���4��
�������
�	��
���1	�
����H��=�^I���

*� ��5	����� ���18��F� ����� ��� ���
�7�� ��� ���
�� .���� 
 � .����
��� �������	
=� ���� ������ ��� �0^� ����
��	�
(��� �
�

���$��<��� ��� �$��	�()
� .���� �4��	()
� ��� ��	�8�	
�� ��� ���5	1	�	����� 
�� 
)
� �	
7���
�	
���

�����.�
����
���	�8�	
����4	
	�
����

�"�T��"^

+"0T�0�^

��8����

� �������

�

���������)
�:2
;�.�2�)�)
 � 1\��������� � d �
�

*����
��������
$
�$	��
�
�������	
�
5	 ���

7��	���H����I � ��� � �,^ �
*����
��������
$
�$	��
�
�������	
�
5	���

7��	���c ��	��
�
*�1	�
����

��2 � ��=�^ �

����$��	�()
�
��������5	��
� � �+" � �0=2^�
�	��
�3	
��5	�
�c��	��
�*�1	�
��� � ��� � ��=,^ �
�

�	(C�����.���4	����H����I � 0� � 0=,^�
�

�	(C�����.���4	����H��� �I�c��	��
�3	
��5	�
��A
����1	�
��� � '� � '=�^ �

*����
��������
$
�$	��
�
�������	
�
5	���

7��	���c ��	��
�
3	
��5	�
�

" � 2="^�

�
$ $�� �

�
����

�
���d�



�

�

�
2��3����4�������������

'0 �

�
��� ��4��	�=� �	
��=� ���� 
� 5��.
� ��� ��	�
(��� ��

�� .� �$���
���8� ������� ���� �.����
��� �����
� ���
����
$
�$	��
�
�������	
�
5	���

7��	�������	����E
 �
��
����.
�	()
���4��
��������	��
�1	
��5	�
�
H2="^I�� ����� ?��	�
� ���
� ���� ��.����
���	$	����� ��� ����()
� F�� �
�	������ ��4���
�	��
���=�
�$	��
�	�
�
���������������4���
�	�(C���.��
�����$	 (
�������	���
�������?���.�	�6�	
�=��
�
���>���
����
	�����������?���4��	�	�������������
	��������
�

�
����:���)�)
���
-
�
�	��)�����

�
:���)�)
��
-
�
�	��)��� � 1�\ � d �

�
����7��A�&�8 <���
��� � �'0 � ,+="^ �
��
��
���?���A�:
	����������?���#��	�	�� � '2 � �'=�^ �
-
�.	��� � ,2 � ��=�^ �
%����� �� �0 � ��=' ^ �
#����	� � �' � �2=�^ �
�&�D�A�!*99� +� �=�^ �
 ����
	����� � � � 2=�^ �
$ $�� � ��� � ���d �

�
*
�
1���$���
����	�� ���
����
������������
��$��	4	� ��
������ ���
�	��������� ��	����4���
�	
��
4
	� �� ���.
���� �
�	��� ����7�� 
�� 
�� �

����
�� .�8<�� �
������ ��� ����	��
�
=� �
� ��.���6$��=� ����
 ����
	�����������:
	���������!�?���#��	�	��������� =�����

>�
�
=��

��	������.�
����'=0^�����
��4���
�	�(C����
*� 	����� ��� ��	�
(��F� ����� ��� ��4���
�	�()
=� ���� 
� � �	�� .���
��� .
���$��=�4	��� �

�	�	

���� ��� ���
��
�	$����������
�B
�	���
�

�

���

0�

"

��2

'�

���

�+"

����

����

����c����

����c����

����c������A
������

����c�����

�A���5	��
�
����a



�

�

�
2��3����4�������������

'" �

��&�7�����.5�����;
�;�O-�	�%��A0
���)
�	��������-�0 >2�����+���)���+���:�!�����A2��0���
��M�������

�

:�! � 1\�������������0>2���� �
�

�������< � �������' � �������� �
*�5�
	��A�Q�	� � '� � �� � �� �
��
��
7����A� 	�� � �2" � ��, � ��0 �
�
	�1���A��

��	�� � +� � +' � �+ �
�
	�1���A�&�
��
$� � +� � �" � +� �
�
	�1��� � �+� � �+, � �"� �
#	5��	������#
/ � "0� �2� � ��2 �
 	��
����
��
�$
�A�&�
��� � ,� � '' � �� �
 

���
� <
 <O��7
�A�!
��� � 02� 0' � 0� �
%�	$�	����
�-
�.	����A�961�� � "" � 02� ", �
&��.	�7
������!���� � �' � �, � �� �
O	����
$�����&
	�����A�N
��) � +0� "� � "+�

$���2 � ��� � �&� � ��� �

�
�����	
�	�������N�=��
������()
�����N���
	�1��A�

� �	��=�8�$	��$����������
�
��
��

5
��
���

��
�
�
?���
������	�
(��A4����	����.
	�����������4��	� ��������������
�
�
)
�8���
�.�
7��
�.
�����
����
�
��
�
?���
����.�
4	��	

�	�A
?���
����7
���� �4�������������N���
�

�	��)�� � c0.����;
�;�O-�	� � ��+�	�)�)
�
E��\F�

�	��)��
E��\F�

:0��+����
E��\F�

EdF�

��@� �N���
	�1��� � 02� �' � ��� � �&�d �
�

��@� �N��#	5��	������#
/� �
�N����
��
7����A� 	���

02� �� � ��' � ��'d �

� <@� �N�� 

���
� <
 <O��7
A!
��� �
�N���
	�1��A&�
��
$��

02� '2 � ��' � ��'d �

,�@� �N��*� 5�
	�AQ�	� �
�N��&��.	�7
������!�����
�N��961��A%�	$�	����
�-
�.	����

02� ,+ � �<' � ���d �

'�@� �N��O��&
	����AN
��) �
�N�� 	��
����
��
�$
A&�
����
�N���
	�1��A�

��	���

02� ,� � ��� � �'�d �

$ $���)
��������������0>2��� � &�� � �<� � ��� � �&'d �

�
%�����
��	�������
��
����1������	����)
���4	�	�
��� �
�������������
����

����������4�����
����$��
�

?���
������	�
(��A4����	��� ��� ��
�.�
7���
�
��*��� ���������&���
	�1�����
�.�
7�� �,0^����
��	�
(�A4����	��������
��.�()
�������.
�����



�

�

�
2��3����4�������������

�2 �

%����5������
��������
��7���

���4��
��F���N�k��8�1 ����
���>���	4	�6$��=�4������������
?���
�=�����
�
�
�������	��������	
���$�
()
��
�

�
����$
0+��0�)���)
��
�+�����P���6������>)���
��
0+� �)
�+
�0��M�	���

�
�  �1�6����
-
�
�	���8
��

�
�
��

�����2�"������
������
�����.
�����&��
	�1��� ������6����
-
�
�	���8
� =��	���	1������.�����
�N�]�������5�	
���4
���G�
�

:�! � 1 �\�)
���6���
�
-
�
�	���8
��

�
	�1��� � "� �
��
��
7����A� 	�� � ,� �
O	����
$�����&
	�����A�N
��) � �' �
%�	$�	����
�-
�.	����A�961�� � �, �
 

���
� <
 <O��7
�A�!
��� � �� �
�
	�1���A�&�
��
$� � �� �
#	5��	������#
/ � �� �
�
	�1���A��

��	�� � � 2�
 	��
����
��
�$
�A�&�
��� � �0 �
*�5�
	��A�Q�	� � �, �
&��.	�7
������!���� � , �

$���2 � ��� �

�
&��
���	����.����
���
�.
���
��$��	4	�����������N�� ������	��

$�����4���
�	�(C�������1���4
	���
����
	�1���=��
��"����4���
�	�(C��=���5�	�������N�� ��
��
7���A 	��=��
��,���*��N��������

��
��4���
�	�(C�������1���

��

�����2�"�4
	������&��. 	�7
������!����=��
��,�

$�����4���
�	�(C�����
*	
��� ���� ��>��� �

���7
�� �
�� �	��
�C��� �	4���
���= � .
���6� ��	��	�� ���� ��
�B
�	�� ��	
�� .����
��4���
�	�(C���

��

���7
�����
	�1������
���
����� ������	
���

7��	��
�
��
�!��&�������*��&=�
�
�.����	$���
����
��
���

���7
����	���4�����
���
 ���
��
��	���	�����

�
�  �
-
�
�	������P�!�>	���)��+��	
����!�!�

�
*������������&��
	�1����.�����������������	5
	4	��� 	$���
�������.��	���������������.
�����������
�
0+��0�)���)
�
�+
���
���
���
����)��)���
-
�
�	�� �������:�!�
�����>	���)��+��	
����)
�!�!�)
�
�+��9�0�)�0
��
����)��� ��
�
�
�
�



�

�

�
2��3����4�������������

�� �

�  $
0+��)
�+
�0��M�	�������
�+�����
�

�
��
���������	�
(��A4����	����������������
��.
	
� 

��

�����2�"=�������.����
�������
��
���.
�����&��
	�1������ 0�)���<���)��� �H��������I���
�

�  1A0
���
�0���6��)
�D�>)��)���
�+������
�

�
� �

� ��� �2�"������������� �&��
	�1�����5	��
����� ����2�)
� ��[���>)�� ���� ���.
�����%���
�	$
��

�����������������)
�	�������
��
����1�������������5 ����%1���$�
�
��������=�4��	���
���.����1��
��

������	������������H�0'I������������������.
������� ��$����
�4���
���������	�
(������
�	������.����


��@���3��&
��
���
����
=�
��
�	$
�������$
��F����� ���
���

��
?���
������	�
(���4
	�
�4���
������

4����	�� ���� ��	5���
� H��� ��	�
(��I�� *	
��=� ��� ��4�� 	�� ���� �,� ���� ��	�
(��� ���� ��	������ ��� ����

��
�.�
7�����.���������������&���
	�1��=����
�	���� ��.������
�.�
7���
�
�.
��
�������N�]��4
���

�
��	���	�
�����
	�1���
��.
���
	�1�����

"���6��)
�D�>)� � ��\�)
�D�>)�� �

9��
�	()
�.������@���3 � �0' �
%���
���
�	$
� � �0 �
%1>��	$
�����&��&�����
(��
� � �� �
9��
�	()
�.����
�������N�k��4
����
��	���	�
�����
	 �1���
��
.�����
	�1����

�, �

#����	��
)
���
���
�����	���������.
	
 � �' �
�)
���?
����	�8�	
��������5	1	�	���� � �� �
��	5��()
����4 ����	� � �� �

$���2 � ��[ �

�
�
��[�1A0
���)
�g0Z���
�2�=�)���
�

*��
�	�
�
� 
� 
?���
� ���$��
� ��� ��	�
(��A4����	��� �� � ��
�.�
7���
�
� �
� ���5����� ���
����
��(C���8��$	��
�������.���6$���
����5������
�� .�
4	��	

�	���4��
��������������������

�
$���2�)
�g0Z� �

�������)
�D
�6����
$���2�)
�g0Z� �

�������+�3+�����
�'� ��' �W� � �" �"�� �W� �

$���2�]������'��g0 �

� �



�

�

�
2��3����4�������������

�� �

���!���6
����
� �

���������
��=�����)��+�+52������+���)��
0������
�

e�1A0
�������2�)
�	��������-�0>2�����+���)���
0���� ��)���
�
�+�����!�!��6
����	�0����
�+
��6��)�����.5�����;
 �;�O-�	��+���:�!�f�

�

�
�
�����
��
��
��
����	.����
�

����
��
������

.���() 
=�
�
?���
��6�	�
������	�
(������1��
5���
8�����,2���	�
(���H02���	�
(���.
����
��
I=�����
�� ����	����=������
?���
������	�
���.����
���
�����	�
� �
�
�� 
�� �

�=� �

4
���� ���

����� 
� 5�64	� 
� ��	��� �.����
���
�� �
� �

� ��� �2�"�
$��	4	�
�<��� 
� �	�0+����0
���� )
� [��� 	������� =� ��
�
� &��� -���� )�� 
���.
2
	�)�� ���� �	��)�� ��
[��
�
��
�.����
��
��
��

�����2�0=�$��	4	��<������ �50
����)
��&�	������� ��
%�5�64	�
���	�����.��7��
� �A0
���)
�	��������
0��	�0+����0
��� ��������	���	1�	()
�.
���N���
�
�

5
��
���

������2�0����2�"=������
��
��
��
����� 
�����
�7	�
������$8�����4	�7�����	
	�����	$��
���������N���*�����	.��������.����
������� 0������A0
���)
�	��������
0��	�0+����0
��� �����
���)
��6
����
�H�;��� 2�6
�����L��
0
2������)������ )
����'���
O��	4	�
�<��� ���� �� :�!� )
�H�;��� 2�6
���� )��#����� �4
	� �� ���	.�� ���=� ��� �2�"=� �+�
�
���5�50��
)�0��5�����)���	���������	�0+����)���E���	�������F =����
�
��
�.����
��
��
��

����
���
����
�2�0���
���� :�!� )
� �6
���� 
� ���)���"
�2��)� � ���=� ��� �2�0� �	
7�� ����/	�
� 
� 
?���
� ��� ��	�
(���
��
�.�
7����=�4
	=�����2�"=����N���
��
�����
�
���� ��	�
(�����	���	5
	4	���	$
�H�����	�
(��I��
�

�0 �' �+

0"
"�

��

�22

�+
+'

+�

0�

"�
0'

�0

�2'

+�

2

�2

,2

�2

02

�22

��2

�2�0 �2�"



�

�

�
2��3����4�������������

�� �

e�1A0
���)
�	���������+���)���+���;��
���
��)�)
�f�
�

!)�)
� � �\�	�������� � �\�0
������ � �\�0
������ �
��

�����

 � �2 � , � � �

���

 � �, � �' � �" �
���

� � '" � �0 � ,� �
���

� � �20 � ,2 � �0 �
,��

� � �,2 � ,� � "" �
'��

� � ��2 � ,+ � ��� �
���

� � ��" � �' � ", �

���	�����

� � �� � � � " �
$���2 � [�� � ��� � &&���

����������
�����

����
[���

��������5�
0����

�&��

�
*���	
�	�� ���� ��	�
(��������
�.�
7���
�
��

�	
��� � � ������
��4�	�����6�	����	����
�����

��H��
��������������������	������76���	����
	

���
������ �
	
��I�������8�������4���)
����
�$������F��
$6�	��� �N�� ��� ���� �� ��	
�	�� ���	�	�� ����
$
�$��� �(C ��� ��� ��
�	1	�	/�()
� 
�� �
��
	����� �
�� 
�
	
��	�
�����
���	.��������4���
�	�(C�����
�

�
��������������)
�:2
;�.�2�)�)
�
�

�
�

:0� ���� � �

�	
�
�� ��$��	4	���<��� ���� ��	
�� .��$��B
�	�� ��� ���
�� ��4���
�	��
�� .��
� �
�	$
� ���
�������)
�7
�
�6�26�0
�����
0�
���2�;���	���
	�)��E ���F ���
�.���
�
��	
����
��
�����
���
��

,�"

���

,�

�2,

����*����
���
����
$
�$	��
�
����
��	
�
5	���

7��	��

�����

�	(C��
��.���4	���

����<��	��
�1	
��5	�
 ����<��	��
���1	�
���



�

�

�
2��3����4�������������

�, �

�

�� ���
���
�=� ��
�8�<��� ���18�� �� ��
�B
�	�� .���� � � �	�	
�	()
� ��� ��
�.�
7���
�
� ���
��	�
(��� ���5�$�	�� �.�
��� �
�� 
� ��	�8�	
� E���F� �������� 
9+����� �� -����
�� )
� ���	�� �0.�
���2 �� ���
���	�
��������
)
������.��7���
��������������
����� ��	�
(������������������	�8�	
���
�5��.
�����
�
�5��.
�����
�

�
����:���)�)
���
-
�
�	��)�����

�

�
�
*
��

5
��
��

�����
�	��������4���
�	��
���������� 	����������������4
���=��� 
)5	���� ��
��,+^�
���� ��4���
�	�(C��� �� �� ��A)
� �
�� ,�^��9��� �
�
� 

� �

� ���
���
=� �� �����()
� �

�	 
��� �� ���� 
�
���$	(
�������	����4���
�	����	�
(���.����
�!��&�=� �

���
�����
��
�
�
�����>6���

���	������2�0=�

�����$	(
�������?����.�
�	���<�����������()
��
�
� �
�	�������4���
�	��
�����
�
�<�������
�
�
����^������4���
�	�(C���4�	����.�����.��.�	���4���� 	��=��.����������������	��
�
���	�
��8
��=�8����
���	�
���=�$	��
���������2�0��	
7�<���$��	4	���
��� �����8��	�
��
�

�	����
�
� ���� �� 5��
��� ��	
�	�� ���� ��4���
�	�(C� �� ��� ��?��� ��$8�� �
� -
�.	���=� ��	��
��.��	4	����
��� ��� �

������ �������
$
�$	��
�
=���
 �8�<����� 
�����	����� ��� �.�
�	������� �N��
�
�����$	(
�������?���.�	�6�	��H��
��
�������?��I=� .�������������	�
(�����>�����4���
�	�������	��
.���
����
����
�

�
��&�$
0+��0�)���)
��
�+�����P���6������>)���
��
0+� �)
�+
�0��M�	���

�
�
��
������� �'��	��������@5
�	
�����0��+����
0����� =�����	
�	��1�
�4	�	
���
�!��&����	���������
�����=� ��8� �
� ���.
� �6�	�
� ��� '� �

���%�	
���$��
� � 
�� ��	
�� 	
�	�B
�	��8� 
� ���� ��	�
(��� ����
4	����������.
	
��
�����������

��H,�^�������	�
(�� I��

�,+

�0�

�,

��

�+'

�2,

�' �0

2

'2

�22

�'2

�22

�'2

�22

�'2

!�?�� �����()
 #��	�	� %���
�

�2�0 �2�"



�

�

�
2��3����4�������������

�' �

*� 2��;��0�������)���	�����@5
�	
�����0��+����E����	�� �����F �4
	�.��
��
�	$
�������
�	()
�.����
��@�
��3�� !��	�� 	
�������
��� �
��	���� ���
���� ���� ��	�
( ��� ���� ���
�	���� .���� 
� �@� ��3=� ��
�8��

�����	����������5����	.
������
�.�
7���
�
�������� ��

�	����<������������.
������������
6�	���
�������

���.�����

�&*�����2�2��
�����4��	������
��.�����
�
�����������
��8��

�	�	
 
��
�.����	
4
���()
�������$8�������N���!��6�
	�.
���
������� 
��4	�7�����	
	�����	$����>�����.��� ��4��	�
�
��
�	$
���������()
��
� �.
	
�.����
�����
6�	�����	���.�
4�
���������������
���

�
e�$
0+��)
�+
�0��M�	������D1!�!�
0������f�

�
�
-6�������
�B
�	�=����
�$���������
��������N�=�.���� .�	$	��5	���
��$6�	
���

����
��
�����	�������	�
(� ��
%�� �.
	
�� ����	/��
�� ������	$���
��� ��� �

����
� �
� 	�	�	6�	
=� ��5�
�
� �� 

���� �
6�	��=� �	/���
���.�	�
�����	�
(�������
)
�4�����
����
�
7����

�� ��
�������	$
��
��.
�������	�
�������=�

������	/����.�	�
��
��.
	
��	 ��
=�
)
�����
�

������4���	�����4����B
�	���������

�����8�����	/��
��
�����������
���

����
�������	�
(� �
���
��
���
	���

����
������

>�
�
�H4����	����

������
��I��*���8�
	����������	.���&�*$�	�
��B��$	
� 
���	
���$	��

���
�	�
��������5��������.���
��.
	
�

��
����
�
��4����	������������4����B
�	���
���������� ����	��
��������
����6�

���	4���
�����

����
��

���$	��������	�
(�=���>������4	
	���.����4����	���

�
�
�
�
�
�
�
�

�+T��'^

+"T�,�^
,2T���^

�"T��2^

�0T��2^

 �

������������� �������

� *�8����

� *�8�,��

�  �	������'��

�



�

�

�
2��3����4�������������

�� �

�e�"���6��)
���>)��)��D1!�!�f�
�

�
�
����1A0
���)
�g0Z���
�2�=�)���

�
����2�0�4
����.�5
��0���0��V��������2�"�4
����.�5
� �02��"�V�=�
�������������/�
����
�	�	
�	()
�������"2�V����

�����<������������	.���� 
�8��
���4
�(
�������	����()
�.������
��
��1	�	/�()
���������
��(C����
�
�
�
�
�
�
�
� �
� �

�0T��2^

�T��^

�'T�0^

��T���^

�2�T�'�^

�T��^

�'T�0^

�T��^
 ���
(��������	��
�	���
���
�4��	�
�.����
������N��4
��
����1��
5B
�	���������������&
*$�	�


!�	���.
����	�
(�
	
��	���	

��	/���

!�	���A#��	�����������.
	
��&�
�
#��	�	��
)
��
�.��������
��&�

������
��.
	
��&�<���	�����
�	���5����A	
4
���()
�
��4����
�����5	��
�
��#*

������
��.
	
�.A��@���3



�

�

�
2��3����4�������������

�+ �

�����!�7H�
�
���������
��=�����)��+�+52������+���)��
0������

�
����
��� 
� �

� �2�"=� 
� �*�&�O� ��
�.�
7
�� ���� ��	�
(� �� H��	�� ��	�
(��� ��� ��
�.�
7���
�
�
�
�.����	$���
����
���2�0�S�"+���	�
(��I=���
�
���� �����
?���
�4�����
����
��

5
��
��

�.��
�
4���
���=�

��������
����=��������	
��	/��
��

$
�� ���
��H �� I�H��.��	
�����2�0�S��"��	
��	/�(C��I��=�
.
��
���
����
=��������4�����
��.�
����
����������� 
����$	(
�H �&I�H��	����������������2�0�S�+������I�
�����
�	()
�.����
��@���3�H �[ I�H
�����
�$��
������2�0�S�������
�	(C��I��-
�$���	 
���������
����
������	�
(������4���������
�
�������()
�F����4���
�	�(C���.�����&A���4
��������	 /������
��

5
�����2�"������H <I���4���
�	�(C���
�����	�
(��������5	)
���
��
��
�
&

������
��=�
��*�&�O���
�.�
7
������
������������ 	�
(�����>�����	�B
�	������	����4
��������5	)
�
��
��
�H���
��.

���	�I=�

�������
���+������5	)
�! ��=��������5	)
��
���������
��*(
����H��7�����
!)
�  	5���� �� ��7�� �
� �
�$
I�� %� ��
�.�
7���
�
� �� ��� ��� ��	�
(��� 4
	� 

� E�1	�
� ��� �$��	�(C���
4�
�	

�	�����$	�)
����������
$
�$	��
�
���

�����
 $
�$	��
�
�����
�.��B
�	�����.���4	���������
�
�����
�=�����$	�
�F�����	
��5��()
����>���	�<��<	 
4E
�	�=�4
	�����	/���������()
������
�	1	�	/�()
�
�
��
��.�
4	��	

�	���������

����
���
�

e�1A0
�������2�)
�	��������-�0>2�����+���)���
0���� ���+���)��������
���+��)
�)
-�	�M�	���6��5�2�f�
�

�
�
�
�
�
�

�'

�

��

� '
�2

� �

�

�

�

+

�
�

0

�

�

��

'

�2

�

2

'

�2

�'

�2

�'

�2

�'

,2

*$�	�
 ������

3��
�


�
	�1�� Q����� N�	�	� O	���

3�	���O	�)
 ��5��	�� �84	���O	���������1��� %���
�



�

�

�
2��3����4�������������

�0 �

&
���
1���$��<������� 
� �	���	�
� ��� �
	�1���8������� � ���� ���� �����	
�� 
?���
���� ��	�
(������
��
�.�
7���
�
=�F������7�
(���
���

���
���	
�����9 
�
��
���	���	�
������
������
�
?���
����
���
�� ��
�.�
7��
�� ��� ����()
� �� �2�0��*� �	���	1�	() 
� ��� ��	�
(��� ��
�.�
7����� �
�� ��	�8�	
��
.���� 3�	��� O	�)
=� �84	��� O	����� ����1���� �� %���
�� 8 � �����7�
��T� 

� �
��
�
� ���<��� $	��
� ���
����
�
=�
)
���	�
��	5
	4	���	$
������	�
(����
��1� 	���$	�)
��.����
��
�
<����
����	
��	
�	�B
�	��

����	
�	���
���	���	�
���*���5��	�����
�8�<����
�
 �����.��
�
5	���
��.
������.����)
=�	
�
��
�
�
�

��
��
�������

�����

��.����������
$
�$	�
�=� �

4	���
�
<����
�
�����.��
�
5	�����1�	���
	
�	�B
�	���!��	�
��<����.�
������=�
����
������5�� 	��������.������

��	���	�
����*$�	�
������O	����
�����<��� ��� ������ ��	�
(�� .
	�� ���
�� ��� ���	�B
�	�= � ��� �����1�
� �2�"=���
��
�
� 
� �.
	
� �
�
�*�&�O�����$�/������

�	
�����
��
����6��������1��
 5B
�	�����	
���$�
()
�������	.���

�
e1A0
���)
�	���������	�0+����)���+����)�)
f�

�
�
�
�5�64	�
���	�����.��
��
=�8�.
���$���
1���$������ 	���	1�	()
�������	�
(�����
�.�
7�����.
��	����=�
��
�
�$	��$�����������	
�	��������	�
(�����
�.�
7�� ���������	��������������H�+^I=�F������7�
(��
�
� �

� ���
���
�� ��� �
�.���()
� �
�� 
� �

� ��� �2�0=�
 � �*�&�O���
�.�
7
�� ��	�� ��	�
(��� �
��
	������
�.���
�	����
����
����<���������

��
��
�
� ��.����
��5��������	�
(����
����

��������
��������
���<��������7�
���F��
���

���
���	
����H� �^I��
�
�
�
�
�
�
�
�
�

,T��^

�,T��2^

+�T��+^

2�<��������� ���<���������  �	�������������



�

�

�
2��3����4�������������

�" �

�e�1A0
���)
�	���������	�0+����)���+����
9��f�

�
�
M� .
���$��� 
1���$��� �� �	���	1�	()
� ��� ��	�
(��� .
�� ���
=� $��	4	��
�
<��� ���� .���
�	
E
�	�� ���
��	�
(����
����
�������	

�H'"^I=������7�
����
�
?� ��
�

��

����
���
�
�

�
��������������)
�:2
;�.�2�)�)
�
�

!)
� �

�	(C��� ��� ���	��)
� 

� �*�&�O� H�*&�9:N%� ��G� & �%��!!%� ��� *� �!!l%� �%!� �N���9�!=�
�%� *�O����
���5�����
�
��
���

IG�

��  ��	�
(����
���������	�����$	�����1	

�������
��	5	� ���
�����A�2���������.
�$	�����	5����

��	
4��	
�����2^�����	�
(����
����5��	����

��  ��	�
(����
���	�5
���	�
�
4����
��5	�
�����	
�	���� ���.
��	1	�	����������	��	������1�	���
$	�)
�
����5��	����

��  ��	�
(����
���	�5
���	�
����
	�
�����	
�	������.
�� 	1	�	����������	��	������.��
�
5	��$	�����
���
�	�����
�
�
�
�
�
�
�
�
�
�
�

,+T�,�^

�"T�'"^

#��	
	

  �����	





�

�

�
2��3����4�������������

+2�

����:���)�)
���
-
�
�	��)�����
�

�
�

�
��

�����2�"=�8�.
���$���
1���$��<����������	���	 1�	()
������	�
(���H���
��

$
�I�.
���
�	������
��4���
�	��
���=� ���� �
�
� ���� �	�
� ������ 

�� �

�� � 
���	
���=� ���� ���� ��	
�� .����
��5��� .
��
.����������
�	������7
�.	�����������������
�	������ �)
��

�	������������

����������
4����
�
5	�=�
1�	���$	�)
�������
$
�$	��
�
��*�����	.����
��	���� �	
���$�
()
�.���
����)
��
�	�������
������
.����
��5����8�	��H�"^I=���5�	�
�����.��.�	���4���� 	������

����
��������	$
��H>���	�<��<	
4E
�	��
������7��I��
�

�
���&�7�����.5�����;
�;�O-�	�%��A0
���)
�	��������-� 0>2�����+���)���+���)��������
�

� $���2 � �6
��� � ����
2��#���	� � ���0.�� � N5��)� � �
���� � H��
5 �

��	�
(�����
�.�
7����� ��[ � �, � +� �' � �2 � �� � �2 �

���
���
$
�� �� � +� � � �� � � � 0� , �

��4���
�	�()
��&A��� <� � � 2� , � 2� 2� � �

O	�	����H�
���	�*$��	�()
�#�
�	

������O	�)
�
A�����
$
�$	��
�
T���$
��(C������

�
4
���()
���%1���$�(C��I�

�&' � �+ � 0� ,2 � �' � �' � �� �

�
��7	
5�����
�.��B
�	�����.���4	��� � �'& � '� � �0 � '� � 2� �� � ,� �

���
	 C�� � �&� +� � � � � � � � � � �

9��
�	(C���.�����@���3 � �[ � � � � � ' � � � � � � �

*����� �&� 2� 2� � � ' � � � 2�

�

�"T�',^

,T���^

�2T��"^

�T��^

-
�.	��� #����	� �N� �

����
�������	$




�

�

�
2��3����4�������������

+� �

����$
0+��0�)���)
��
�+�����P���6������>)���
��
0+� �)
�+
�0��M�	���
�
*����	�
(�����������	
�����
���
�.�
7���
�
��
��*�& �O�����2�"��	$���������8�	�� ���0
�
��

0� �	�0+����0
��� � H��.��	
�� �
� ���.
� ��� ��
�.�
7���
�
� ��� �2�0I�� ��	 ����� �	4���
(���
�	5
	4	���	$���
���8�	��������.
������
�.�
7���
�
� 
�����	�
(����������
�	������.����
��@���3�
H���������'0������������
�.�
7���
�
=�����8�	�I���� �����	�
(��������	$����������H����������0�
�����������
�.�
7���
�
=�����8�	�I��

�
��[�1A0
���)
�g0Z���
�2�=�)���

�
&����������	/�()
����������	$	�����=��
��

5
�����2 �"=������	.���
��*�&�O�����	/
�� &&�����g0Z� =�
��	�	/�
�
���	
�	���	���
���
������
��������$	(
��= �.

������
��=�$	������.��.�	���

�
�
�
�
� �
�
�
�

� �



�

�

�
2��3����4�������������

+� �

&����
	�
��
�

&��� �����
��=����� )�� +�+52����� �+���)�� 
0� ����� 	�0� ��O2��
� L� �)0������ )
� ��6���
	��������
���>)�������
�+�������	��2�)
���
	�
�

�
��
�
� ���.�	��
�
�F�&
����	�� 
�@� ���A�2��=� ��� ��� �� � �5
��
=� �� ��� ��
��
� �
�� 
� ��4	
	�
� ���
��5�����
�
��
���

=�������7��*��&�����	
�<�������	 �
(����
��	�������
�.���
�	�����
����
��,���

�������������
#���
����
�5�
	/�()
���.���4	��=�.
���

����	$
=��� .
.���()
���$
�����4�����
�
��������7�����>�
�	�
�
���5
��
�
)
�4
	�������������4�����
�
����������1�
 �����/��1�
��
*1�	�
=��.����
��<������	���	1�	()
������	�
(���.
� �4�	�����6�	�������
=�1����
�
�
��
��������
�
�
����������	
����4	��()
�����
�.���	�	.�()
�4��	�	�� A��
���	���������4����	����
�

e�1\�����2�)
�	��������	�0�-�
@5M�	���
���
�B��
��� �
��;�����)
������E)�����.5�����+����)�)
��
��
9�F� f�
�

!)�)
 � 1A0
���)
�	������� � �
0����� � "��	52��� �
,����������� � �2 � , � � �

������,������ � �' � �� � �� �
�,����������� � �� � �� � �� �

$���2 � �< � �< � �� �
�

e�:�@5�)��0
����@5
�)
�
�0������-�9�����)��	�0+���� 	�+�����-�0�2����0
���2�)�)
�
���
�B��
����
��;���� �)
������f�
�

:�@5�)��0
��� � 1A0
���)
�	������� �
*�
��
�����

.���()
��!! � �+ �

&�
�
�
�
��-:� � �� �
��5	���&���	����� � �0 �

$���2 � �< �
�
���� ��� ��	�
(��� ���� ����$��� �1��
5	�
�� .��
� &�
�
�
 �
� �
�� 
� �-:�=� ��� �
�

���$��<���
.
�	�	

�����

�'�@������)
�����

���@���
����'+���	�
(��=�����	
7���	��)
����4�����
������	
 ��	��	()
�H�2�4�����
������
�>���	�����	
4E
�	��
����������7�I��
�

e�1\�����2�)
�	��������	�0�-�
@5M�	���
���
��
�
0.� ��
�)
=
0.���)
������E)�����.5�����+����)�)
��
��
9 �F�f�
�

!)�)
 � 1A0
���)
�	������� � �
0����� � "��	52��� �
,����������� � �2 � 0� � �

������,������ � �, � 0� � �
�,����������� � �� � �" � �+ �

$���2 � [� � �� � �� �
�



�

�

�
2��3����4�������������

+� �

e�:�@5�)��0
����@5
�)
�
�0������-�9�����)��	�0+���� 	�+�����-�0�2����0
���2�)�)
��

���
��
�
0.���
�)
=
0.���)
������f�

�

:�@5�)��0
��� � 1A0
���)
�	������� �

*�
��
�����

.���() 
��!! � �+ �
&�
�
�
�
��-:� � �" �
��5	���&���	����� � �, �

$���2 � [� �
�

���� �"� ��	�
(��� ���� ����$��� �1��
5	���� .��
� &�
�
�
 �
� �
�� 
� �-:�=� �'� �
�

���$��<���
.
�	�	

�����

�'�@������)
=���

�,�@�����

���@���
�����2���	�
(��=�����	
7���	��)
����4�����
������	
 ��	��	()
�H+�4�����
������
�>���	�����	
4E
�	����
,�������7�I��
�
�
�
�.����
���

������=�$��	4	�
�<�������
���
��

� �	$	������.��(
=����������
�
������.��	�����
����.���	�	���������.
�����������	
��
?���
�����
�	 �	��(C��=���	��	
�
�����.�
�������.��	
��

�
���������4����F������������

���1��(6�	
���
�
!��	�
��<�������
�
?���
����4����	�������1	�����
�� 

5
��
��

�4
	���.��	
���
�
?���
������	�
(���
��4�����
����������7�������1����<����,���

$�(C���� ��������������"����
�	���������9
����4
����
��$
�����������
�
����
6�	���.�����4�	�
��������	�� )
�
������7���9�
�
�����

���
����	�8�	
�����
���	��)
��
���5�����
�
��
���

�������.��	�������4	 
	���.����������7�=�����,���

$�(C����	$�����
���	��)
� 	���	����� *.��� 
� .�
����
� ��� ���	��)
� ���� ��
�	�������� �����	

����=� ���	��	���� �,�
��	�
(�������
)
��4��	$����������.�
����
���
�
��	� 
����	���	��
���1��	�������.
��
�������������
�
�

���$�������	���������.�������
�
����	� ����������� �2�	
���	(C���.����4�����
���� �� �� ��7��

��

� ���	$
�����2�"A�2�2=���
�
� �	�
�
�

��	����
��,�5��.
�������	�
(��=�������1��(6�	
�� 
���2���	�
(��=���������

��
���,���	�
(��=���
�����������

���
���0���	�
(����
�
7
�9���0�)
�-�
@5
�������	�
	�
����	������� =���
�
��"����
�	���
�.����
�>���	�<��<	
4E
�	����� *��&�
����.������������
�	�6�	����������()
�.�8<���
����� %��
�	$
����5��
�.�����4����	���.������
.()
�.
��

���
� ����1����	��
�
� ��� �����()
� 4
	� �� ���B
�	�� �� � ��
��
� ���� .���	��� ���� ���� 
4����� ��	��
��

��	����������
�	$
����18��4
	�	
$
���
�.������, �4����	�������
)
��4��	$�������	
���	()
��
�
�
�
�
�
�
�



�

�

�
2��3����4�������������

+, �


��)�0�)
�!�-?�	���
�

���� �����
��=����� )�� +�+52����� �+���)�� 
0� ����� 	�0� ��O2��
� L� �)0������ )
� ��6���
	�����������>)���
��
0+��)
�+
�0��M�	�������
�+���� ���	��2�)
�
��)�0�)
�!�-?�	���

�
��
�
� ���.�	��
�
� �
� ������
<N�	� 
@� �,+A"+=� ��� ��� � ��>�
7
� �� ��� ��
��
� �
�� 
� ��4	
	�
� ���
��5�����
�
��
���

=�
�D���	������
4E
�	��*��&����� 	
�<�������	�
(����
��	�������
�.���
�	����
�
����
�����

����
�	
5����
�

��
�	

�16�	�
�� �
#���
����
�5�
	/�()
���.���4	���.
���

����	$
���.
 .���()
���$
�����4�����
�
��
�>���	�����	
4E
�	��
���>�
�	�
����5
��
�
)
�4
	�������������
�4�����
�
 ����������1�
�����/��1�
��
*��	�=� �.����
��<��� �1�	�
� �� �	���	1�	()
� ��� ��	�
( ��� .
�� 4�	��� ��6�	�� �� ���
=� 1��� �
�
� 
�
�
��������
�
�����������	
����4	��()
������
���	��� ������4����	����
�

e�1\�����2�)
�	��������	�0�-�
@5M�	���
���
�B��
��� �
��;�����)
������E)�����.5�����+����)�)
��
��
9�F� f�
�

!)�)
 � 1A0
���)
�	������� � �
0����� � "��	52��� �
���

��H
���2�'I � �+ � � � �� �

,��

��H
���2�,I � �� � �� � �" �
'��

��H
���2��I � +� � � � �

$���2 � �[ � �� � �� �
�
:���������	�
(�����������	
7��	
���	�
�
)
��7�5
��� �4�����
����
�>���	�����	
4E
�	�=���
�
�
��5��.
��
	
	�	��
��
��'����	�
(��=��

4
����
������
��.����
 ���
��

�
e�:�@5�)��0
����@5
�)
�
�0������-�9�����)��0
���2�) �)
�
���
�B��
����
��;�����)
������f�

�

:�@5�)��0
��� � 1A0
���)
�	������� �
&�
�
�
�
��-:� � �2 �
��5	���&���	� ���� � �� �

$���2 � �[ �
�
���� �2� ��	�
(��� ���� ����$��� �1��
5	�
�� .��
� &�
�
�
 �
� �
�� 
� �-:�=� �"� �
�

���$��<���
.
�	�	

�����

�'�@������)
�����

���@���
����'����	�
(�����4�����
���=��'��	
7���	��)
����4� ����
����������7���
�
9�
�
� ��� �

��� ���� ����� .���
�
� �
	
�	��� �
�� 
�4	
� �� �
� �

� ���	$
=� ��	������ ���4�����
���� 
�
>���	�� ��� 	
4E
�	�� ��� ��	�
(��=� ��
�
� '� 	
5������
� 

� ��@� �	��
� �
� �
�	

� 16�	�
=� �� 
�� ����� ���
�����()
�.�8<���
�����
�	�6�	������
�������.�	$���� ��������()
�.�8<���
�����
�
������.���
�
=����>�
�	�
����5
��
=����
����������	 
���	(C�������

$�(C���.����
��

����	$
���5�	
��=�
�
�.���
�	�
��
��������������1�
�����2�"����������5 
��
�����2�2��



�

�

�
2��3����4�������������

+' �

����1����<���,����

$�(C������������������,��	
���	 (C��=���
�
��2�
�	�
���������	�
(����������7��
*��&�����������
����9
����4
������$
�����������
�
� ���
6�	���.�����4�	�
��������	��)
�

�>���	��
���	
4E
�	���������	�
(��������4��	$�������	
���	() 
=�0��
���������	
���	()
����>��7
�.
���������	�
�
���	�	����
�������.?1�	�����������()
�.�8<���
����� ����	�������������2�	
���	(C���.����4�����
����

�>���	�����	
4E
�	��

��

����	$
�����2�"<�2�2=��� 
�
��	�
��

��	����
����5��.
�������	�
(����
�
��
�����7����
58
�
���
����	�
(�������=�,���'��

���
�

e�1\�����2�)
�	��������	�0�-�
@5M�	���
���
��
�
0.� ��
�)
=
0.���)
������E)�����.5�����+����)�)
��
��
9 �F�f�
�

!)�)
 � 1A0
���)
�	������� � �
0����� � "��	52��� �
���

��H
���2��I � �, � �� � �� �

,��

��H
���2�'I � �' � ' � �2 �
'��

��H
���2�,I � �2 � �� � " �

���

��H
���2��I � � � � � 2�
$���2 � [� � �� � �� �

�
e�:�@5�)��0
����@5
�)
�
�0������-�9�����)��0
���2�) �)
�
���
��
�
0.���
�)
=
0.���)
������f�

�

:�@5�)��0
��� � 1A0
���)
�	������� �
&�
�
�
�
��-:� � �2 �

&�
�
�
�
��
����!
��	�
� S�
*��
�	�()
��
��	
7
��
��
&����
	�
���

� �

��5	���&���	����� � �0 �

$���2 � [� �
�
���� ��� ��	�
(��� ���� ����$��� �1��
5	�
�� .��
� &�
�
�
 �
� �
�� 
� �-:�=� �0� �
�

���$��<���
.
�	�	

�����

�'�@������)
=�����

�,�@=�����

���@ ��������

���@���
�����2���	�
(��=��"��	
7���	��)
����4�����
������	
 ��	��	()
�H�2�4�����
������
�>���	�����	
4E
�	��
��"�������7�I��
�
�
�
�
�
�
�
�
�
�
�



�

�

�
2��3����4�������������

+� �

[���
�����)
����0�����
�

[���!�)�	�)��
��;2�.����)��-��0�����
0��
�0���	�0+� ����6������[������P�:6�25����
�A0
���)
�-��0��)���
���8
��

�
����2�"=�
���
��
� ���#
���()
����*��&�.�
�
$������ � 
���� ��� �&���8
��)
�-��0����� 
9�
�����
	
���-�	�)�� �H��
�
����������������	�6������

�����������2�2I=� [���8
��-��0���6������
������E50��
)���@5����-������	��)��
0����'F�� ���	��
�����L
�V�7
.��4
����	$
��H���
�����	���

�� 	����
��.
��,�
L
�V�7
.�� 	
�	$	���	�� ����.
�� ��L
�V�7
.��	
�	$	��� 	��H���
��L
�V�7
.�� 	
�	$	���	��	
���	� 
� �	��
�
����	
�� ��� �2�2=� .��
� ���� ���6� �

��1	�	/��
� 

� 1�� �
(
� ��� �2�2I�� *��	�=� �
���	/��
�� ���
,��/���+��-��0���6��� ���,��/���+�)�)O��	� =�������)
����6�	�����������C�������

$������	
4
�� �	��
�
1��� ���6�	���� 	
���
���� F� 	
4E
�	�=� .��4�/�
�
� �� � �
���� )
� ��� ���6�)�)
�� -��0���6����
��-��0���6�����
�
����0� �.���;�)��� +
2��� ��� ���6�)�)
�� -��0���6�����- ��0���6���� 50� ����2� )
� �'�� +
������ H�"��
4
���
�
�����00�.���	�	.�
���������	$	������	
4
��� �	$����
�
���� �����8
��-��0�����+�
6������
0�+2����)
�-��0�����+� �6������2� 4
��������
$
�$	���� �����8
��
)
�-��0�����+�
6������
0�+2����� ��
�
��	�
�	
���	���� -����������� =�����6�����8
� =����	5
�����
���
������(C���������	/����
��1�	5
��
��

����
����.��� ��()
�������$	(
���
����%!#�H:��E
	����!8�$	�I���
��

$����	()
��
�����
�!Q!=�����	/�������9
������
$ �����$	�
��
�
�@����$��
����4
���
�
��	
���	�
��
.��������Z���	()
��&������8����������(C��=�4
���� �
�2�=�)�������8
��)
�-��0��������
�����+�������
+��-����������)
�!�!�
���
	�
� � 

�E�1	�
��
���5	���D����	�
���������()
��
����	$� ��� �
�0���)����
�����CD
���.�2�=�����������;��0���������	�>6
��%��) 
@5�����L�+�O��	�G �	
	�	��������2�0�����	
����
�
���
��1
���
��������D���
�
��.
������4��	������ ���0���6���)
������
�2�=�����)�����8
��+�
6����� �4
����
����5�	
���G�

��  &
�� �
�	$
�� ��� ��?��� ���4
����
��� ���.

�6$��� .��
� ����
�H�
�
� *.
	��� �� 	
����)
� 
��
����7����

�.�8<���
���G��

����
�	���
��1
���	$�I= ��

��  �1��� �
5����0� �� �A0
��� 0>��0�� )
� -��0��)��� �
	
��O� ���� L� �5�� �
�2�=�����
H.������������ �� 
������������� ��
������ /0� 1� 2� ����3 =� ��� ��5��
5
�� ���  

����/T�
��������� ��� ��������� ��� ����$�� 1� ��$���� )�����
�� �� ����������� � ���
�
� =� 

� &
��
� �� ���
�
	�1��=�����
��1
��()
��
�� ��#*#����- Q���
�����
� 4�
������� 
��� 
�$������ ����0�����2�
���� =�.��$	��
�
�
���������
	�1��I���

��  &
��	
�	�.

	1	�	������
��4
����
����H	
��5��()
�!� 
�
�	��=�&-�*I��
�
*� ���6�)�)
�-��0���6��	
���-�	�)��)
�
�6�26�)� =��

���.�
���������()
�������.��

����4
���()
�
)
� ��&� ����� �� ��� 5�
����	����� ��� �(C��� ��� 4
���()
� ����
$
�$	�� �� �1
������� �
1�����
� 
��
�

��?�
��.����
��
����F��6��������4
���()
G�+��G�9 ��1��7
�!
�	������
�	�
��()
���+���<�!��$	(
��
���*.
	
�����	�
(�����D
$�
�=��,��S�#
���()
�.����� �����
��������
4E
�	�������6�����+���S�9���.	��
�����1	�	��()
��



�

�

�
2��3����4�������������

++�

9�
�
���� �

�	����()
�
��$��
���� 
1�	�
��

� �

� ��� 
���
=�$��	4	��<��� ���� ��� �2�"���	��	�� ����
�	5�	��� ����	��� 

� 
?���
���� -��0��)��� 
9�
�����@5
�-�
@5
�����0� ��� ��8
��)
�-�� 0���� �� �
�
�
��
�
=� 7
�$�� ��� ����
�
� �
� 
?���
� ��� .���	�	.�
�� �� 
��� �����
���� ��	$	������
4
����	$��A	
4
����	$��� ����
$
�$	���� .��
� ��
��
� � �� 4
���()
� ��� *��&=� ���� �
�
� ��� .
���6�
$��	4	����

�.

�
����.�	��
�������������	$	�������
�
�

���
=� ��� 
1���$���
�� 
� 5�64	�
� ���� ��� ��5��=� �� � 	4���
(�� ��� 4
���
�
�� 
)
� 8� �	5
	4	���	$�=�
�.��������
�
?���
�����(C������4
���()
������
����� ��	/����������������
���
�����
��
�

e�:6�25����)����\�)
�-��0��)���
���8
��)
�-��0����� 
9�
�����E���[�����F�f �
�

�
���������	
��	�
�����
���
����������
�
������
����� 	����
���	�������

�
��.
���� ��4��	�� ���� ��� �(C��� ���� 
1�	$����� ��� ��	
� � 
?���
� ���4
���
�
��4
���� ��� �(C��� ���
������ ����()
=� ���	5
�����
��� �� :�	�2�� )
� �6�2������ )��� 	�0+
�M�	���� ��� )
�
�6�26�0 
����
��-����2�!!� H!�7������
4�Q�
L	
5�!V	������I�����

��
��������,� �(C�������	/����=�
1�	$���������
�������
����4
���
�
���
�
7
��
;5�)���-����
�O�50���+�
�
�������0����)
��2��) ��)��
9
	5����)������6�)�)
��-��0���6���
�
��-��0���6����
�2�=�)���
0�������
�
� �"�VW �:a$:�1���I$ �!1�1�!�7�%�
9�
�
� ��� 	����)
������ �� -��0����� 
9�
���� �5��-����	��)�� � 4
���� ����������� �&� ��8
�� )
�
-��0���� �H�������	�������()
�����	
��6�����2�2�<�#
���()
�
 ��!8�$	�=�.��
��������	
�����
��
�
�@�
�
���� ��� 7
���� ����	/����� ��� �2�"� <� �'7� ���� ��� 7I=� 
��� �
���� ��� �['� ������� �.���;
�)�� ����
-��0��)�� � �
����.

��
�
� �� ��� $
����� �
���� ��� �[��� ����� � ��� 4
���()
�� 7
����� �&� ��8
���
�
�2�=�)������2��;��)
�������-���0�	��	25>)������ �
�

�
�0 �, �,

��'

��+

��� �"'

2

'2

�22

�'2

�22

�'2

�22

�'2

,22

�2�� �2�+ �2�0 �2�"

���*(C�� ��@�4
���
�
�



�

�

�
2��3����4�������������

+0�

�e���8
��)
�-��0�����
9�
�����
�2�=�)���
0��������
 ;5�)����)5��������A0
���)
�-��0��)�����;��
����
6�250
�)
�-��0������)�����
�2�	�2�)
��
�2�=�����f�

�

�
�1�:� �

�
�5���������)
�-��0�����

�
75������
)�������

1 �\�)
�-��0��)�� � �
H�250
�)
�
-��0�����

�
7���E�F�

�
� ����D
;5�)����;��
�� �

� � " � $���2 � ���� �

�&� � ��O��	���+
)�;3;�	���������2�6�
�
0�	���
9����
)
�
)5	�����)
���-?�	���

- 	 �2 � 0� �- 	 .- 	 " ��� �4�$���	�
 � !�������*��&�
�
	�1���

<[� � �5����)
�)
�
�6�26�0
����)��	��������� ��[�
�����

�$ 	 �0 � 0� $/ 	 $0/ 	 2����2,����
�1�	��

!�������*��&�
�
	�1���

<[� � !0+2
0
�������)��+2������)�6�)5�2�=�)��)
�
���
�6
�����+�
	�	
�E+��+F �1�6� �

�0 	 �5 � � �0 	 �.- 	 �,����'����
4�$���	�
�

D�����!)
�&���
G �
9
������
$���

<[�� �5�������
���6��)
����
�6
�����+�
	�	
 �1�6� � -1	 �2� 0� �-	 �//2	 ������4�$���	�
 �
���2������	
�

!�������*��&�
�
	�1���

<[� � �!!��E�2����!�)�6�)5�2�)
�!��
�6
�������
	�	
F � �0 	 �6 � � � �- 	 $$0	 �'���������
��	
�

:N!� S�-
 �.	����
!
���� ���	
��

<[� � :�	�2��)
��6�2������)���	�0+
�M�	�������
)
�
�6�26�0
������-����2�!!� H!�7������
4�
5�
L	
5��V	������I �

- 	 72� � � 13	 $$$	 �2�����1�	� � !�������*��& �
�
	�1���

<[� � :�	�2��)
��6�2������)���	�0+
�M�	�������
)
�
�6�26�0
������-����2�!!� H!�7������
4�
5�
L	
5��V	������I �

- 	 �8 � � � $2	 �-2 	 �'� ��� >�
7
 � 9
������ 
$�� �

� :�	�2��)
��6�2������)���	�0+
�M�	�������
)
�
�6�26�0
������-����2�!!� H!�7������
4�
5�
L	
5��V	������I �

- 	 �� � 0� �2 	 �/2 	 2+����>�
7
 � ��5��
5
�� ���
 

����/ �

<�[ � 13��
�2��������	�05��	�������.��)�;
0�
+�O��	��L��)�-�	52)�)
�����	�05��	����� 1�6� �

�0 	 �7 � 0� �$ 	 �-2 	 �����������
>��7
�

!�������*��& �
�
	�1�� �

<[� � :�	�2��)
��6�2������)���	�0+
�M�	�������
)
�
�6�26�0
������-����2�!!� H!�7������
4�
5�
L	
5��V	������I �

- 	 �9 � � � $4	 �4/ 	 ������
�����1�
�

D�����!)
�&���
G �
9
������
$���

<[� � ��05��	�����
����;5�;
0�
0����������	�0�
�:�� 1�6� �

�0 	 �2 � 0� �- 	 $$0	 ������,����
�����1�
�

!�������*��& �
�
	�1���

<�[ � !��
;������D
������2 � �- 	 �2 � 0� �- 	 $4-	 �'���������

���1�
�

!����*��&� <�
�
	�1���

<[� � �5������O��	����
	�0
�)�)���
0�!�!��)��
�
-2
9���L�+�O��	����$����
��-��������
�����
I	�?���� 1�6� �

-- 	 �8 � 0� $3	 �32$	 2�����>��7
�� ��
�������/��1�
 �

W	�$=�:��E
	� �

<[�� �5������O��	����
	�0
�)�)���
0�!�!��)��
�
-2
9���L�+�O��	����D��6�� � �1�6� �

$4	 75� 0� 10	 24/	 2+����2�

���1�
�

3��5���
=�!8�$	��

5
6	����� 	 $-2	 ��� 	 4	 $.4 	 4-.$ 	 �

�����������������������������������������������������������

' �%�����
��������_��7	��7

���
���$�
�	

G����
���
� ���&���	���=�4�
����4����	

��
�.���	��=����������� ��()
��
����������7
����������
����
� ��$�� 	
��	
� ��� �2�"� �� ����	
��6� 

� �

� ��� �2� 2=� .��
� ���� 
� 
�@� ��� 7
���� ���	� �.����
���
� ������� �.�
��� .���� ��� 7
����
�4��	$���
�����������
�
�@����4
���
�
������.���	�	 .�����
�����.�	��	���4����H�2�"I��*.���
��8��	

��
 �����
=����)
��

��1	�	/��
��
�

�@����4
���
�
����������	
�����
�����
��
���.�
$�	 ����
�
���
�@����7
��������������2�2���



�

�

�
2��3����4�������������

+"�

#

��G��������	
����*�	$	������4
���()
�����2�"���� 
��	����8�
	�
�.���5�5	�
������(C�������2�"�

�
#���� �
� �����	�
� 
�� ��1���� ��	��� �.����
����=� 
� ��
 ��
� ���#
���()
� ��� *��&=� 

� �

� ��� �2�"=�
	�.����
�
������
������� �&���8
��)
�-��0���� =��������	�� 
9
	5��5�����5������2�)�)
������8
��)
�
-��0�����	
���-�	�)� =��
��������()
��
���� $-2	(���� �������$�������� �����	��	$.4	�����
���
 �

�

e�N2�.�2�)�)
�)
���8
��-��0���6���	
���-�	�)���
9
	 5��)���
0������f�
�

1�\�)
���8
� � 1�\�-��0��)�� � 75����� � H�250
�)
�-��0���� �

�, � �"' � ��0 � '�" � �
�

#

��G��������	
����*�	$	������4
���()
�����2�"���� 
��	����8�
	�
�.���5�5	�
������(C�������2�0A�2�" �

�
#
�����	
��������
����	/������	$�������(C������4
�� �()
������
�
����.
���
1���$���.��
�5�64	�
�
�1�	�
��.����
���
��
�

e�1�\�)
���8
��)
�-��0�����
9�
������
�2�=�)��
0��� ����+���2�	�2�)
��
�2�=�����f�
E1�\�)
���8
��)
�	
����2�=�)��F�

�

�
�
� �

�
	�1��T�+

9
������
$���T�
�

Q������T��

��5��
5
�����
 

����/T��

:��E
	�T��

!8�$	�T��



�

�

�
2��3����4�������������

02�

 I$��D��$!H!7�7:D�� �"�$!H�D���!1� �"�$!H�D%�
&������8��������	$	���������4
���()
�����	4	����=�� ���2�"=�
���
��
����4
���()
����*��&�����	/
��
��� ����2� )
� ��� ���6�)�)
�� ��-��0���6���-��0���6��� � 

�������
��� ��� U
�V�7
.�A����C���
���6�	���=�������C�������

$������	
4
���	���
1���� ��6�	����	
���
����F�	
4E
�	�=��
���� )5������
����2�)
����������
��''�+����	�+���
��� �
�
��T��/���+��4�D
��8
��$
0O��	����!�-��0���6���

�

7
��;����� � 1�\�)
 �
+����	�+���
��

75����� � 7���� � ��	�2 �

T��/���+ %��
	5�����
��)�+������)
�
0��
������)�)O��	���+����	��������	�0�
	
;5
����

�, � +�7� 2,����
���1�
� � N	�1
�� �
H3�
5���� 65	��I�

D
������
0O��	� %����.2
0���)
�
��0+����0
�����5����.2
0��
0���)���
��0���	�0+����0
���h�

�� � ,� 7� ������

$��1�
 � !�������*��&�
�
	�1���

$����� � �[ � ���� � � �

��	2���)
� T��/���+� %�D
��^�!�	�>6
2���:)5	�����������6� �
��i�:)�����)��	�	2��)
� ,��/���+� �

T��/���+�� �<�*������(C����
�
���	������
������������()
�&
�	�	$��

�� � ,�7 � 2��������(
� � �
�
�

!�������*��&G�
�
	�1���

T��/���+��� <�%�&
�����
��N%Q�%G�1���
���������1�������1���

�' � ,�7 � ���������(
 �

T��/���+��� <��4	�6�	���������3%*�
�
��
	��()
��
����	�
(�����4����	���

�� � ,�7 � 2'�����1�	� �

T��/���+�& �<�Q���
�	��-���

	��

�
5��.
G���5������	
��
�	$
�A���
�.�
����

�� � ,�7 � ������ ��	
 �

$����� �� �� � �[ �� � �

��i�:)�����)��	�	2��)
� ,��/���+� �

T��/���+�� �<�*������(C����
�
���	������
������������()
�&
�	�	$� �

�, � ,�7 � ������
���1�
 � �
�

!�������*��&G�
�
	�1���

T��/���+��� <�%�&
�����
��N%Q�%G�1���
���������1�������1�� �

�+ � ,�7 � "����

$��1�
 �

T��/��� +��� <��4	�6�	���������3%*�
�
��
	��()
��
����	�
(�����4����	�� �

�� � ,�7 � +������/��1�
 �

$����� � &� � ���� � �

��i�:)�����)��	�	2��)
� ,��/���+� �

T��/���+�� �<�*������(C����
�
���	������
������������()
�&
�	�	$� �

�2 � , �7� �
�
������

$��1�
��

�
*��
�	�()
�
Q���(C��G�
#����	�)
�

T��/���+��� <�%�&
�����
��N%Q�%G�1���
���������1�������1�� �

�2 � ,�7 �

T��/���+��� <��4	�6�	���������3%*�
�
��
	��()
��
����	�
(�����4����	�� �

+� , �7� �
�



�

�

�
2��3����4�������������

0� �

T��/���+�& �<�Q���
�	��-���

	��

�
5��.
G���5������	
��
�	$
�A���
�.�
��� �

0� ,�7 � �2����

$��1�
 �

$����� � �� � � [�� � 	
�

#

��G��
��	��������(C���	
4
����	$��A�L
�V�7
.���2 �"�

�

����	2��)
����6
������
�

j�	��6
����	�0 k � 1�\�)
�
+����	�+���
��

75����� � 7��� � ��	�2 �

"��	
2�����
�
���� �
<�*��
���$�
()
�&���
���
���	����	�����
����
$
�$	��
�
�S�!	
�	��������������
������85	���.�
�
�
�����
�
����
$
�$	��
�
�
��&�

�	�)
�.������
��	�����

�' � � �7� �0����
���1�
 � �
	�1�� �

�2
9��)����
)�5	�� �
<�%�	�.���
����������	
��
��
��

���	��
�
����$���
��

�.������
����
$	��������	�
(��
S�!	
�	����������� �

0� � �7� ������ ��/��1�
 � �
	�1�� �

$����� � �� � [�� � � �
�

#

��G��
��	�����������C���	
4
����	$����2�"�

�
e�1�\�����2�)
�+����	�+���
��
�)5������)����
��8
�� ��-��0���6����
�2�=�)����

ET��/���+���D
��8
���
0O��	���
�j����6
����	�0kF�f�
�

������
	���
�
������	�����
�
	�	���
���
���
��� � ��
�
�
������ � ��
���� �

��� ��T��/���+� �-� �0���6���E� �	25>)��������	2��D
�^�!�	�>6
2F �  !" � ##�$�

� ���T��/���+ %��
	5�����
��)�+������)
�0��
������)�)O��	���+����	� �������
	�0�	
;5
����

 # � %�$�

� ���D
������
0O��	�%� ���.2
0���)
���0+����0
�����5����.2
0��
0���)���
��0���	�0+����0
���h�

 ! � #�$�

�� ��D
��8
� �)�� Cj�	��6
����	�0kG � &&� #�$�

'���
�� �  (( � )" �$�

�
�����
����=���*��&�����
$
�$��=�

��

�����2�"=��"� ��	$	������4
����	$�����	
4
����	$�� ���������
��	$	�����=��,��(C������4
���()
�4
��������
$
�$	�� �������
���
��=���	
�	���	���
���
����5	)
�
��
��
��
�.���������	/����<����	
��=�����2�"=����(C ���4
������&
���5��=���	���

�������
�������

��:��E
	����
�����
��!8�$	��H��4
���()
��������
$
 �$	��
�
�
��!8�$	������	
��6�����2�2=� +
2��
@5
�����\�)
���8
��
9�
�����	��	25>)���
�
9
	5��)�� ������� ��#
�����	
�������	/������'���	$	������
	
4
����	$��A4
����	$���HL
�V�7
.��������C������6�	 ���I��



�

�

�
2��3����4�������������

0� �

�
��
��������(C���	�.����
����������2�" ��+����	�+���0�����-��0��)���
9�
�����
���� ������
����
������6�)�)
����-��0���6���50�����2�)
��''�+
������ �+
�-�=
�)��50�����2�)
�&'��+
������ �
�������=� +����	�+���0����2��;��)
������50�����2�&'��+
����� �
�����	$	����������
$
�$	����.����
*��&=�
?���
�	
4��	
���
�����2�0��������	�	
�	()
�� �$�<����
�4���
���=�

��

�����2�0=����������
����	/��
� 
� �

5����
� ��� *��&� �� ��� D
�
����� �
� �*�& �O=� ��	$	������ ���� �B�� ���� ���$����
.���	�	.�()
��
�

[��������
��=�����)��+�+52�����
0������
�
&���� ���(���
�� 
� .��4	�� �
��4
���
�
�=� 

� �

� ��� �2 �"=� ���
�� ��� ���� ��� ���
()
� ��� ��5�	
����
�	��
�C��G�

��  ��@����4
���
�
���4��	$
�T�
��  ��@����4
���
�
����5�
�
�
����
T�
��  ��@�#
���
�
����5�
�
����7�1	�	��(C��T�
,�  ��@�#
���
�
����5�
�
���4�
()
������.�
7�����

�
e��
�-�2�)���-��0��)���
-
��6�����
;5�)�����
9��f�

�

��8
������ � ���0��)�� � D
9� �

�
�2�=�)�� � :-
��6�� � � � " �

#
���()
������
� � �, � �"' � �"2 � ' �

*�	$	��� ���	
4
����	$���
HL
�V�7
.�I�

�' � �00 � �0� � ' �

$���2� � �� � &'� � &<�� �� �

�
#

��G�*��&�<��
��	����8�
	�
�.���5�5	�
������(C��� ���>�
�	�
�����/��1�
�����2�"�

�
�

9����
�
����.
���
1���$���.������1������	����.����
 ����=�����	
�	���
��4
���
�
�A.���	�	.�
����
�)
��
�58
��
�4��	
	

=�
�������	������$�/��
�.�
$� ���.��$��B
�	���������7�����

�����
���
�	����
�
��
�������.���	�	.�
���=��.�
����^��)
��
�58
��
� ������	

��
�
��������� '�d�)���-��0��)���@5
�-�
@5
�����0�������6�)�)
��-� �0���6���
0�������)
�
0+
���0�
-5��8
�� 
0� :@5�+��� ��	���� )
� !��
�6
����� ��
	�	
�� � d� 
9
�	
0� -5��8
�� �
2�	����)��� 	�0�
��-?�	����
9
�	
�)��-5��8
��
0�	�
	�
��
�B��)����)
 �!�-?�	���)���
)
�+A.2�	��+��6�)��E!�DDF���d�

0�	2>��	���+��6�)���
��d�
0��5�����
���)�)
���	�0� �-��0O	��������+������
�
0+�
������
�
�
�
�
�



�

�

�
2��3����4�������������

0� �

�e��
�-�2�)���-��0��)�����
;5�)�����
���)�)
��@5
�� 
+�
�
���0�f�

�

�
#

��G�*��&�<��
��	����8�
	�
�.���5�5	�
������(C��� ���4
���()
�S�>�
�	�
�����/��1�
�����2�"�

�
�����	$���
����
�.��4	���
��4
���
�
����
���
��.��� 	�	.�
��������4�����
�������

������(C��=�F�
�����7�
(���
��

�����2�0=�����	
�	�� 
9
�	
�-5��8
��)
�)�	M�	���E&'dF�
0�
)5	�����
�!�-? �	���

�
)5	�����
�+
	��2� ���5�	
�
<����
����������.����
��5������4����B
�	�� H��^I�
��.�	���
5
����

������.���������4������.
����	
���
��=�
������.��� ���
��.��	

�	���
��0^������.����
���	$	�����
��
���8�
	�
��������$	(
��
�	����
��,^=��

4
����.
 ���
���

�������

�5�64	�
��1�	�
��.����
���
��
9�
�
� ��� �

�	����()
� 
� ��	
�� 
?���
� ��� 4
���
�
�� � 
�� 4�
(C��� 
�� 6���� ��� �
�B
�	�� �� ��
���������� 4�
(C��� ��� �N�=� .
��<��� �4	����� ���� �� ��	 
�	�� �
�� 4
���
�
�� 4�/��� .����� �
��
�5��.���
�
�����
��������5	)
���
��
����
�����
�.�� ���
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

����H�&!!=�*Q�=���!=�
�!9I
0�^

���
	���
'^

�&!!�
"^

-
�.	��	��
�^

%������
�^



�

�

�
2��3����4�������������

0, �

�
�

�e��
�-�2�)���-��0��)����+����	�+���
����
;5�)����� -5��8
��)
�
0+
���)���f�

�

�
#

��G�*��&�<��
��	����8�
	�
�.���5�5	�
������(C��� ���4
���()
�S�>�
�	�
�����/��1�
�����2�"�

�
��.
������4��	����������2�"=�7
�$���������
�
������ ����
�������	
4E
�	�������&!!=������	5�()
�
F�� �N�=� �� 4�����
������ ��� 

����� �(C��� 	
4
����	$�� =� 

�������
��� �
�� �� .���	�	.�()
� 

��
L
�V�7
.�� '��:���
����� =�����
$
�$	�
������
	�1��������#����	�)
��
�
%� .?1�	�
<��$
� ��� ��	$	����� 4
����	$�� �� 	
4
����	$� � ��� *��&�8� �

��	����
=� ����
�	����
��=� .
��
.���
����
��7�1	�	��(C�����.��	
��������.�
�������( C������4
���()
��

��
�����������	/�()
�
��
�.��4�	(
���
�
� ��� �
�.��B
�	��� 
�� 6���� ��� 	
���$�
 ()
� .���
��=� �������
�
<��� �� ������� ���
*$��	�()
������
�.��B
�	���

�����
$
�$	��
�
��
4�
 �	����=�&�6�	�������
��
����������&�=���6����
��� �����()
� .
�	�	$�=�	
��5��()
���
�
�	��� �� 
����� ���

���
�8� 	�.
���
��� ��4��	�=����� 

�?��	�
�
�

� ��4���
� �
� 	
�������� ��� �	$���	4	���� ��� �(C��� � ��4
���()
=� 
1�	$��
�� ��� ��	
�� 
?���
� ���
.�
4	��	

�	������
�	������.?1�	�
�.�	$�����H�&!!I= ����	���
�
�.���
������
������6�����.�
4	��	

�	�=�
	��
�8�����
)
���������4�
(C�������&�=������������1 ��7���
����	���������	�
(��=�	
��������������
4�����
��������(C�������
$
�$	����
��6������������( )
����	
4E
�	��������.	�������1	�	��()
=��
����
����=�4����	��������	�
(����
��
�����	��������.��	� 	�=��8�
	�
��������1	�	��()
���������
�����

�
��
�����H������
��.��	���c�������	
4�I

,0^

9���.�����
%��.��	

��

0^

&�	���
5
�
��^

9���.��������#���
��^

9!!
,^

�
4����	��
'^

 8�	��
�^

*�*�����
�^

#	�	
����.����
�^

&�	�
�
��	�	���
�^


�����
�^



�

�

�
2��3����4�������������

0' �

�
&
�� 4	�=� 	�.
���� ��4��	�� ���� 
)
� 4
���� �

�	�����
� � .���� �� ��������	/�()
� �
�� 4
���
�
�=� 
��
4
���
�
������4�����
��������4
���()
�
��:��E
	���� 
��!8�$	�=��

���
=�.
��<����4	���������
�
�
���� �
�� ��� 4
���
�
�� H�+� 
�� :��E
	�� �� �,� 
�� !8�$	 �I� ���� 4�����
������ ������ �(C��� �)
�
.�
4	��	

�	�����	
���$�
()
�.���
���
��	
4E
�	��

 �������&�������

�
�

[���7�����.5�����;
�;�O-�	��
�
%�E�1	�
�5�
5�64	�
��������()
��
���
��
����#
���() 
�*��&�8�
��	

��=�.
��
�
<�������
$
�$���
�(C��� ��� 4
���()
� ���&
���5��� �

�	
�
���� �� 
��� ��7 ��=� ���� ���18�� ���
�
� �
�	�	���
� �� 
�$���
	
���
��	

�����
�
*� ��	
�	�� ���� �(C��� ����	/����� ��� �2�"�4
���� ����	/ ����=� 
�� ��5	)
���
��
=���� �
	�1���H+I=����
9
������
$���H�I���
��Q������H�I=�����	/�
�
<����.� 
�������
����5	)
��
�*��
��>
������5��
5
��
��� 

����/�����
��1
��()
��
�������
	����������� � �7
���
�
�

���
=��������<���

��

�����2�"�������	/�()
���� ���(C������4
���()
��
��������()
��
����������
7
���=�
��6��������&�6�	�������
��
����������
���$� 
()
�&���
���
���
4E
�	��4
����
�&���=�����
��
:��E
	����
�����!8�$	��H����	
������2�2I��
��1�	5
� �
��

����
�����1����	�
��
����%.�
�!
�	��_�
#
�
���	

�=����"����>�
7
�����2�"��������
��1
��() 
�$	�
��4
��������5��.
����.�
4	��	

�	�����
	
���$�
()
�.���
��� ��� ����� ��� �������.�����=�.���� ���� �����.��.�	
�� ��>�����.�/������4
�����

���
��.�
4	��	

�	������>���.������
����

�����.�� ������������
�
�
5	�����	
���$�
()
�����
���

���&�6�	�������
��
����������
���$�
()
�&���
�����
����� �
��1
��()
� �
�� �� %!#� �� �

�����
����
��� �
�� � � :����#� ��� !8�$	�� ������� .���� 
�
���

7��	��
�
�������5������
�	������	
���
��	

�	� ��B���
1���
�.�.������*��&�
��6��������&�����
&
���5����
�
�����	$���
���F���5	)
����
5�64	����
��.���	�	.�
�� �=�$��	4	��<���.��
�5�64	�
��.����
���
��1�	�
=�
��������	
�	���
��4
���
�
������4�����
����������(C �������2�"��)
������5	)
���
��
=��
��

��6�	
�
�
�������

������

��

�����2�0������������	
�	���� ���
�	�
�
�������5	)
��
��������������
�
�
���6�	
����	5��
� �
�� ��� �(C�������	/����� �
1�����
� ���9
������
$��=��
	�1�����Q�����=��	������
���� 	
������ �� ��5	)
���
��
� �
�.�������.
���� ��4��	 ������ 

� �

� ��� �2�"=��.�
��� ��� ����	/
�� ���
�	��
����L
�V�7
.�G�!��c��
���$���H,�L
�V�7
.�I�
�� ��5	)
��
����H#����	�)
I=�
�����4�/��
���������
��5	������������	�	
�	()
��
�
�@����.���	�	.�
����� �������5	)
�
����(C�������
$
�$	�����
�

�
�
�
�
�
�



�

�

�
2��3����4�������������

0� �

�
�
�
�

e��
;����)
0�;�O-�	��)���+����	�+���
��f�
�

�
#

��G�*��&�<��
��	����8�
	�
�.���5�5	�
������(C��� ���4
���()
�S�>�
�	�
�����/��1�
�����2�"�

�
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

�
� �

�,^

��^

�^

�^

�^ +^

�^

��
��


�
���

N	�1
�

*��
��>


*�5��$�

3��5���
=�!8�$	�

W	�$=�:��E
	�



�

�

�
2��3����4�������������

0+�

�
�
�
�

*.�
$��
����*����1��	��Q����=����2����>�
7
�����2�2 ��

�

�

����
��)
��
�)�����
0.2
���N
��2�

�
H��Z�!���
��3����	/�!�5��
��
5��	��I�

�

 ���
��)
��
�)������
2������	�2�

�

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii�

H���D
�8�*
��
	
�!
���� ��7��
� ��	/I�

�

����
��)
��
�)��7��
����

�

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii�

H��Z� ��	��D
�8�3����	�� ���	��I�

�


